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FOREWORD

An exploratory experimental and theoretical investigation of gaseous nuclear
rocket technology is being conducted by the United Aircraft Research Laboratories
under Contract SNPC-70 with the joint AEC-NASA Space Nuclear Systems Office. The
Technical Supervisor of the Contract for NASA was Captain ¢. E, Franklin (USAF) for
the first portion of the contract performance period and was Dr. Karlheinz Thom
for the last portion of the contract performance period. Results dobbained during
the period September 16, 1970 and September 15, 1971 are described in the following
seven reports {including the present report) which comprise the required second
Interim Summary Technical Report under the Contract

1. Roman, W C, and J. F Jaminet Experimental TInvestigations to Simulate the
Thermal Environment and Fuel Region in Nuclear ILaght Bulb Reactors Usaing an
R-F Radiant Energy Source, United Aircraft Research Laboratories Report
K-910900~7, September 1971,

2. Klein, J. F Experiments to Simulate Heating of the Propellant in a Nuclear
Light Bulb Engaine Using Thermsl Radiation from a D~C Arc Radiant Energy Source,
United Aircraft Research Laboratories Report K-910900-8, September 1971,

3. Bauer, H. E. Inrtral Experiments to Investigate Condensation of Flowing
Metal-Vapor/Heated~Gas Mixtures in a Duct. United Aircraft Research Labora-
torres Report K-910900-9, September 1971.

4. Rodgers, R. J., T. S. Latham and H. B, Bauer Analybicael Studies of Nuclear
Iight Bulb Engine Radiant Heat Transfer and Performance Characteristics
United Aircraft Research Laboratories Report K-910900-10, September 1971,

5. Latham, T. S. and H. E. Bauer Analytical Design Studies of In-Reactor Tests
of a Wuclear Inght Bulb Unit Cell. TUnited Aircraft Research Laboratories
Report K-910900-11, September 1971.

6. Krascella, N, L. Spectral Absorpbtion Coefficients of Helium and Neon Buffer
Gases and Nitric Oxide-Oxygen Seed Gas Mixbture United Aircraft Research
Laboratories Report K-91090L-2, September 1971. (present report)

Y Palma, G. E. and R M GCagosz Effect of 1.5 Mev Electron Irradiation on the
Transmission of Optical Materials, United Aireraft Research Laboratories
Report K-990929-2, Septenmber 1971,
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Report K-91090k-2

Spectral Absorption Coefficients of Helium

and Neon Buffer Gases and Nitric

Oxaide-Oxygen Seed Gas Mixture

SUMMARY

A theoretical investigation was conducted to ascertain the spectral properties
of helium and neon as & function of pressure, temperature and wave number  The
spectral properties of these gases has a strong influence on radiative energy
transfer in the buffer gas region of nuclear light bulb rocket engines

A computer program was formulated and used to calculate spectral absorption
coefficients of helium and neon at total pressures of 50, 100, 250, 500, 750 and
1000 atm an the temperature interval between 1,000 and 30,000 K At each pressure

and temperature, spectral properties were calculated for 4T wave numbers in the
interval between 1000 em=l and 1,000,000 em~1,

In addation, previous estimates of spectral characteristics of & nitric oxide-
oxygen seed mixture were extended to temperatures below 10,650 R
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INTRODUCTION

Analytical and experimental investigations of various aspects of gaseous
nuclear rocket technology are currently being conducted by the Research Laboratories
of United Aircraft Corporation under Contract SNPC-TO admnistered by the joint
AEC-NASA Space Nuclear Systems Office  Of primary interest under this contract
1s the nuclear light bulb engine concept described in Ref 1 Im this concept, a
vortex-stabilized gaseous nuclear reactor emibs thermal radiation which is utilized
to heat a seeded hydrogen propellant  The nuclear fuel, which i1s suspended in a
neon or helium vortex, and the seeded propellant are physically separated by an
internally cooled transparent wall Knowledge of the spectral distribution of
thermal radiation emitted from the nuclear fuel region and subseguently i1ncident
upeon the transparent containment wall or reflective end wall is necessary in analyz-
ing the feasibility of the nuclear light bulb engine concept

Previous calecvlations performed at UARL were made to determine the spectral
distributicn of radiative energy emitted from the fuel-containment region of a
nuclear light bulb engine (Refs., 2 and 3) These calculations were made Tor
8 seeded and unseeded fuel region but did not take into account radiative transfer
gnd convection of energy in the rare gas (hellum and neon) buffer region which can
be seeded with a mixture of nmitric oXide and oxygen  Solution of this energy trans-
Ter problem requires knowledge of the spectral properties of the rare gas buffer and
the raxe gas buffer-seed mixbture In order to provide this information, a program
was formulated to determine the composition and spectral properties of helium and
neon as funetions of pressure, temperature and wave number, and to ascertain the
spectral properties of a nitric oxide-oxygen seed-gas mixture at temperatures
applicable to the buffer-gas region  These results were subsequently used in the
radiant heat transfer analysis of the fuel and buffer gas regions of the nuclear
laght bulb engine (Ref L)
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ANALYSIS OF RARE GAS ABSORPTTON

A machine program was devised to enable calculation of the composition and
spectral properties of helium and neon ag functions of pressure, temperature and
wave number  The calculational procedure used i1n the computer code 1s outlined
in succeeding sechions

Composition

Tonization Reactions

Because of the very high ionization potentials associated with helium and
neon, and the temperature range of interest in the present study, only two stages
of 1onization were considered  These ionization reactions are

A0 == A" ¢ e- (1)

AY == AY2 4+ e- (2)

where A represents either helium or neon  The i1onization potentials uged were

(Ref 5)
Reaction (1) He 24.581 ev (198,297 cm~t)
We: 21 559 ev (173,919 em-1)
Reaction (2) He 54 403 ev (438,874 cm~l)
Ne 41 07 ev (331,316 cul!)

Mathematical Relations

The basic mathematical relations used to compute the composition of helium or

neon in terms of neutral atoms, the first and second i1omization species and electrons
are

(a) Daltons' law of partial pressures-

3
Pt = Z! P+ Pe (3)
j:

where tre P's represent pressures in atm. The subscript 1 refers to the specafic
buffer gas being examined, 1 =1 < helium and » = 2 - neon The subscript g defines
a particular atomic or ionic species, J = 1 - neutral atoms, 3 = 2 - singly charged
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1ons, J =3 -~ doubly charged 1ons  Subscrapbs © and e refer respectively to total
guantities and electrons
(b) Equation of electrical neutrality
Pe=Pi2t2P, 3 (1)
(¢) Saha equations for i1onmization equilibrium

Pyt 2(27me)>/2 (kT)¥? Zi)+0
PI:] B h3 Z[,J (5)

LAY
X exp "[ kT ]E Vit

vhere 7 1s a partition function, I, the ionmization potential, and AT, the ioniza-
tion potential lowering

(d) Partition functions
*
n

Zy,) = Z 91,),n€xp ~ [E,”:n/kT] (6)
n=|

where

gi,5n =2dypn H (7)

The redqulsite guantum number J and level energies E were obtained from Ref. 6 The
dquantity n¥* i1s determined such that

n* == E,n < I AL (8)

Tt represents the last bound energy level in an atom or ron with a value equael to
or less than the reduced 1onization potential

Tt should be noted that BEq {6) was used to calculate partition functions for
He®, Ne® and Ne¥ For all other species in the temperature range of interest

21,1 = 91,3,0 (9)

where g0 8 the statistical weight of the grounéd state of the atom or 1on

(e) Ionmization potentiel loweraing
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In the presence of electric fields due to electrons and i1ons, the ionization
potential of an atomic or i1onic species is reduced with reference to the 1solated
specles according to the following relationship (Ref. 5)

AT = (z+1)edpp (10)
z={)-1) (11)

where Pp 18 the Debye length, & function of the electron and ion number densities
The quantity z 1s the electrical charge on +the species in duestion (z = 0, neutral
atoms, z = L, singly 1onized species, etec. ).

(£) Meximum bound hydrogenic level

The summation 1n Eq (6) 1s lamited such that the last level included 1n the
sum 18 given by

(g) Debye length

The Debye length essentially determines the distance over which electrons and
rons are effective in reducing the i1onization potential of a species and is deter-

mined by the following relation (Ref. 5).
[ 1/2

_ kT (13)
Po [477602 fNe+ T U=y}
h]

where the N's are number densities These quantities are related to corresponding
partial pressures by

N =734 x 102 £ (1k)

Tteration Procedure

Bauations (3), (4) and (5) can be solved to determine the electron pressure

P+ 24 Pe?+ ¢y (32— PrIPe — 29 293P =0 (15)
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Cnce Pe 1s known, the partial pressures of the other species can be determined by
means of the following relations

Py 3= ¥1,2Fe/D) (16)
Pi2= P D, (17)

Piy= P -(Pio+ PLa+ Pe) (18)
Di = Pe + 22 (19)

The Saha functions and partition functions depend on the electron pressure through
the Debye length, thus an iterative procedure must he employed to determine composi-
tion as a function of temperature Tnitially Egs (15) through (19) are used to
debermine the partial pressures of all species assuming pp = 0. These estamates

of the partial pressures of electrons and ions are used to estimate Py from Eq. (13).
With this estimated prp, & new determination of the composition is made The pro-
cedure 1s repeated until successive values of P agree to within a specified toler-
ance given by

{m}

Pd én1+n

-p < TOLL 10X 1073 (20)

Convergence 18 usually obtained after 4 or 5 attempts After convergence, a final
estimate of the partial pressures of all other species 1s made  Subsequently, all
pressure data are converted to number densities by means of Eg (14%) Both number
densities and partial pressures are printed as part of the computer output

Spectral Absorption Coefficients

In previcus studies of the spectral emission of radiant energy from the fuel
region (see Refs. 2 and 3), the need for seeding to block radiation of energy in
the ultraviclet spectral regrons was demonstrated. Because of the relatively
strong absorption of radiation by the seed mixtures in the bound-bound region of
the rare gas species, only continuum transitions were comsidered in the current
spectral absorption coeffaicient analysis for helium and neon Continuum transitions
inclvuded in the study were bound-free absorption of neutral atoms, free-free transi-
trons of neutral atoms and free-free transitions of positive 1oms

Helium, Bound-Free Transitions

The cross-sectron data of Ref 7T were used o0 estimate bound-free absorption from
helium in the ground state and the first four excited states. These cross-sections
are given by
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o (w) = 32840%107? , w 2198305 cm” (1)

In o 2f (w) = -66 322167 + [5 801706 —0 315732 Inw} Inw

(22)
w> 38455 cm!
o113 (@) = 45633 X 10%!'®  w 232033 cm™ (23)
_ {15390 ~
O'I,j,dbf(w)" ( weo T 3;”036—25 ) X 107% w= 29224 cm™! (ok)
71,5 = (4w332§6 + Ojsggos ) X107 w2 27176 cm | (25)

Each cross-section was multiplied by the appropriate level population density to
given the corresponding absorption coefficient

Ay, (w) 20110 (W) Ny (26)

The level population density, Nl, 1, n 1s gaiven by

N
Nin = 'J%gﬁfﬂ'GMD-(ELLn/Kﬂ (27)

where the total number density of neutral helium atoms, Nl 1 and the parbition
function, Zl 1 are obtained from the composition subroutlne

Weon, Bound-Free Transitions

A search of the current literature revealed that only bound-free transitions
from the ground state of the neubtral neon atom have been examined either theoreti-
cally or experimentally. The experimentally determnned cross-section results of
Ref 8 were used ko compute ground state absorption of the neutral neon atom
Absorption coefficients were calculated by means of the following eguations
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°2Jbe(“” = OéJﬂbfh“)NZJJ (e8)

The ground state population density, Ny 1, 1S given by
>

N2i92,i,
Z21

il

Noji = exp _(E2,1,n/kT) (29)

where the total number density of neutral neon satoms, N2 1 and the partition
functions, Z2 | are available from the composition subrottine.

Neutral Atom Bound-Free Transitions, Excited State Approximation

The contribution +to bound-free absorption from the ground states of helium
and neon as well as the first four excited states of helium were explicitly
calculated by means of Egs (26) and (28) Estimates of the contribution to
bound-free absorption from all other states in helium and neon were based on the
approximate treatment dirscussed in Refs. 9 and 10  The approximation is a modi-
fication of the quantum defect method originally proposed in Ref 11

The cross-section for transitions from higher excited states 1s gaven by

(Ref. 9)

T
*bfy 1y = s Ziytr O P¥_ Yo~ o 30
o (w)=659X10 7 —5— (e""=1)e (30)
where
pX =1438%/T, w<uwg (31)
10 =14389 wg/T , w> wg (32)

The quantlty'wg was set equal to the 1onization energy of the first excited state
1in neon and 5th excited state i1n helium  These values are

wg(helum) =1 50739 X 10%m™ (33)

wg{neon) =3 98879 X 10%m™ (34)

The reduced energy terms, ., are given by

Ko =14389 wy T (35)



K-910904-2

where @ o 18 the ionlzetion energy from the ground stete of the atom., These values
are

wolhelium) = 1 98305 X 10%cm™ (36)

wo{neon) =1 73932 x10%¢m™! (37)
The factor [ l( co) 1gs determined by means of the gquantum defect method of Ref 11
Values of €1( co) used in the program are shown in Fig. 1 for helium and neon and

were obtained from Refs 10 and 12  The absorpbion coefficient i1s given by

G[,]*bf(w) =O'|J*bf(w)Nl,| (38)

where Nl,l 15 the mumber of neutral atoms of helium or neon

Positive Tons, Free-Free Transitions

The free-free cross-section of electrons in the faelds of positave 1ons can
be written as (Ref 10)

oy flw) = G,K(w)'@"(p,yz) £ w) 1=2,3 (39)

The quantity O'JK(w) 1s the semi-classical absorption cross-section for free-free
transitions (Ref 10) and is given by

2 /2
e (ED () (22)° L e

The averaged Gaunt factor é(,w,yejls given in Ref 13 as a function of the dimehsion-
less parameters g and y< , where

po=t 4389w /T (41)

and
y2= 22hcRey /KT (42)

Values of _g;"(#,ye) as a function of & and 'yEare gaven in Table I A double inter-
polation scheme was used to interpolate in the two dimensional array shown in
Table I for g{p,ye) The values of { (w)were obtained from Fig 1

1
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Lbsorption coefficients for free~-free transitions were calculated from

Gh]ff(w) - al:Jff(W) NeNl,] A 2}3 (]‘]'3)

where the electron density, N and ion density, N, 1 were obtained from the com-
position subroutine

Free-Free Transitions, Neutral Atoms

The free-free transitions of electrons in the fields of neutral atoms of
helium or neon 1s given according to Ref 1L by

Ff, 4 512X10734 30 ., 3w’
i, {w) = 1372 [IIQU){DI-F FU)— Dalnw+ I 04} (uh’)
|
+’ DoTo (L) +w’ Dl %D 514l ,u)]
where
p =1 4389w/ T (45)
W’ =12395 X107% w (46)

The coefficients Dl through D. are listed in Table II for helium and neon  Values

of T;(u) through I(u) tabulated in Ref 1k as a function of the dimensionless quan-
t1by p were curve fit to equations of the form

In Ip(w) = A+B Inp (47)

Table TIT 1s a last of values of A and B used These equations were also used to
cbtain IP(uJ for values of =2 50 The absorption coefficient was calculated
from

oW = oy, flw) NeNy, (48)

where the electron density, Ne and the density of neutral helium or neon atoms
W, ,1 were obtained from the composition subroutines

Total Absorption Coefficient

The total absorption coefficient is given by

_haw
a,t (w) = {a.mnbf(w) +a %0 (w) +ayffw) + 0.,1”(@] [-e7 %] (a9)

Where[l-e_hcu/kT]ls the stimulated emission factor

10
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RESULTS OF CALCULATIONS FOR RARE GASES

Numerical results from the composition subroutine sre listed in Table IV fob
helium and in Table V for neon Tables IV and V indicate partial pressures in atms.
and number densities 1n cu™3 of the various species for total pressures of 50, 100,
250, 500, 750 and 1,000 atms at 16 temperatures in the interval between 1 0 x 103
and 3.0 x 10" X  Typical partial pressure distributions as a funcition of temperature

at representative pressures are graphically 1llustrated in Fig 2 for helium and
in Fig 3 for neon

Numerical results from The absorpbtion coeffacient subrontine are listed in
Table VI for helium and i1n Table VII for neon  The tabulated data are total
absorption coeffaicients in cm~L at 47 wave numbers in the interval between 1 O x 103
and 1 0 x 10° em-1 Spectral absorption coefficients are tabulated Tor the same
Pressures and temperatures as the composition results  Typrcal spechral absorption
coefficient distributions are plotted at several temperatures in Fig U for helium
and in Fig 5 for neon for a total pressure of T50 atm

11
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SPECTRAL ABSORPTION COEFFICIENTS OF NITRIC
OXTDE AND OXYGEN SEED GAS MIXTURE

Previous analysis of the spectral distribution of radiative energy emitted
from the seeded fuel region of a gaseous nuclear light bulb engine (Ref 3) re-
quired an estimate of the spectral properties of & mxbure of 5 atm of mtric
oxide and 5 atm of oxygen The absorption coefficient estimates for the seed gas
mixture were made for temperatures greater than approximately 10,650 R Current
radiative transfer studies related to the seeded buffer gas region require similar
estimates of seed gas absorption characteristics at temperatures between approxi-
mately 2000 R and 10,650 R To estimate the seed gas absorpbion coefficients,
extensive use was made of the spectral absorptron coefficient results for heated
air at various densities reported in Ref'. 15 Spectral cross-sections for mole-
cular oxygen, nitrogen and nibric oxide were estimated by dividing the tabulated
absorption coefficients (Ref 15) by the appropriate concentration of absorber
Air composition distributions at various temperatures were obtained from Ref 16
The following molecular band systems and continua were caleulated from these
data

(1) Molecular oxygen  Schumann-Runge band system and continuum

(2) Molecular nmitrogen first and second positive band systems and the
Birge-Hopfield No 1 band system

(3) Witric oxade Beta and Gamma band systems and the vabrational-rotational
bands

Addational cross-sections were dbEalned from the miscellaneous bands of nitric

oxide below a wavelength of 1000 A from the results reported in Ref 17 Saima-
larly, the results of Ref 1Y were used to estimate average cross-sections gor

molecular oxygen and nitrogen for wavelengths less than approximately 1000 A

Meonatomic species contributbions to absorption includes photo-detachment from
the negative oxXygen lon, free-free transitions of the positive 1ons of oxygen and
nitrogen as well as the bound-free transitions from atomic oxygen and nitrogen
Cross-gsection data for photo-detachment from the negative oXygen i1on were obtained
from Ref 15 A computer program was formulated to determine free-free cross-
sections for positive rons and bound-free crogss-sections due to the neutral species.

The regursile composition distraibution as & function of temperature for a
mixture of 5 atm each of nitric oxXide and oXygen was computed using the UARL

equilibrivm composition machine codes (Ref 18) Subsequently, absorption co-
efficients were calculated for the mixture in the usual mamner

Q= oyN (50)

12
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Composition results for the mitric oxide - oxXygen seed mixture for temperatures
up to 11,650 R are shown in Fig 6 Spectral absorption coefficient results are
1llustrated in Fig T for various temperatures

13
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LIST OF SYMBOLS

Absorption coefficirent, em~L

Constant, see Bq (47) and Table IIT
Constant, see Eg. (47) and Table IIX
Velocity of light, 2 9978 x 10%° cm/sec
Constant, see Eqg (b4h) and Table IT
Electron charge, 4 802 x 10710 esu
Energy of an atomic or 1onic level, cm'l
Statistical weight of a level

Averaged Gaunt Factor, see Table I
Planck constant, 6 6237 x 10-27 erg/sec
Tonization potential, ev or em™t
Ionizational potential lowsring, ev

See Eq. (kk) and Table IT

Quantum number

Boltzmann constent, 8 6163 x 1077 ev/deg K
Electron mass, 9.107 x ZI_O‘28 g

Wumber density, cm™3

Pressure, atm

Rydberg constant, 109,737 312 cm'l
Temperature, K

Charge number

Partition funection

16
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{ (w) Quantum defect function, see Eq (30) and Fag. 1

73 Dimensionless energy or wWave number
F)D Debye length, cm

o Cross-sectron, cm

W Saha function, em ™3

w Wave number, cm'l

Subscripts or superscripbs

bt bound~free transition

e refers to electrons

ik free-free transition

1 refers to a chemical species

J refers o an lonization species
* refers to an exXcited state

0 refers to ground state duantities
t refers to total quantities

Notation for Composition and Absorpbion Coefficient Tables

N(1 1) Number density of neutral atom, cm™3
N(1 2) Number density of singly ronized species, cm~3

N(1 3) Number density of doubly 1onized speciles, cm™3

P(1 1) Partial pressure of neutral atom, atm
P(1.2) Partial pressure of singly ionized species, atm

P(1 3) Partial pressure of doubly 1onized species, atm
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Table I
Averaged Gaunt Factors, B (M v2)
(Ref 13)

7 v2 =3 y2 = 10 v2 = 100 Y2 = 1000
2 1 5000 1 3800 1 2000 1 1000
3 1 4250 1 3250 1 1600 1.0900
b 1 3750 1 2850 1 1200 1 0700
.6 1 3200 1 2koo 1 1300 1 0600
8 1 2800 1 2300 1 1100 1.0550
10 1 2650 1 2000 1 1050 1 0500
12 1 2500 1 1925 1 1000 1 0480
1.k 1 2350 1 1825 1 0950 1 o470
16 1 2250 1 1770 1 0925 1 Oh50
18 1 2150 1 L1700 1 0900 1 Ohko
2.0 1 2075 1 1660 1 0860 1 ohos
24 1 1950 1 1600 1 0850 1 ohk13
28 1.1850 1 1550 1 0820 1 040O
32 1 1760 1 1500 1 0800 1 0390
36 1 1700 1 1h7s 1 0790 1.0380
42 1 1600 1 1450 1 0785 1 0370
50 1 1500 1 1400 1 0790 1 0365
58 1 1400 1.1375 1.0795 1 0375
62 1 1350 1 1350 1 0798 1 0380
T2 1 1250 1 13k0 1 0800 1 0390
82 1 1150 1 1325 1.0805 1.0395
9 2 1 1050 1 1300 1 0810 1 000
10 2 1 0950 1 1280 1 0815 1 0410
12 0 1 0780 1 1250 1 0840 1 ok20o
1.2 1 0600 1 1200 1 0855 1 0435
16 2 1 0450 1 1170 1 0870 1 okU50
18 0 1 0300 1 11k0 1 0885 1 oh60
20 6 1 0150 1 1075 1 0905 1 ok65
23 0 1 0000 1 1020 1 0910 -1 ObT5
25 4 0.9850 1 0975 1.0925 1 0k85
26 L 0 9800 1 0950 1 0936 1 0k90
28 0 0 9700 1 0900 1 ogho 1 0ko5
30 0 0 9600 1 0860 1 0950 1 0500

18
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Table IT

Values of D Constants

(Ref 1L4)
Helium Neon
Dy 1..32970 0 05760
Do 0 89047 0 36300
Dy 0 17738 0 01488
Dy, ~0 63232 0.24610
D5 - -0.19970
Teble ITI

Calculated Values of Constants 4 and B

P A B

1 1.3383 -2,0123
2 1.820h -2 5189
3 2.0789 -3.5236
4 3.1458 -3 5003

19
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TABLE 1
_COMPOSITION _DISTRIBUTIONS FOR __HELTUM
AT TOTAL PRESSURE = 50 ATM

v s

20

TEMP % ELLCTRONT “PTIy D) {1 2) PTI3)
(WEG K) x  PRLSSJRE TATM
K e o K AR K o Sk K oK K AR KA KKk T Ak o 3K A ogR oK o Sk ok ke 3 R K ok
1,000+05 * 0,000 5,000+74 0,000 0.000
2,000+03 * Uu,J00 5,060%2L 0,000 Gepon -~ T
4eUD0+03 * B,.422=-1% 5,000+7°L 3,422-14 0.000
bed00+03 % 2,931-08 5,000+0:  2,031-08 0,000
6.000+0% * 1%,110-05 5,000+404 1,110-05 1.004=~31
1.000+0% * B, J01=04 5, 000401 5.,201=0% 1.269-24
1.200+08 *  7,074=03  4,999+7L  7,075~u3 7.594=20
140040+ *  4,718=02 T,99i+01  &,7iR=02 2,115=-18"" ~~
1.0004 04 ¥  2,005%=01 4,90+0L 2,005=01 8,608~14
1.800408 * op,eol=01 4. R)5I01  p.266=01 §,651=17
_2ZaU00+Un % 1,063+00  4,6u67+0.  1,563+00  4,362-10
2e2DOtUd ¥ 3,270+08 LURREROL  3,271+0U 1,012-0R8 -
D.400+00 ¥ H,YI2+0N 3. 8.0400 L,902400 1.418=07
2e000+00 x 2,001+g0  3,to0+P G.FRIF00 T1.330-06"
Ces0UHFUG % L ,0LlT7vul 2,306+l 1,317+01 9,128-~06
SJU00+US *  L,073+ul  1,654401 1.673+01 4 ,RB3=fAsT 7
TEMP % ELECTROYT N(1,1) M(1e2) MUY,3) "7
(UG K) =« prHSITY cM
sk ok R Kok Ak R K e Rk R Kok R R KRR OB R kR Rk Rk
1000403 x 0,009 3.670+20 0,000 0,000
2.,000+03 % 0,000 1.835+30 0,000 g.nNno”" " " -
4,000403 %  1.,546+05 9,176+19 1.546+05 0,000
e 00403 % 2,485+10 6,117+19 2,485+10 0,000
8,000+03 x 1,018+13 4,588+19 1,018+413 9,216~14
1,000404 % 3,818+14 3,670+19 3,818+14 9,*17-07 ~
1,20N+04 %  4,328+15 3,058+19 4,328+1% 4,6u5-02
1.400404 % 2,474+1A 2,617+19 2.474+16 1,108+02 °
1.6004+04 %  9,100+16 2,276+19 9,199+1A 3F,948+04
1.800404 %  2,555+17 1,938+19 2,555+17 3,936+06
2,000+04 % 5,738+17 .720419 5,738+17 1.601408
2.,200+04 * 1,002+18 "1.450+19 1,002+1R 3,376+09 "
204[?04’04 k] 1.805+14 1.168+19 1.80:;‘"]” 40325""10
2.000404 *  D,640+18 &,837+18 2,640+1R  3,756+11°
2.300+04 * 3,453+16 6,203+18 3,453+18 2,%393+12
3.000404 % 4,003+14 4,008+18 4,093+1R8 1,1R7+13
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TABLE T
COMPOSTITIUN DISTRIBUTIONS FOR HELIUM
- __"-_~.Jle_J1IIALp_MEEM§S£HJRE;;:_4iul~AJ3ﬂ

resde % £.6CTaON m(1, ) Plls2) Plis3)
WEG K) ok PribSSUlE ATM
AR AHKACK ¥ KRR RN KRR R KA K KK kxR KK R KR K kR KRRk kR Rk
1.400+0% %= 4,040 1,040¢0. 5,000 6,000
2.0006+05 & 0,uu0 1.0ug+12 0,000 0,100
Gou00+0S & 1,191=1%  1,000+02 1,191=13 0,000
HePUOFUI = 2,372~u8  1,000+n2 2 A72=08 0,000
Hevw004+GY #  1,070~U% 1,.0ud+ 2 1,570=05 1.005-=%1
1400043 £ 7,060=ul  1,000+03 T, 38004 1,P272=24
1.20040% % 1,ud2=y2 9,993+71  1,002=02 7,643=20
1 40040% % 0,030=U2 9, 957+0]1  5,69%5=02 2,142~16
100040 % 2,553=01 9,943+0; 2,853~-u1 8,780-14
14300408 % »,954~u] 9, 2.1+71 13,9534-01 9,925-=12
2+sd00+04 x  2,.02+yN 9 5,040 2,252+00 4,525=10
2e200+Ut & 4, 770400 Q,04Tr0,  4.7T7H40U  1.050=08
2ed00+06% » o, 79000 §,09524ny A TY0H0U  1,493=N7
eeo00+0+ * L oa3brul  7,102+0]  1,434+U01 1,417=0f
2avldrU b %  JU1+J1 5 Ty74ny  D2,101401 9,804=D4
3200040 % 2, (93+J1 4 U340, 2,733401 S, 46=05
TEMP ¥* FELECTRO:I N{1,1) M{1,2) Me1,3)
(DFG K) +  DTNGITY cM~3
ek B ok o R R KR R K R R R R i ok ok R s o sk sk ok I o e sk i sbe i ook sfe sk i i sk sk ke o ool o ke sk ke ok
J.-DGD"'GB ¥ U.t]ﬂﬂ 7.3”’1""26 0.000 Oonnn
2«000404% ¥ 0,000 3,670+20 0,000 n.00n
4,000+403 * 2,1R6+405 1,835+20 2.1846+05 0,000
5. 000403 * 3,5143+10 1,223+20 3.514+10 0,000
8.000#03 % 1,480+13 9,176+19 1,440+13 9O,22P1-14
100004 % 5,403+1% 7,301+19 5,403+18 9,3unN=07
1200400 % H,130+15 6H6.116+10 6,130+15 H,.67A=02
1.400+04 = 3,511+16 5.,2%7+419 3.511+16 1.123+02
Le600+04 ¥ 1,349+417 4,542+19 1,309+17 4,.028+04
1800408 % 3,6%2+17 4,005+19 2,652+17 &,0U8406
24000+04 x  B,265+17 3,505+19 8,265+17 1,661+08
2,200+4N4 *  1.593+13 3,013+19 1.59%+18 3,534+09
2,4004+04 ¥ 2.6R9+13 2,521+419 2,680+18 4 BAT7+10
2,000+04 x  H4,089+1% 2,014+19 4,049+418 ¢ 4,001+11
2,00004 %« 5,50%+14 1,520+19 5,509+18 2,570+12
3,00N+04 x G.A3735+18 1,080419 6,835+198 1,7R4+13

al



http:r4!304.04

K910904-2

TABLE I

COMPOSITION DISTRIBUTIONS FOR HELIUM . __

AT TOTAL PRESSURE =250 ATM

TEmMP * LECTRON i 1) PTIv2) P{1,3)

(VEG K} % PRLSSURE  —— ATM —
s AR oK K Aok ok R K K sk o ok K R oK ok o oK oK ok R oK R b ok RO K Ok
1.000+G% % wu,ull 2.5JdU0+N2 1,090 0,000
ceJ00+U3 % U000 2%5uu+na 0,000 0,090
G4UD0+UD £  L,083-13 2,540+ 1,983~15 0,000
G2000+U3 ¥ 4,041=08 2,530+% 4,541-08 0,000
8,000403 ¢  2,432«ud 2,500+7% 2,432=05 1,0206=31
1,000#04% * 1,105=J% 2,5u0+% 1,165=03 1,278=24
1200404 % 1,58%=92 2,74 1,589=02 7,725=20
1.,400404 *  1,ubd=ul 2 8Buns+a2 1,064=01 2,186-16
1ew0Jd+u4 % 4,2032=d1 2 401+%. #,552=01 9,067=14
1.,000+0+ % L, 437+4] 2,471+ 1,437+00 1,039-11
ceUDBDHU * 5 MY FII 2,427+0Ne  F,548400 4,R04=-11
220040+ % T, u28+u D Z454n2 T7,828+00  1,141-09
Sed00+0L4 %k I,471+01 2,200+ 1,4714+01 1,631-N7
2000404 % 2,.409F31 2,005+ 2,429+401 1,570-05
2e300+0% ¥ O, 70HIL  1,743+% 3,7e0+01 1,101=0%
SeuB0+U'T & D,2UB+)1 1, 801+0Ng  B,24%+0L  5,939-05

TEMP * ELECT%D M1 1) M{1.2) Mr1,3)

(DES K) x* DENSGTTY CM™
3w b 9 ok o R o ok ok 4 Kok e sk ok K e R i i sk o ok ok Nk 3 ol i 3K ok ke o e ke o i ok o
1.,000+03 «  N,000 1.83%+21 0,000 0,000
2.000+03 * 9,009 g,1764+20 0,000 g.n0n
4,4004035 «  3,.45640% 4,528+420 3,4956+05 0,000
5.000+03 %  5,58A6+10 3,059+420 5.556+100 0,000
B.00N+03 *  2,2783+13 2,274+20 2,2783+1% 9,23N=18
1,00n404 % 3,5R1+14 1,8%5+20 A,5%1+1iv 9,379=07
1.20N+404 % 9,719+15 1,529+20 9,719+18 4,725~02
L.400+04 x 5,580+16 1,310+20 5,580+16 1,146+02
1.000+04 * 2,0R88+17 1,183+20 2.,083+17 4,1A0404
1.3004+04 % 5,853+17 1,AN8+420 5,A59+17 4,237+06
2.000+04 * 1,338+18 8,9n19+19 1,338+18 1,763+08
2.200404 % 2,612+18 7.,820+19 2,612+1i8 3,R06+409
2,400404 %  4,498418 6,787+19 4,498+418 4,990410
2,500+04 x  H,IT2+13  [,6A4+19 H£,972+1R 4,4%34411
2.800+404 % 9,857+18 4,5%3+19 9,857+18 2,886+12
3,0004N4 % 1,283+19 3,551+19 1,283+19 1,458+13
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AT TOTAL PRESSURE = 500 ATM
TEMP % ELECTRONTPILD) PTLvE7 PTI¢3)
__ {UEG K} * PRESSURE ATM
A 03 e kK e K et ok R A K sk ol o N ok e o ol s o o ok R ol ook 6 o o sk K kok Kok
1.000403 *  g,uud 5.,000+0. 0,000 0,000
2,000403 * 0,000 ~5,000+02 0,000 0,N00
4+UUOHUS * 2,063=13 5,000402 2,663=13 0,000
EoU00+U2 * b,422~08 5,000+ &,422-08" 0,000
50000+U3 * 59511-05 5n0U0+n¢ 3.511-05 1.007=31
T1,u00+08 ¥ 7 1,049=03 7 B,000+°2 1,p49-03 1,282~24
1,200+0% * 2,2592=02 5,000+"2 2,252=0e 7.801-20
1.400404 % 1,512-01 4,997+0¢ 1,512-01 2,227-16
1,600+04% * ©,489=01 4,957+0c 6,489-01 G,343=14
1.,30040% * 2,Ub7+00 4,939+0, 2,057+00 1,084-11
2,900+0% * 5,248+00 4,895+02 5,248400  5,081-10
c 200404 % 1,137+01 4,773%7. 1,137+01 1,223-018
24400+04 % 2,101+401 4,508+0: 2,161+401 1,772-07
2e000+Ut *  3,0L39401 §,202+0, 3,639+01 1,728=-N6
246800404 *  H,738+31 3,852+0; 5,738+01 1.,225=-15
34000+04 * o,c17+U01  3,307+%2 P,Z217+01 A,711=0%
TEMP % FLECTROYM  N{1,I) M(1,2) MET1,3)
(DEG K) *  DEMSTTY —=— cM™2 -
6 3% O o ok A ok 3 K K OR A sk e e ok o e e gk ek ko ook e kRO ok SRk ok s e skokok Seokolok 0k Kook
1.00N403 x 7,000 3.,670421 0,000 g.nnn
2.000+03 % 0,000 1.875+21 0,000 0,000
4.000403 * 4,8R&+05 I,176+20 4 ,BRR+D5 0O,Nn0
6.000403 * 7,858+10 6,117+20 7.858+10 0,000
B.000403 % 3,222+13 4,5R8+20 3,222+13 9,23R«1i4
1.000+404 ¥ 1,210+15 3,670+20 1,210+1% G, 415=-D7
1,200404 * 1,378+16 3,058420 1.378+16 4,772-02
L.400404 * 7,9%0+16 2,6P0+20 7.930+16 1,168402
1.600404 ¥ 2,977+17 2,288+420 2,977+17 4,287+04
1.300+404 % 8,3R5417 2,0022+20 8,389+17 4,422406
2,000404 % 1,925+418 1,797+20 1,926+1” 1,RAR+08
2.20N404 ¥ 3,793+18 1,533+20 3,793+18 4,0A0+09
2.400404 %« H.609+418 1,307+20 6,609+1R 5,421410
24600404 *  1,042+19 1,203+420 1,042+19 4,.8R0+11
2,800404 « 1.5043+419 1,010+20 1,508+10 3,2154+412
3.000404 % 2,011+419 B8,214%+19 2,011+10 1,A42+13

TABLE IoC
COMPOSITION.. DISTRIBUTIONS _FOR _HELIUM
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2k

. TABLE TU
COMPOSITION [DISTRIBUTIONS FOR HELIUM
AT TOTAL PRESSURE = 750 ATM

TEMP % ELECTRON  p{isD) TiIy2)y  TPTLID

(WES k) * PPeSSunE e——  ATM
TR o oK A e KRR KK KR KK oK 6 0ok A oK ok ok o kK o K o ok o oK R K Ak
1s000+03 *x 0,000 7.5u04N2 0.000 0,000
2«0004U3 x 0,000 7.500+02 0,000 0,000 T
4oU00+G3 *  J,z02=-13 7_.500+02 3,262~15 0,000
6000403 *  7,306=38 7,300+nz 7,.366-08 0,000 T
84000403 *  4,301-05 7,500+72 4§,301=05 1,007=3+
1.000+4u4 *  ,021=-03 T ,500%02° 2,021-03 1,286=-204
1.200+0% & &,/03-d2 7,499402 2,763=02 7.852~20
1.400+u% %  1,038-01 7,49847¢ 1,85R=01 2,255=168
1s000+0% x  7,930~01 7,4c4402 7.990~-01 9,534=-14
1,800+0% x  2,539+90  7,4472+02 2,5394G0 1.116-11
2.000+40% * o,0U01+00 7,3/0+7°2 /,501+4+00 5,278=10
ce200+UN x  L,4l84+9l  7,2:07+472 1,4106+01 1,282-08"7 77
2.400+UH ¥ 2,705+01  5,953+40=z 2,795+01 1,875-07
2.,000+0% *  4,.099+Jd1  6,S0.+0. 4,6685+01 1,944=%
Se300F04 ¥ 7,515%+ul  0,037+#%2  7.315+01 1.319-95
300040 & 1,ud3+u2  5,374#02  1,003#02  7,279-95

TEMP * ELECTRON  N{1.,1) N(1,2) M(1,3)

(06 &) *  DENSTTY cmTd - i
ok XK E R KR R kR K ok ek okl ok K e sk R sk e ok R ok s o e o ok ok e ol ke e sl ol ke sk
1.00N+N3% * 0,000 5.506+21 0,000 np,nnn
2.000+03 x  0,0N0 2,753+21 0,000 0,0NN0 }
4,000403 * 5,987+05 1,376+21 5,987+0% 0,000
B,000403 & 9,624+13 9,176+20 9,624+10 0,000
3,000+4035 % 3,947+13 ©,8%2+20 3,947+13 9,°Pu%=1l
1.00N404 %  1,483+1% S5,5N6+20 1,483+1% Q,039«07
1.,200+04 %  1,677+1% 4,5°8420 1,690+16 #,AN3~=02
1.400404 « 9,743+16 3,931+420 9,743+1f 1,1R83+402
1.600404 %  3,666+17 3,434420 3,666+17 4,374+404
1.800+04 % 1,036+13 3,0%8+420 1.036+18 4,8551+06
2.000+04 x  2,336+18 2,775+420 2,386+18 1,937+08
2.,200+04 * 4,719+18 2,408420 4,710+1R 4,277+09
Se4N0+08% % 8,274+4313 2,129420 8,274+18 5,735+10
2+500+404 %  1,314+12 1,855+20 1.314+19 5,2n07+11
2,800404 ¥ 1.913+17  1,.5#3+420 1,918+19 3,459412
5,000404 x 2,601+19 1,315+20 2,601+10 1,781+13
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TABLE IV

COMPOSITION DISTRIBUTIONS FOR HELIUM
AT TOTAL PRESSURE = 1000 ATM

25

~ TlEMP ¥ ELECTROM-  pU131y— PUIZ2y ™ —PUITH
(JEG K) % PRLSSURE ATM -

T AARER A AR AR A KR F KK KA A K Ao o Ko o KA KoK o o R R KK oK
1.400+03 x 4,000 1,000+00 2,000 0,000
2,000+03 % 0,y00 1,0u0+83 "g,000 ™ B,000 — 7
4.000+0% % 3,767~13 1,030+9s 3.767-13 0,000
bed00+U% %  9,uB3=08 1,0u0+n3 "9,083=08 "0.,900 T~
Beul0+03 *  4,967=05% 1,000+ 4,967=05 1,008=31

T OT1.000#08 %« 203503 71 0UUFAS 2, 335-03  1,288=24
1.200+0% % 3,195-02 9,99%3+0g 3,195=02 7.,892=20
1400404 % 2,151=01 9,996+02 2,151-01 2,277~10% -
1.000+04 % Q,263=01 9,%1+02 9,263-01 9,635=14
1300404 *  2,950+U0 9,941+0¢ 2,950+00 f(,1B1-11"

e 00+08 *x  7,5714U0 9 .Pug412 7.5714+00 S.436=10

TTEV2004UR * 1,052+017 90670402 1650401 1. 330=08
o #00+04 *  J3,173+01  9,30h472  3,173401  1,9%9=07
2e000+04 *x  5,438%+ul 8,%2+%: 5,4d49+01 1,941~06
20300404 *  L,082+d1  B,204+7. P 682+01 1,397~05
SeU00+08 kL, TUYU2 T 403402 1,276+02 T.756=N5

TEMP % ELECTRON  N{1,1) M{1,2) N(L,3) -

(DE® K) «  DENSTITY cM=3
Ak o oK KR ok kR KR R ok ok Aok K ok ok Mokl Kk R ok R ROk KRR
1.,0790403% %« 0,000 7.341+21 0,000 0.000
2.000+03 % 0,000 3.670+21 0,000 0,010 T
4,000+23 * A,913405 1,835+21 6,9134¢05 0,000
be00403 x  1,111411 1,2P73+21 1,111+11 0,000
8,000403 « 4,5%8+13 9,176+20 4,558+1% 9,2u7=14

T 1,000+404 ¥ 1, 714¥15 7,.381%20 T1,714¥15% 9. uSY=07 7

1200404 %  1,954+16 6,117+20 1,954+1fF 4 ,R28=02
1.400408 % 1,128+17 &S.281+20 1.)128417 1,194402 -
1000404 %  4,250+17 4,5°0+20 4,250+17 G.ub44048
1+800404 % 1,203+18 4,054+420 1.203+18 4,R%5+06 v
2, 000404 % 2,779+18 3,615+20 2,779+18 1.995408
2.200404 %  S,513+13 3,227420 5,513+1if 4,038406 7
2,40N4+04 % O,706+18 2,8A5+20 9,706+1" B5,.093+10
2,000404 & 1,550+19 2,514+20 1,550+10 S5,479411.
2,80N+06 x  2,276+19 2,1A7+20 2,27A+19 3,.683+12 -
3,000404 % 3,116+19 1,874420 3,116+10 1,R98+13
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TABLE
COMPOSITION DISTRIBUTIONS. FOR NEON.. __ -

AT TOTAL PRESSURE = 50 ATM
TEMP *  ELLCTROM P{iel) PELvEr—  PLEVD)
WEG K) % PKLSSURE ATM
b i R R E L SR L R L L TR P It a e e e oot iy
LoU00+03 % U,UUO 5.0d0+nl 0.060 0,000
£.U08+02 % 9,000 5,000+ 09,0000 ° 0,000
44U00+03 %  1,.20~41 5,0008+71 1,120=11 0.000
B5,000+U5 * ©,351=3d7 5,000+r1 6,351-07 7,116=37
8,000403 =  1,0d6=04 5,0u0+0)1 1,686-04 3,784=23
Le000+04 = B,.85=-03 Y 0JGiqITTS IS Y, 85018
1,200+06 % b.e/6-02 4,969+ny §,276-p2 2,899-it
1,400+04% x  2,077=01 4,9424+0; 2,877-01 1,151=11
1.0Jd0+04% *  1,043+ul 4 7yj4n)  1,043400 1,096=0C
1eo00D+04 #*  2,u25+00 4,455+r1 2,825+00 3,077«048
2.000+06 *  6,U49+00  3,79040n1  6,049+400 7 ,237-07
£+200+04 % L, y55+01  2,830+0s7 1,055%+0T 7,845-06
€oHD0F0R £ L, 005401 1,950k0)  1,5354U1  §5,699-05
2.000+U % §,923+01  1,3¥08+r1 1,923401 %,030-04
yol0+0% x  2,4/24U1  5,5L9+nU  2,172401 1,266=03
S4d00+0H * 2, 511401 3,778+ () P2,310401 4W,388~N7
TEMP x FLECTPOIL N(1,1) M{1,2) MEY,3)
(VES F) = DEMNSITY  ————m—— cM™3
3 o A A A oK sk R R e sk sk ok K o sk ok ok ok K e st sk ok ok 3k 3 sk sk sk R skl sk ke she e sk ol sk ke ke
1000403 = 0,000 J.670+20 0,000 g.0an
2.00N0+03 * 0,000 1.83%+20 0,000 g.nno
4.000+03 %  2,U084407 9,176+19 2,056+N7 0,00N
weN0N+NI *  7,771+11 H£,117+19 7,771+11 B8,7N6=-14
Heuf0+03 % 1,L87+184 4 ,5R88+19 1,547+14 3,472~05
L.000+08 % 3,777+15  3,670+19 3,777+1% 5,549+400
1«200+04 ¢« 3A,2048+16 3,052419 3,.228+16 1.773+94
L1.400+04 »  1,503+17 2,592+19 {,509+17 6.035+06
1,6MN+04 « 4,787+17 2,17°8+19 4 _787+17 5,N2R+0R
1.,800+04 x  1,152+418 1,809+19 1,152418 1.R7?2+10
2.00N+04 % 2,2204186 1.,371+19 2,220+418 2.A%46+11
2,200+04 % 3,5214134 9,643+18 3,.521+418 2Z,.RIR+12
2,400400 * I ,6054+18 5,902+418 4 ,694+1R 1,7U%+13
S H60N4004 . K, HB29+173 3,259+18 H,429+17 BR,558+13
. B00+04 x  [BE95+1I3  1.720+18  5,694+18  3,319+14
2.0N0404 ¥ H,688418 Q,205+17 5,60L+12  1,NT74415

26




K910904~2

TABLE
COMPOSITION  DISTRIBUTIQNS.  FOR NEON
AT TOTAL PRESSURE = 100 ATM
TEMP *  ELECTRON Pl “0(1.,2) P13y -
(DEG K} * PRESSURE ATM
BT R 20 2 E 3 PRI TN 2 2 F P PR 5o S SRt prapprgngrae gy g gegegy

L.000+03 * 0,000 1.000+n£ 03000 0,000
2,000+05 = y,yl0 1,100+02 0,000 -~ 0,000
4.000+0>5 % L.,o8%=11 1,000402 1,585~11 N.000
£.J00+02 *  §&,383~07 1,0004"2 4q,983=07 7.,113=32
0.000+405 * 2,386=d4 1,000+0c 2,386=04 %,792=23
1,u00+0% % 7,291=y3 9, 0839401 7,29T=0F “7,620-18
1,200+U% *  7,498=42 9,9,5%40)1 7.498=«32 2,951=14
1,400+04% %  4,107=01 9,9i5+9; 4,107=01 1,188=11
14000+04 % 1,002+00 9,7u0+171 1,5024+00 1,148=09
14d00+08 % 4, 127+60 9 17540, n,127+00 4,238~0R
2.J00+04 * I U71+J90 8,Job+N1 S.071+00 7.847=07
2200408 * ] o49+d1 6,70347; 1,.A4940T 8,657~16
2.,400+0% * 2, ,030+01 4,930+03 2,530+01 6,383=05
2,000+04 *  oH,562+01 3,270+01 3,362+01 2,425~00
223800+04 ¥ B,98h+01 2,0256+71 3,.986+01 1,43%=-N%
3.,000404% * 4,586+u1  1,20.5+71 04,385+01 4,940~03

1EMP * FELECTPOM M1, 1) M{1,2) M(1,3)

(DEG ¥) x*  DENSITY cH=3
3 ke e e e e e A o o s i de e s e ok ke sk ook ok K e ok o s ofe ok o e 3K e ek ik ke e ke ko Bk e ek T
1.000493 % 0,000 7.341+20 0,000 0.00n0
2.000403 * 0,000 3,670+20 0,000 0.0Nn
4,000403 x  2,909+07 1,83%5+20 2,908+407 0,010
e 00N+07 % 1,009+12 §,2723+20 1.099+12 8,708=14
3. 000+03 *  2.,190+414 9,176+419 2,190+14 3,480=05
L.00D0H0N % S5,.,353+15  7,300419 S5,353+1%  5,.594%00
1.200404 % L,5R87+1p 6,108+19 H,587+16 1,R0N5+04
L.LGN+04L % 2,158+17 S5,200+19 2.154+17 B.7227+06
LeBON+04 *  6,091+417 4,450+19 6.891+17 5,269+08
1.800+04 = 1,693+413 3,742+19 1,68%+1R 1,72R+10
2.0004+N4 % 3I,329+1R 3,0N5+19 3,320+1R 2,.8A0+11
S.2004+04 % 5.501+418 2,227+1¢ 5,501+18 2,RA9F12
24400+04 % T,740+18  1,511+19 7,740+18 1,9%2+13
2.600404 * g.n02+13 9,2%0+18 Q9 490+18 9,A71+13
2:.800404 4 1,045+19 5,317+18 1.045+19 3 ,.75A+14
3.000404 % 1.073+19 3.0NA+18 t1.073+19 1,2NG+15%
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TABLE
COMPOSITION DISTRIBUTIONS FEOR. NEON _..
AT TOTAL PRESSURE =250 ATM

TEMp * ELCCTRON Bli,1y = P{i72) ~P{is3) "
{JEG K} * PRESSURE ATM -
PRI TIATI ST PR LE L S Y L FIRIE st Pearr T T FI0FT T FE TS £ E 5T T
1,000+03 x (0,000 2.,540+02 0,000 0.n00
2,000+03 * (0,000 2,500+02 0,000 0.000
4oU00+03 * 2,005=11 2,5d0+n2 2,505«11 0,000
H.U00+03 * 1,420=06 2,500+02 1,420=-06 7.120-~32
Be000+03 * J3,776=04 2,500+02 3,776=~04 3,806=23
1.000404 * 1,157=02 2,500+72° 1,157<02 "7,720=18
14200404 %  1,195=J1 2,438402 1,195-01 3,039-14
1.40040% * 6,587-01 2,487+n2 ~6,587=01 1,250~11
1,000+04 * 2,434+J0 2, 4251402 2,434+00 1,240-09
1800404 * ©,801+00 2,.364+02 ®,801+00 H4,704=0R
2.000+04 % 1,335+91 2193492 1,535+01 8,962=07
2¢200+40% x  2,907+01 1,0919%07 2,907+0I "1,017-n5"" 7 77
2.400+40% %  4,717+01  1,957+n2 4,717401 7,697=05
ceB0+0+ *  p,87+U1  1,103+72 6,687T+01 4,211=-04
2.80040% % 8,453+J1 3,094+ B,453401 1,777~03
3.000+0% *  9,798+01 S, 4uf4ni 9.,797+01 HL,117-07

TEMP * ELECTRON Nil,1) M{1,2) M{1,3) -

(OE5 Ky x  JENMSTTY cr~3 -
3 3 ok o o ok ke ok ok Sh ok ok K o e ok ok ok e e ok ok Kk RO e o ok ok ke e ok ok R sk e ke ok ok Kol e ok
1+000+03 % (0,000 1.835+21 0,000 0,000
2.00N0+03 x 0,000 9,176+20 0,000 0.000
440020+03 x  4,598+07 4 ,5R8+20 4,598+07 0,000
6.000403 *x 1,738+12 3,0R9+20 1,738+12 8,712=14
8.000+03 * 3,465+14 2,294+20 3, 46R+14 3,493=05
1.000+404 %« 8£,491+15 1,835+20 8,491+1% 5,6K”7+00 -
1200404 *  7,307+16 1.528+20 7,307+16 1,R59+04
1.400404 *  3,454+417 1,374420 3,454+17 6,553+08
1.000+04 *x 1.117+18 1.,175+20 1,117+18 5,AB9+08
1800404 x  2,773+18 9,641+19 2,773+1R  1.918+10
2000404 x 5,634418 13,050+19 5,634+18 3,29n+11
2.,200404 x 9,700+18B 6,4N2+19 9,70N+18 3F,395+12 - "
2,400404 x 1 ,44834+19 4,761419 1.443+19 2,354+13
2,0004N8 x  1,8%8+19 3.282+19 1,88R+19 1,189+14
2.3004084 * 2,.215+19 2,122419 2.216+19 4,660+14
3.,000+04 %« 2,398+19 1,372+19 2,397+10 1,497+15
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TABLE T
COMPOSITION __DISTRIBUTIONS FOR. NEON ..
AT TOTAL PRESSURE = 500 ATM

TEMP % ELECTRON  p{i,iy— -ptiv2r— P33y ——

{JEG K) % PRESSURE ATM
2 PP FE N Ty R Y Y Y T L R S s T TSI Y
1.,000+03 * 0,000 5,000402 9,000 0,000
2,000403 % 0,000 5.,000+02 0,000 0,000
4,000403 * J3,543~11 5,000+0¢ 3,543-11 0,000
6.,U00+03 *  2,009=dh 5,000+nz 2.009-06 7,123=32
£eUG0+US * D, 045=04 5,000+02 5,345~04 3,819-23
1.000+0% % 1,p41=02 5,000¢92 7 1641502 7,813~18"
1,200404 % 1,701=01 4,997+0, 1,701-01 3,123-14
1,400+04% * 9 ,435=-01 4,91+ 9,435~01 1,311-11
1.000+08 % 5,514+00 5,900+404 3,514+400 1,333-00
1.,8004014 x  9,933+00 4,831+n2 ©,933+400 5,191-083
2,000+0% * 2,c30801  4,5%4+92 2,280+401 1,016=N6
2,200+04 % 4 ,425+01 4,1.5+02 4,425+01 1,185=0%
2y400+04 % 7,436+01  2,51340¢ 7,436+0L 9,203-n%
2.000+04 * 1 u98+U2 2,805+02 1,N98+402 &,141=04
£4000+04 % 1,40504u2 2,101+ 1,450+02 2.,199=03
3,U00404 & 1,751402 1,49940. 1,7530+02 7.601-03

TEYP x ELECTROM  N(1,1} M(1s2) M({1,3)

(U565 K) % DENSTTY cM—3
S kst ok ok ¢ s o AR KR o ok e o R o o i ok ok Kok oK ok sk ke sk ok ok kool ok kol ok sk ok ke ke
1.009403 * 0,000 3,670+21 0,000 0,000
2,000+403 x 0,0N0 1.8%35+21 0,000 0,N00
4.,000+03 x  6,502+07 9,176+2¢ 6,502+07 0,000
0, 007+03 x 2,45R+12 6,117+20 2,458+12 B,715-14
8,00N+03 * 4,905+14 4,5%8+20 4,905+18 3,505=05
1,0004+04 %  1,204+416 3.670420 1,2040+41R8 5,7%6+00
1.,200404 % 1,081+17 3,057+20 1,041+17 1,919+04
1.5600404 *  4,947+17 2,612+420 4,947+17 6.A74+06
1.600+04 « 1,612+18 2,262+20 1.612+#1R 6,114+08
1.800+04 * 4,051+19 1,958+20 4,051+1” 2,117+10
2.,000406 % A,370+18 1.6A8+420 8,370+1R 3,731+11
2,200+04 % 1,476+19 1,373+20 1.,476+10 3,955+12
2.,400404 % 2.,2744+19 1,075+20 2,274+1° 2,B15+13
F.ofiN404 «  3,099+19 7,919+19 3,099+1c 1,452+14
2,800+04 *  3,801+19 5,507+19 3,801+19 5,7A6+14
3,000+004 & 4,284+410 3,668+19 4,283+19 ]1,R60+15
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TEMP % ELLCTRUN (. ]) P(L1r2) P13

WJEG K} ¥ PRLSSURE ————— ATM ——
s o o o o oK ok ok R R o kR R e RO o o R R R o K ok e e sk kokok o ko
1.900+4035 % U,uLU0 7.,500+02 1,000 0,000
2.000+03 % J,J00 7,5d04+02 0,000 0,000
$9000+03 *  4,039~11  7,500+0c  4,339-11 0,000
s V00+03 %  2,461-06 7,500+02 2,461=06 7,125-32
£.U00+03 % 5,550=08  7,540+1« 6,500-yd  I,828~23
1,000+04 * 2,318=52 7.,500+02 2,014-72 7,377-183
14200404 x  2,u93=u1  7,49u+72 2,093-01 3,181~14
1+%00+00 &£ 1,,05+00 7,47/7+02 1.165+00 1,354-11
1,000+0% % 4,362+00 7,415+  4,362+00 1,400-07
f1evlb4U+ ¥ Ll,efl+ul  7,200+40: 1,241+401 5,55H2=0R
caDU+0E * 2, 6T7Hul  ©,.9eB#n2 2,077401 1,108-06
2.c0040% % 0,697+01  6,309+0F  5,657+G1  1,317-05
2e00+04 *  J,0b8+d1  3,50G+Pc  9,654+01  1,040-00
ce000+D * L, 4B558+402  4.539L40a  1,454402 K,896~-00
ceoU0+u bt *  L,uudtul  3,5/040n¢ 1,963+08 Z2.549-073
3,000+U" ¥ 2,425+02 2,6050+0. 2,425+02 B,A855-03

| ErMp + FELECTRON  N(1,1) M(1,2} M(1,3)

(OFfA Ky *  DENSTTY cM—3
*t**t#*******’k**********#******************#*********
1000493 ¥ 0,000 5.506+21 0,000 0.000
2,0004+93 % 0,000 2,753+21 0,000 0,0n0
4, 000+03 % 7,944407 1,376+21 7,964+07 0,000
0. 0N0403 % 3,011+12 9,176+420 3,011+412 8,717~14
3,000+03 & 6.010+14 6,8R82+20 6,010+18 3,513~05
1.000404 * 1,473+16 5,505+420 1,47R+16 5,7R2+00
1,200404 % 1,280+17 4,586+20 1,.280+17 1,946+04
1.40M4+04 * 6,111+17 3,926+20 6,111+17 7.100+406
1.600404 %  2,002+18 3,4n1+20 2,007+17 6,421+08
1.800404 *  5,06%+18 2,957+20 5,063+1R 2,260+10
2.00N404 x  1,056+19 2,542+20 1,056+1° g, Na7+11}
2,200404 % 1,6RR+19 2,125+20 1,888+17 4,395+12
2.400+04 %  2,953+19 1,703+20 2,953+1° 3,1R2413
2,600+08 x  4,104+19 1,297+20 4.104+19 1,665+14%
2.600404 x  5,(46+19 9,371+19 5,146+1° 6,6R2+104
3,000404 % 5,934419 6,484+19 5,934+19 2,1A7+15

. COMPQSITION

TABLE 0L

DISTRIBUTTIONS FOR _NEON

AT TOTAL PRESSURE = 750 ATM _

30




K910904-2

TABLE
COMPOSITION DISTRIBUTIONS FEOR._. NEON

AT TOTAL PRESSURE = 1000 ATM

TEMP *  ELECTRON - Py —P{Le2y— P33y —
(VEG K) * PRESSURE ATM
SR EHEATRET R Y oh R FEFFRTFTHF TR F & A K ¥ o KA A K A ok R R TR Kok
1.U00403 * 0,000 1,0u0+03 0,000 0.000
2,000403 * (0,000 - T17000403 TOLO00T 0,000 T T
4,U00403 * o,011~i1 1,000+470 5,01i1-i1 0,000
6.000+403 % 2,341=06 1,000+03 2,841-08 7,I126=32 ~°
8.000+03 *  7,567=u04 1,0u0+73 7.567-04 3,835=23
1000404 x 2,329=02" 17000F0nT 2338902 7.926=18 "
1.2400+U4 * 2,.426=J1 9,949540. 2,426=-01 3,226~18
1¢+00+0% % 1,304400 9,973+12 1,354400 1,389-11
1.o00+04 »  H,090400 9,8Y98+n2 5,090400 1,454«~09
1000404 % L. 456+U1 9,709+402 1,45A0401 S5,853~0R8
2. 000+0% *  0,095+401 9,321+ny 3,39R401 1.186-06
2,200406 x »,733+01 8,653+h.  &,733+401 T1,431=0%
2400400 ¥ 4, 10142 T,677+4n2 1,161402 1.146=04
2ooO0+0% *  1.772+402 6,456+02 1.772+402 6,576=04
co800+Us % 2,431+02 5H,1a8+n0. 2,431392 2,869=07%
S.uld+04 *  3,054+402 3, 89240, 3,.054H402 1,003=02

TEMP # ELEFTROM Nt1,1) M(1,2) Mt1,3) -

(DEG K) *  DENSTTY cM—3
¥ kokok ok ok R R R Rk Kok R F gk R Rk Kk R O R R ok ok ok ok R R Ok Rk T
1.000408 % 0,000 7.341+2¢ 0,000 n.nnn
2.000403 % 0,000 3.670+21 0,800 0.000
4,000403 x  9,196+07 1,8%5+21 9,196+07 0,000
5. 000403 *  3,476+12 1.223+21 3,476+12 8,719-18
5.000403 %  6,043+14 9,176+20 6,943+14 3,519=05
1.00N404 %  1.710+16 7.3u1+20 1,710+16 S,.719%00°
Le200404 *  1.4AR4+17 6,115+20 1.484+17 1,974+404
1400404 %  7,1N2+17 5,2729+420 7.107+17 7.,7R2406
1.000404 % 2,335+18 4.,5431+20 2,335+10 6,672+408
1.200404 x S5,938+18 3,9A0+20 %.936+1R 2,3R87+10 -
2,000+04 *  1,245+19 2, 421420 1.286+19 4,352+11
2.200404 % 2,247+19 2.8BRT7+20 2.207+19 §)TVEIIZT
2.400404 % 3,552+419 2,3u8+20 3.552+19 3,5065+13
2.500404 %  5,004+19 1,823+20 5,.004+19 1 ,AS73+1I#
2BON+NG % AGITI+19  1.387+20 6.373+19  7,522+414
F40N04004 & 7,473+19 9,523+19 T.473+19  Z2,853+15
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TABLE M1
e ABSORPTIION  COEFFICIENTIS  OF  HELTUM.
AT TOTAL PRESSURE = 50 ATM

WAV.  * FLMPERATURES (VEG K)

NOS . %  1,000+03 2,00n+0%3 ~&,000+03 B,000+03 R,000+03

o il S - cpqrd -
5 gy e R KK e o ok A K kK oK K ok AR R R b ko ok sk ok ke o o o R OR K K o K ok o sk ok ok ok ok ok s ok koK ok

*  A(TUTAL) A(TOTAL) a{TuTAL) A(TOTAL) A(TOTAL)

1.000+03% x  0.,0Qu Qa0 3.137-17% 2,618~08 6,395=-06
1,538+03 *  Q.00Gu D,u0n 1.,969=-12 1,695~08 0,196-06
2.,000+03 % 0,000 N.60" i,397=13 1,236~08 3,114%=06
4, U0gu+03 % U,0uh Oe.u0n 5H,525=14 5,466=-09 1,478=06
6.003+03 * 0,000 2.7300 2,794~ 3,211-09 2,13R=07
8.00U+03 *  U,0uy 0.000 L eBTB=14 2.,133~09 A,388-~07
1.C0u404 % J,.0uUn a.,qn0" 1.,280=-14 1,525=09 4,735=07
1,50d+048 % 0,000 Geuyygn L.333=15 d,000~10 P2,.643=07
2.000404 * 3,000 2.000 HYABR=-15 TG, 972=10 1.730U=07
2,25u+04 % O40ut N,000 3.11%=15% 4,083=10 1,413=-07
2.500+04 x  U,0U70 M aif 2.,0507=:5 3,422=-10 1,184=07
2.75U+04 *  U,Qur Deo0" 24201-15 2,914=10 1,025=07
3,000+08 % J.0UC N.u02 1,84%7=15 2,515=-10 2,0334-08
2,2Lu+04 +  GO,0uU Nyupn 1,0-l4=15 2,104-=10 7,.,830=08
3.500404 ¥ 0.0uq D.go” 1,447=15 "1,3%1-10 6.915=08
S.70U+08 ¥ WUl 0,007 2e27A=15 1,712=1" FA,148=08
4,C0pud+D4 4+ 0,000 T L.135~-15 1,577=10 5,511=-08
B Eputul x Jedud Geulr Y, 10%=16 1,231=19 4,402=08
5,0004+040 4 J.0ul T.u0° . 382=16 7,30p=11 2.666=08
5,5put04 % Ullul Deuln L, 4AN=16 6,103-11 2,235=0R
6,000+04 #  UL,03% LIV I,780=16 5,.,178=11 1,902=08
b.-yuv+d8 + w00t Teulr S.,2U47=16 4, 4%1=11 1,640~08
T.00d+08 * w00 (aull e 15=16 3,870-11— 1,429«08
7,.5d+08 4+ U000 J.0ur P11t S5,621=11 1,339-08
7.000+08 %  dJdeudly e i1 cJhbh=16 3,397-11 1,258=98
7,75u+bd +*  LUUY 0. g0 cedl=18 S,1°92=-11 1,183-08
JL00+0Y 4 G.J09 O.00" e 177=16 3,006=11 1.116-08
B,250+04 +  UsUud Hyuy? eelB1=16 2£,8%0=11 1,.054~-08
B8,yu+0t *  U.Uut Jau® L, 237=16 g,601=11 7,068-(09
H.,75U+08 ¥  UJ.ddy 0,007 Lou31=16 ¢#,53%8=11 35,u445=09
9,.0pJd+04 * 0,0y, Jeudt 1,735=18 2.,406=11 *R,953-09
G,abu+084 *+ vedlu 0,207 1.0645=16 Z,24=11 7,518=009
9, rgu+dy + U,0uU7 G.o0" 1,559%=16 2,172=11 °,136=09
9, /Ho0 = U Ud0 d,00° LeHQ7=16 2,0Ff8=11 7,720=09
1,0p0+0% + J.0U a,Jp" 1,4t6=-15 1,971-11 7,368=-00
1,20J+08% % U.UU7 Vel Y,961=17 1,385=11 5,247-09
1,upu+0s * Je LUy Jeull? 7.399-17 1l.042=11 2X,936-09
1,e0d+05 %  wu,di)} Qeuu™ 3,7L3=17 o,0%6~-12 *,067-09
1,2yu+05 *  g.0uf J.u0n 1.555=17 o, UB3«12 ", 481=07
2,000405% % 5,0L3+72  L.H07+yd 7, 330402 5,022+402 3.767+02
2-;’“\]"’05 * 20""9 +J3 lo.i"l:""UJ )02?6"‘[)? 'l'.l:;l“"‘ﬂ?. -ﬁo 113+92
2,6u0+05 ®  1,787+u3 4, 316+u2 <+, 459492 2,972+402 °,229402
3,000405 % 1,337+03  %.03 442 2,3u3+07  2,232+02 1.674+02
B,00d+05 & TeLou+d2 3, 07402 1,4d83402  1,256402  9.417+01
5,0pu05 % 4,322+32  2.4+11+02  1.205+402 3,030+01 £ 0ZF7+01
7.':-[_]\1'*‘33 * Seludtie 1;0714“\)(- Je 3574351 5.5?2‘?01 ?0679'!'{]1
1,00U06 * 1,20 +02  5,027+0r 3.01%31 2,0039401  1.577+01
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FABLE T — ——
ABSORPTION COEFFICIENTS OF HELTIUM
AT _TQTAL . PRESSURE = 50 ATM
WAVE * TEMPERATURES _(DEG-K)
NOS. 7 % "TTL000¥F0% I P00F0 I EN0S 0T L EUTR ORI, BONFNT
C”_] * - M..Q
& o3k 0k ok o e Sk K ***i*****f}**Wiﬁiiﬁ?*iffirfiixw**iiw*itf11$*wiiff
* A(TOTAL) A{(TOTAL) A(TOTAL) A(TOTAL) A{TOTAL}
1.,000403 % 1,5B9=04 1,A0B«N3 I1,551=072" T,337=01 R,I107=01
14300403 * 1,0%6=04 9,649=04 7,2905~03 6H£.241=02 3,683=01
2,000+40% *x  7,735=-0N15% TE,903=04 5, 06903 X, 705022, I20=TT
++000+403 * 3,845-05 3,226-04 1,921-03 1,079~-02 5,43R8=02
wJ0040% * 2,497=05 Z,.202=084 T1,205=03 §,969=03 —2,722=02
1.00040% %« 1,800-N5 1,R27=04 8,781=04 4,091~-N3 1,750=02
1«000+404 *  1,376-03 1,773=94 5, 88U=0% 3,112«N3 ~1,275=02
L,5004004 % 3,132=-N6 7.%42=N5 4 47R8=04 1,958=03 7,.622=03
< 3003+067 %« 57414=N6 %“197“U5**2”98H”U¢””I:ZES“US“*W*TUE"US
2250404 % 4,553mN6 4,577=05 2,521=04 1,043=03 3,740=03
<e300+404 % 3,887=N6 3,737=05 2,164=04 B, 79R=NG "3 059=N3
o 750+04 % 3,3R9-04 3,559=05 2,106-04 Q. 260=004 3,375=0N3
1.000404 % 3,102=06 3,707=03 2,871=04 1,569~03 6,F16=073
%.250408 ¥ 2,735~06 3,768=05 2,537=04 1,380=N3 §,61R=N3
5500408 * 2,416-086 " FUOGE=NST Z 17P-00 1.IG6=NZ3 O, 70T=03
2, 753+404 +  2,149=04 2,598«n5 1,889=04 O,967=04 3,98)=0%
+.000+N4 % 1,957=N6 2,4843=N5 1 _R32~04 9,807=04 3,9]17-03
+,500+404 % 1,583=-06 1,270-n5 1,45R=04 7,656=04 3,020=03
2,000+404 % 9,592-07 1,761-05 9, ,861~05 {,397=084 2,172=03
C500+04 x 3,139-07 1,755-05 8,160=05 4,420=04 1,76%5=03
2«000+04 * 5,240-N7 8,966-06 §£,881=0% 3,69u=0H "I ,UBR=NT
0e200404 ¥ 5,993=07 7,726=~06 5,889=05 3I,137«04 1,236.03
7,000+04 +« 5,232-07 6,734=N6 5,103=05 P2,699-N4 1,057=N%
7230404 ¥ 4,907«97 H,%10="p 4,770=0% 2,516=04 9,820=«04
/500408 % 4,611=07 5,927~06 4, 470n=05 2,.35N«04 9 T5R=0NU
7.7504008 % 4 ,342.N7 5 ,579«06 §,199=05 2,202«00 R, H5RaNY
L000+084 ¥ 4,097-D07 5,7°61=086 3,952-05 P2,0687=-D4 " 8,013=Nn4
10200404 ¥ 3,372=N7 4 ,971=06 3,727=05 1,948=0N4 7,52%=04
£e300+04 % 3,7566-07 3,705=-96 3,522=05 1.83%=04 7,077=04
7504004 % 3,477=07 4, UG0~08 3 ,332=05 1,732=1U 6,671=N4
44030400 % 3,302=-07 4[,7235=016 3,16NP=05 1.,63R=N14 H,29%9=04
1,259404 % 3,143«07 4 ,N26=06 3,001=0% 1,553%=04 5,950«04
Se000+08 % 2,990=07 B, AZN=NE 2 ,853=05 1.474=n4 S, BYE=MY
5750408 % 2,881=07 3F,A55=06 2, T17=05 1,401«08 B, 357=N4
1,300408 % 2,721-07 3., 488=n6 2,590-05 1,333«-N4 §,091-n4
1,20040% % 1,947=n7 2,493=06 1,838=05 9,358«~05% 3,534=04
1.40040% % 1L, UARS=N7 1 ,A076=-N6 1,378=05 A.940=05 2 600~04
1,000405 % L,143=-07 1,464=~N6 1 ,06R=0%" HK,354=N8 1,99%.04
1.800+405 x 9,2053=-N3 "1,176=-06 B/,53U«=06 4,284=N5 1,574=n4
£s00040% % 3,013402 2,511492 2,14R+402 1,.,86R+4N2 1,4832+02
- 200407 % 2,490+02 2,075+402 1,776+402 1,544402 1,340402
. ebd0+N5 ¥ 1,783+¢02  1,0864N2 1,271402 1,1084072 9,65R401
10 0G0+08 » 1,339+402 1,116+412 9,.540401 A,304401 7,.254401
TLUGI40% * 7,034401  ALPTHEHOL 5,371+401 4,6T71+01  4,080+01
1o NOUH08 w4, 821+01 4 ,NL1T7TH+01 3,437401 2.880+01 2,612+0%
7200405 = 2,143r01 1,785+401 1,528401 1.3204N01 1,181401
1400006 % 1.,205+401 1.704401 8,590+00 7.473+00 6,520+400
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P AV
NOS,
cm~1

*

*
*

ABSORPTION

TABLE T

COEFFICIENTS . OF _HELIUM_ __
AT TOTAL PRESSURE =

50 ATM

TLMPERATURES

(DEG K)

2,000+04° W, 00400

_—

a.uoqfou 2,600+04 2,800+04

.

- CM ™

A 3 e e A ok 2 K ok AR K ok AR KK KR o R KKK K b o o e 3 A ok Kok Bk A oK Kok KR KR K R

1,000+03
1.500+03
2.000+03
4, 0pu+Q3
6,00U+03
8,0uuv+03
1,000+04
1.500+04
2.000+04
2.,250+04
2,.50u+04
2.750+048
3,0ud+04
J.ohu+0h
3,500+04
3,75U+04
&,0pu+04h
4,.500+04
S.0ub+0y

5,50u+04
6,0u3+04
6.5ou+04
T.00u+04
Tezbhatl
T.50utls
T.750+04
8,upu+04
8,250+04
E,50u+04
8,75u+04
9,00ut+ub
9 ng*UQ
9,5 uu+0y
9, 730+0q
1.6pU+0%
1,20u+05
1.80u+05
1,b6y0+05%
1,R0u+05
2,0pu+05
2.200+05
2,60LU+05
S, NEJ+05
4,Gud+05
S5,0p3+05
7.50u+05
1.uyw+0s

LA A S B . I TR R IR IR G e E R E E E E

A{TUTAL)
Je435+00
1,547+30
8.835-01
ﬁol?é-bl
l,0c0-01
Be292=~02
4’439'02
d.bdD-UE
10398-02
l1.1u3=02
G,30z2=-93
l.000=u2
ﬂ.Ulb-UE
11760-02
lu405-02
Le235=02
1.207—02
9.24?—U3
bebLS-US
Deltut~43
Gol4,6=-03
Jelbe=~03
£eG0Hamy3
30703-63
d.bu&—lJS
2eldLg=33
d.EOC—GB
2elyz=~03
10907-U3
1.87*’-:—1.13
Leo74=03
Lebop=u3
LeBUL=U3
1,05%=33
leLoe=-04
5.756-04
4.bdu—04
l.4la2+u2
lalo7+u2
ba357+ul
Dec f/+31
S+931+41
ecby+U1
Leddu+ul

oIt +d0

ACTOTAL)  w(TOTAL) A(TOTAL) A(TOTAL)
L.u73+ul 2,577+01 4,895+01 7.505+01%
4,8194+00 1,155+401 2,193+01 3,361+01
2.741+00 6,560+00 1,204+401 1.906+01
64,7630l  1.638400 3,154400 4,905+400
Jelll=yl /,070-01 "1,329+00 2,027+00
loul5=ul  4,173-01 7,729~01 1,167+00
1e2b3=ul Zz,840=01 5,215=01 7,.826=01
B,830my2 ;L503-01 2,698=01 3,981=01
3,021=02 .875=02 1,410~-01 2.087=01
2.87%=0p 5 gne-02 1,069=-04 1,582~01
2¢399=02 4,893%=02 8 311=-32 1,228«p1
2.531-02 4.43“~02 9 071=02 1.257-01
5.027=y2 1,015=01 1.663-01 ? 2U6=01
Hy3p7=u2  b,774=02 1,454~01 1.970-01
Jend0=02  7.280=02 1,204~01 1,660~01
3.U52=02 B.117=02 1.01n-01__}_39@:g;__
2.9bN=yd  5,8F1l=02 9,632=02 1,31%=01
2eeDF=U2 4,462 7,302=02 <,945~02
Leu3ti=u2 0.,217=0Q2 5,279«02 7,075~02
1e317=02  4,585-02__ 4,193=02 5,666=02
1,077=02 ¢.120=02 3,4833=02 4.633=02
Fe3%=y3 L,769=02 2,359=02 3,854-02
Teubf=uZ 1,493=02 2,416=02 3,252=02
7.097=y3 ],335=02 2,232=02 3,002=02
B9 =03 1. AG=12 2, 068=02 2,779=02
5eld0my2 128=-02 1,921-~02 .2,580=02 .
S473%-u35 l 114=-02 1,789-02 2,401=02
De3BT=u3  1,041~02 1.671-02 Z.280=02
B4,U3+=u3 9,752=03 1,563=02 2,095=02
Y9 43%=0n  9,1%58=03 _1,466=02 1,963-02
40450203 5,617-03 1,377-02 1,843=02
4920103 5,12%3~03 _1,297=02 1,733-02
5|9bq-U3 T.670=03 l.a?uuﬂa 1.633-02
3e/55=02 7.252~033 L1,157-02 1.541=02
Je05U=u3d  ©,463-03 1,095=-02 1.458=02
Se42b=u3  4,6U2=03 7,359=03 Q,765=03
Lo 760=u3 5.347=03 bH,279=03 6,970=03
1o530=u3 2,524=03 _3,963=-03 ~,212-03
1e040=03 1,968=33 3,078=02 4,034=03
Lek90+u2 9,559+Q1 7.204401 &,019+01
Q.8630401  7.9904U01 5,954401 4,14R+01
TeUsl+ul H,656+01 4,263401 2,970+01
2¢282+31  4,248+401  3,202+01 2,231+01
2e37T0+YE  &,390401  1,801+#01 1,255+01
1ew0%+40ul  1.529+01 1,152+01 A8,0304+00
Je+02+00 ©,797+400 5,123490  3,50°430
e 7BNHEYD 5,3234+80 2,LF1400 2.,0G7+00
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K910904—2
] — . - _TABLE - JTL
‘ABSORPTION COEFFICIENTS OF HELIUM
AT_TOTAL —PRESSURE = 50 ATM

WAVE = TEMPERATURES -(DEG K) -
NOS, * 3,000+04 0,000 0.065‘ T 0,000 0,000
Ml % - cp=1 -

sk K ok ok e S KK JE AR A KK AOR AR KK e A 3K K SRR o K R R o o
¥ A({TOTAL) A(TOTAL) A(TOTAL)} A(TOTAL) A(TOTAL)

1.000+03 * 9.530+01 0,000 0.000 0.000 0.000
_ 1.500403 x  4,267401 0,N00 0,000 0.000 0,000
2.0004+03 * 2,419+01 0,000 0,000 0.000 G.000
4,000+03 * 6,257+400 0,000 0,000 n.,00n0 0,000
£.,000403 * 2,600+00 0,000 0,000 0.000 0.000
A,000+03 * 1,472+00 0,000 0,000 0,000 0,000
1.000+04 % 9,803-01 (.000 0,000 0.000 0,000
1,500+08 % 4,927-01 0,000 2,000 0,000 0,000
2,000+408 % 2,591-01 0,000 0,000 0,000 0,000
2,250+04 %  1,96%-01 0,000 0,000 0.000 0,000
2.,500+04 * 1,530~01 0,000 N . 000 0,000 0,000
_2,750+08 *  1,524~01 0,000 ~ 0,00n 0,000 0,000
3,000+04 *x 2,571-01 0,700 0, 1608 i.000 0,000
3,250+04 % 2,251-D1 0,000 0,000 N.00N 0,000
3.500+04 * 1.,902-01 0,000 o.ooo 0.00n 0,009
3,750404 * 1,627~01 0,700 0,000 0,000 0,000
4,000404 * 1,525-01 0,000 0,000 N.00N 0,000
4,500404 * 1,151-01 0,000 0,000 0,000 0,000
5,000+04 * 8,130~02 0,000 0,000 n,000 0,000
5,500+08 *__6,507=02 0,000 g,000 0,000 0,000
6.,000+04 * b1,315=-02 0,000 0,00n N.000 8,000
6.500+08 * 4.,817=-02 0,000 0,00n N.000 0,000
7,000+08 * 3,7P4=02 0,000 0,00n 0.00nN 0,000
7.250+404 % 3,436-02 0,000 0,000 0,000 _ 0,000
7.500+04 % 3,179-02 0,000 6,000 0.000 0,000
7.750+404 * _ 2,950=02 0,M00 __ 0,000 0,000 0,008
8,000404 % 2,744-02 0,000 0,000 0.000 0,000
8,2504+04 % 2,556=02 0,700 0,000 n,00on 0,000
8,500404 * 2,390-02 0,000 0,000 D.00nN 0,000
d,750+04 * 2,236=02 0,000 _ 0,000 0,000 0,000
9,000+084 *x 2,100-02 0,700 0,00n 8.000 0,000
9,250+04 * ;Lgvu-oz 0,100 _0,000 0.00N 0,000
9,750+04 * |1, 753-02 0,000 ___Mphqggw___no.ogqy_uuwa.ooo
1,000405 * 1,.,657=-02 0,000 0,000 0,000 0,000
1.200405 % 1,107=-02 0,000 0,000 0,000 #,000
1.,400+405 * 7,856=03 0,000 0,000 n.000 0,000
1.600+0% * _5,853=03 0,100 0,000 0.000 6,000
1,800405 * #,516=03 0,000 0,000 0,000 0,000
2,000+05 * 3,233+01 0.700 0,000 0,000 0,000
2,200405 * 2,672+01 0,000 0,000 n.000 0,000
2,600405 % 1.913+4031 9,000 0,000 0,000 0,000
3,00040%5 * 1,437+01 0,000 6,000 0,000 0,000
4,000+405_%_ 3,032+00 _Q,N00_ __ 0,000 0,000 0,000
5,000+05 % 5,173+400 0. 000 0,000 n.ooo 0,000
7.500+05 * 2,299+00 _0,N00 ___  0,000__ 0,000 0,000

1,000436 * 1,293+00 0,000 0,000 0.000 0,000
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WAVLE
NOS
ch=1

1,0p0+03
1,.5u0+403
2.,000+403
4,000+03
6,00u+03
8,.Gpu+03
1,0p00+04
1,.50u+04
2.,000+04
2.25J3+04
2. oyu+0h
2,750+04
3.009+064
3, 2LU+04
3.E0J+04
3,75d+0¢
h,opu+s0y
.00 Gl
5,.000+04
5.50U0+04
6,C00+04
6-5(}0"’04
7,000+04
Tee5u+04
7.500+00
Te759+04
8,0u04+04
8,eHu+04
B,S5gu+0y
8,75J+04
9,00Jd+04
G,e50+04
9,500+04
9,75ut0H
1,0439+05
1,.20pd+00
1,40u+405
1,600+05
1.3pd3+05
2,0p0+05
2,200+05
2.6pU0+05
3,00U+05
4,00u+05
5,0450+05
7.5u2+05

*

X
#*

XX K KN, K KN XK NP R IR NF R R RN E KRR KR EENE KK KRR KKK NEHR

ABSORPTION COEFFICIENTS OF _HELIUM_ _
AT TOTAL PRESSURE =

TABLE X1

TLMPTRATURES

100 ATM
(CEG K)

1,000+03 " Z,00N+G3 T HVODOF03

_—

o, JUU+UD

Mo UlUJU+UD

wallf-

A(TOTAL)
0,000
0,000
0,000
U« Guti
U.000
J.00p
0.000
U.000
G.000
Jo0Uu
0.000
0.0U0
U.004
0.0UD
0.00¢
U, 000
J.0Ut
0.0uL
d.001
U,0u(g
G.0G¢
U.UL]I‘
0.060
00 DUU
g.00n
UelWJO
0.00¢
e UG
LUy
J.300
U.UU”
UGGOU
0,00u
J.0un
J.Qud
U,Jdui}
G.000
ga.0uf
J,04d,
0 027+u3
H,931+J3
JebbbrdD
2.070+03
l,5u7+03
9,3471+42
H,2085+uU2

-1 -

********************#************:¥i¥¥**$%**i*f¥***t**inIF
A{TO0TAL)Y wITOTAL) A(TOTAL) A(TOTAL)
¢,000 5 873=13 7,404=08 1,809=05"
0,000 5,570=13 4,794~08 1,187~05
0,007 77 IJE%6~13 T3,495~08 ALBIU-06
ND.00n 1,56%=13 1,546-08 4,180~06
0,000 b,468=-14 9,082=09 2,599=06
0.100 H,.313=14 &,034=09 1,807=~06
N.00C 3.632=14 #,313~09 1.34N=086
0,000 1,791=14 2,263=09 7.475=07
0,007 "~ T170RI=IG TILH06=09 G,810=07
0,400 6.820~1% 1,155~09 3,996=07
0,000 7.345=15 9,678=10 3,378=07
Ted 0N D 225~15 8,243~10 2.8398~07
J.00n0 5,3%0-15 7,114~10 2.523=07
0,000 4,.651=15 6,206=10 2,211=-07
n,J00 " 4.081<{%5 5,463-10 1.953=07
J.u0n A,b08~15 4,8u3=10 1,737=07
0,307 3,209-1% &,319=10 1,556=07
Deuli 2.5T5=15 3,481=10 1,260=-07
0,009 i,522~1%5 2,066=10 7.522-08
g.,uon 1,267=1% 1,726~10 &,306=-08
O.uln 1.072=15 "1,465-10 F,267=-08 """
ODU[!n 90185"'16 10259-10 q‘.627"08
VI H I 7.963~16 1,005-10 £&,033~-08
Deul? 7.442=16 1,024=10 3,779-08
Da30n 0.,972=16 9,607=-11 3,548-08
Je000p o.545~-16 9,029-11 3,339-08
0,00" 6£,7157=16""8,503-11 3,147-08
0,000 H.832=16 H,022~11 2,973-08
3.00° 5.,478=16 7,582=11 2,£12=-08
.00 5.180~16 7.,177-11 2.665=(08
0,003 4,.,306-16 BH,805-11 2,529=-08
De.ud? 4.654=16 6H,481-11 2,403=08
0,00n 4.,421-16 6,103=11 2.287-08
Dy,po0r 4,205~16 »,.,848=11 ~,179=0A8
0.d09 4-005-l6 5|574‘11 ?1079-08
Jed07 C.HRL7=16 5,9456=11 1,430-08
Jd.un 2,093=16 R2,9%46-11 1,110-08
0,407 L,617=16 2,287=-11 AR,.653-09
0,300 i.2P8=18 1,B20-11 &,842«09
Ted1F+u2 1,507+03  1,004403 7.534+02
D494 1,245403  H4,302402 F.226+02
1,783403  d.9154)2 H,%U4+402 U,45%+402
1.0394u2  5,607+]32 4 UALBL02  F,348+402
Teodb+ul2 3,767+02 2,511+402 1.883%+02
4,323%u2  2,411F02 L,6n7+02 1.275+40%
2a.143+02  1,071+9°7 f,1u3+01 5,337+31
1,2059+u2  o0.027+01  4,013+01 3,913401

1,00p0+08

2.411+02
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WAVE

TABLE -1

ABSORPTION COEFFICIENTS OF HELIUM

AT TOTAL - PRESSURE = .100--ATM.

*

TEMPERATURES (DEG K)

Tt CUFIOS TR I N00F TR

Y .

*

1o ~UUFIIS

T HU0FUT 1L B00F I B00¥ 0T

cml

.

***********f*i?*fifiT????W*Wﬁi?ﬁ?????ﬁ??ﬁ?ﬁ*FVW****WW**W*Tﬁi—_

1,000+0%
1.,500+03%
2,000+03
4,000+03
6.000+03
8.,0004+03
1.000+048
1,500+04
2.,000+04
2.250+0u
2.,500+04
2,750+04
3.,900404
3,250+04
3,500+04
2,750+00
4,000+04
4,500+04
5.000400
5.500+04
5.,000+04
6,500+04
7.000+0N
T7.250+04
7.500404
T.750+04
8,000+04
34.250+04
80500+0u
#.750+4084
9,000+04
9.250+04
9,500+04
4,750+4+04
1,000+0%
1,200+058
1.400+40%
1,600+08
1.800+05
2.300+058
2.230+4065
2.,600+05
50000+05
4,000403
5.000+05
T.500+05
1,000+086

*  A(TOTAL)

A(TOTAL)

A(TOTAL) A(TOTAL) A(TOTAL)

F TATHE IS0 UUP08SN3I T 3,519=02  ZL.BI3=01 I,678%00

37

*

¥ 2,917-04 2,579=N3 1,845=02 1.329~01 7,648=01
¥ 2, rHI-Uﬁ“‘IZ“7U“U3""I“EIZ?UZ‘”?’?93"U@r"1r1nnr1nf“'
* 1,0R6-~04 9,209=04 4,907=03 2.,460=N2 1,164=01

*  T7,056=05 6,133=05"" 3“15¢“U$’“Ti¢10”02““5’955“ﬁ2‘“
* 5,0B8~N5 4,541-04 2,328~03 ©9,876~03 3,906=02

¥ 3,889=05 3I,556~=N4F T ,83F=U% 7.6150% "27886=02
¥ 2,297=05 2,216-04 1,195=-03 4,858~D3 1,756=02

* T TIUSIORISTIL,5I3=04 8, 100=00 3, 223=~03  1,T1I5=02

¥ 1,287-05 1,°85~04 6,883=04 2,689~03 G,006-03

* 1.099-05 1,106=n%" 5,934~04 "23292<03" " 7.471=03
* 9,559=06 9,921-05 5,628«=04 2,327=013 7,971=03

* B,.,635=06 1I,006=04 &,99%9=04 "3,565=03""1,398=02"
¥ 7.B11=086 AR,910~N5 6,197=04 3.144=03 1,227=-02

¥ B,73Z2=06 ~7,R32=05" 5, I6E=00 7 BT I U3G=NZ
* 5,995~06 6,937«05 4,689=04 2,307-03 8,813=03

¥ S5,438~06 6H,855~15 4§ _48R=04 PF.246=03 B, 618=03
¥ 4,418=06 5,P27=-05 3,590=04 1.769=N3 6,696=03

* 2,6B1=N6 3,797=05 2, 384=04 1,225-03 NU,;747=03
¥ 2,253=06 2,764=05 1,982=04 1,008-N3 3,874=03

¥ 1,922=06 " 2,%53-M5 I ,877=-04 R\G5H=04 " 3,225=03
¥ 1,660=06 2,M31=05 1,439=04 7,205=N04 2,730=03

¥ 1,450-06 1,772=05 71,250=04 FR.219=00 "2, 300=03"
¥ 1,360-N1% 1,h62«05 1,170=-04 5,803-04 2,182=03

¥ 1,278-06 1,562=U% 1,097~04 S,42Z9=00 ~2,035=03
¥ 1,203=06 1,870«n5 1,032=04 5,091-N4 1,904=03

¥  171352nB" I.387-M5 9. 719=05 4GJ785&04 " IJ785=03
¥ 1,073=05 1,%11-05 9,174=0% 4,507-04 1,677=03

¥ 1,016=~06 1,741=05 B8,875=05 #,253=N4 1/ 580=03
¥ 9,636«07 1,177-05 B8,217=05 4,021=084 1,490=03

¥ 9,152=07 1,118=05 7,795=05 3,808-=04 1 ,409503
* 8,704=07 1,M63=05 7,406«05 3I.611=04 1,334=03

*  §.7283-017 T1,013=05 7 7UU4E=0% XL 430=TUT 126503
¥ 7,903~07 9,A57=06 6,712=05 3.263-04 1,201=03

¥ 7.544-07 9,220=N6 6,504=08 F,108.00 "1I4Z2=0F
¥ 5,398=07 6H,601=06 4,560=05 2.192=-00 7,970=04

* 4,064=7 4,973-06 3. 421=085 1,632-00 5,BEA=00
¥  3,177=07 3,R88-n6 2,664=05 1,.264=04 4§,529=04

% 2,555-077 73,1266 2,138~-05 I,0T7-n0 TIUHEDSOE
* o 0127402 5.021+92 4,299+02 3.,745+02 3J,288402

¥  4,981+02 4,150+02 3,55%402 3.0954N2 7 2,7IR+¥0Z2
¥  3.566+02 2.971+02 2,544+402 P,21A402 1,946402

*  2,679+02 2,232+n2 1,911+402 1.665+N2 1 461405
x  L.hNT7+02 1.255+02 1,075+02 9,363+01 8,221+401

*  3,643F01 E.034Enl g,879+01 ®.993+01 F,2R1¥01
% 4,286+01 3,R71+081 3,057+01 2P.563+N1 2,338+01%

* 2,411+n1 2,009+n1 1,720+401 1.498+N1 1,31R+01



K910904-2

TABLE 1
ABSORPTION COEFFICIENTS OF . HELIUM _ _
AT TOTAL PRESSURE = 100 ATM

Yado * TeHPTFRATURES (DEG K)
HOS, ¥ 2,000+34 2, 00404 2. 5A0+00  Z,600+04 2,800+08
_cuymt * cm=l
o Ak ok o 4K KRR RR SR KR R R R ook ok o ok oK 3 ook ok K ok ok ook K ok 3Kk SR K Rk ok Rk K ok
#  A(TuTaAL) A(IOTAL) A(TOTAL) A(TOTAL) A{TOTAL)
1000403 *  7.100+00 2,289+y1 %H.718+01 1,151i+02 1,91n+402
1,300403 % S.227+00 1,027yl 2,962+01 5,154401 A,547+01
2.0UU+03 * 105“5+UU 5!046+dﬂ 1046q+01 20922+01 u084q+01
4,000+403 * L,3b4=01  l,e46+ud  3,633+400 7,399+900 1,244401
6,0GU+03 * Z,176=01 b,4d80=yl 1,570+0C S.,116+09 £5,135+00
£,0034+03 *  1,3Le=01 J,924=y1 9.288=01 1.813+00 2.953+00
1,0uu+0d4 % Y,006=02 2,7273=01 6,338-01 1,224+400 1,980+00
1,500404% *  5,569-02 1,300-ul u,371-01 &,344=01 1,007+00 __
2,000+04 % J,lo0=02 RB,112=d2 1,791=«yl 3,348=01 K,311=01
2.450404 %  2,007=u2 ObL.gEf=y. [,373-01 2,.552=01 #,038~01
2,500+004 % &,173=02 5,461=02 1,129=-01 1,995-01 3F,147=01
2.75u404 x  L,301=02 23.8909=,2 1,239=01 2.159=01 3.203=01
3.,000+008 %  H,32u=02 1.085«yl ,250=01 4,875=01 5,624=-01
3,250+04 % o,70g=02 9,43 =yl 1,249=01 3,361-01 4,936=~01
.00 % 0.16H=02 T.LTb=y2 1,627°=01 2,813-01 #,167=01
3. 750408 % £,0U81=02 BH,oldé=d2 1,366~01 2,3A5-01 3,495=01
L,0uu+Ul « obll-U2 6H,420=yes  1,312=-01 2,253-01 3,299=01
G,o0Uu+04 *  24,0L1~=02 L, 022=u7 1,1)7=01 1,713=01 2,.504=01
H,0pu+08 * L Bd]=02 3,00'=d2 TJ.lH7=02 1,222«=01 1,775=01
5,00+04 *  L,lo9=02 2,05 =u. L,771-02 9,818=~02 1,424~01
6.00u+0l # Y9.B73=03 Z.ub=de  G,742-02 8,051-02 1,166«01
E.h0utll *  0,l44=93 1.,97:=y> J,.385=-02 o0,716<02 ©°,710-D2
7.UUDFU} * U.9Jr-03 10070-02 0.361*0? 30685-02 8.205-92
7.¢bU+04 * b.q°1—03 lonﬁ—Uc 0.113"02 3.2%5‘02 7.57q’02
T.oLutll ¥ o, llh=U3 1l,44Ff=y2 _,187=02 4,872=02 7.020=02
T.750404 %  H,620=U3 1,34H~u2 ,689=02 4&,520-02 6,520=02
B,00d+04 * DHegol=03 1,.20.=d7 L_,o09=~02 4,2P2=02 6,071~-02
b,ohu+04 *  4,907=d3 l,i01=u2 Z2,347-02 J3,944=02 F,667=02
E,hpyudllh &+ 4,003-u3  1,10%yz  2,207=032 3,003=02 &5,3)2=02
. 750404 2 Lodoihi=Jd3  L,04 %=y L URR=J2 B, URB=3J2 H1,970-02
Q,eou+ld * %, 110=d3 J,02F=u7F 3 ,047~02 5,2F8=02 4,6/9=2
9,500 ¥ D,090=03  J,lotmul 1,0 %8=032 $,070-02 4,393=02
9, 50U+04 *  L0.606=~ud  A,iul=ud 1,735~y2 2,898-02 4,142-02
CLr5u+0d L HFEwd 3,290 =03  1,042=92 2,740-y2 3,911-02
I,0pu+0% #  3,319=03 T,udv=ul3  L1,954=32 2,595~072 3,701~02
1,.u040% % ce232=u3 5S,.084%=y3 1,056=32 1,750=02 2,436=02
1.6Lu+bE *  Ly,uoi=~d3  J,92L=U2 7,A309-03 1,259=02 1,779=02
1,yut0D = 1,20¥-03 2,283~01 0,77%~03 9,4~2=-03 1,334=02
1,:0u+05 *  1J01L=33 2,058 =03 4,53516~03 7,383=-03 1.,035-02
2.0pJd+38 * LW 37THIZ 2.477400  2,0AL402  L,o42+402 1,237+02
2.00UF05 ¥ £ STFHJUS 2LWUHTHY? L, 705402 1,357+402 1,019+n2
P H0d+0% ¥ 1.7d3+u2  luubftuZ  L.221402 9,713+01 7~,29h+)1
3,00U0+05 % 1.27-+02  1,101+u2 9,171+01 7,276+01 F,439+n1
4,60u+05 #  T.190+d1  H,L32+01 5,15%9431 4,1064+401 *,083+01
H,Luu+05 *  H,604+31 3,263+l L.302+01 £,626+01 1.973+01
7.0 uutd & Z2,04n4ul  1,70l+u1l  L,467+01 1,1¢7401 A,768+00
1,00u+06 *  lalol+Ul  9,307+ul  B£,2548+230 m,566+400 4,032+00

38
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TABLE T

ABSORPTION COEFFICIENTS OF HELIUM

AT TOTAL- PRESSURE. .=..100 ATM
WAVE % TEMPERATURES (DEG-K).
T TNDS, * 3. 000+09% 0,000 g,000 7,000 0,000
¢~ * cM™

*********************************************************#**

* A(TOTAL) A{TOTAL) A(TOTAL) A{TOTAL} A(TOTAL)
1,000403 % 2,655+02  §,000 ~ 6,000 0,000 — 0,000
1.500+403 *  1,188+02 0,000 0,000 0,000 0,000
2.,000+03 % 6,732401 0.000 6,000 0,000 7,000
4,000403 * 1,737+01 0,000 0,000 N.000 0.000
6,000403 * 7,205+n0 7 0,N00 ~ TG, 660 0,000 0.000
§,000+03 * 4,073+00 0,N00 0,000 nN,N0N 0,000
1.000+08 % 2,709+40 0,700 0,600 6,000 0,000
1,500+04 * 1,359+00  0,N00 0,000 0.00N 0,000
2,000+04 x 7,175<01 0,000 0,000 f,000 0,000
2,259404 x  5,H65-01 3,000 0,000 N.000 0,000
2,500+04 * #,258=01 0,700 0,000 0.000 0,000
2.750404 ¥ 4,221=01 0,000 0,000 n.o00n 0,000
3,000+04 %  7,010=01 0,000 6,000 p.00n O, 000
3.,250400 % 6,l42-01 0,000 0,000 n.ogoer. n,oo0
3.500408 * 5.,200=-01 0,N00 0,000 N.060 0,000
3.750404 % 4, ,455=01 0,000 0,000 n.,000 0,000
4,000+048 * 4.171-01 g.n00 0,000 N.000 0,000
4.,500+048 *  3,153=01 0,700 6,00n D.000 0,000
5,000402 * 2,271=-01 3,000 0,000 N.000 g,000
5,500+408 % 1,779-0)% 9,000 0,000 0,000 0,000
H,000+04 * 1,455=11 0,000 0,000 f,000 0.000
6,500+N8 * 1,210~01 0,000 a,000 0,000 0,000
7.000+0% ¥  1,021=N1 0,000 0,00n 0,000 0,000
7.250408 x 9,429.02 0,000 0,000 Nn,000 _ 0,000
7.500408 % 8,728=n2 0,000 0,000 n.000 0,000
T7,753404 * 3,101-n2 @,N00 0,000 0,000 0,000 _
8,000+04 * 7.,538=02 0,000 0 gon N,000 0,000
he230+04 x 7,031=02 0,000 0,000 nN.00N _ 0,000
5,500404 * ©,573-02 0,"00 g,o00n N.000 0,000
0. 750408 ¥ 6,157=02 0,000 0,000 n,00n 0,000
9,000+404 % H,779-02 0,000 0,000 n,oon '6‘656
9.250+04 * 5,435-N2 0,100 9,000 0,000 0,000
9,5004+04 * 5,120-02 0,000 g,o00n 0,000 f,a00
9,7o0+400 % 4,331=02 0,000 0,000 0,000 0,000
1.000+9% * 4,565-02 0,000 0,000 n.00N 'n:bﬁﬁ“““
1,200+40% x 3,060-02 0,000 0,00n 0,000 0,000
1,4U0+405 * 2,176~02 0,N00 0,000 D.00N p.000
1,600+0% ¥ 1,624=-02 0,N00 0,000 n,000 _ 0,000
1,800+08 % 1,256-92 0,000 0,000 0,000 0,000
2,000+408 * 8,670+01 0,N00 0,000 n,000 _D,000
2,20040% * 7,l66401 0,000 a,000 n,oon p.000
2.600+05 % 5,131+01 0,000 0,000 0,000 0,000
3.,00040% %  3,.854401 0,000 0.000 n,000 D,00n
4,000+405 *x  2,168+01 0,N00_ 0,000 P.000 0,000
5.000+40% * 1,387+01 0,100 p,00n ‘n,jooo . T 0, aon
7.500405 * 6,1664N0 0,N0Q0 0,000 n.000 0,000
1.300+06 % 3,468+N00 D0.NROD 0,000 nN.000 a, 000
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hAvi,
NOS.
_LMZL_

TABLE ZMTL

(DEG K}
2430N4+0F 4, 000F03776,0N0¥03 ° BLOOOFOS

3 g Kok R sk KO K R R K Ok ok oK R K o ok Kok K K K e Kk ok sk R ok ok R oK o i K sk ok ok ok ok

1,000U+03
1.bUU+03
2.000+03
L, COoU+03
6,00U0+03
8,0u0+¢03
1.0pu+0
1,.5y9u+04
2.,060+04%
2,25Lv0g
2. iuu+ln
2. 7THU+Y
3.050+048
3,e50+04
3.503+05
3,75U+0H4
Q'PDJ+0“
4,.500+048
5,0pU+04
5. Luu+ly
6,00d+04
6,a00L+04
7.C0u+04
7.25U+04
T,5,0404
7.750+04%
B.Go0+04
B,c5u+04
B, pU+04
8, r5u+04
g9,00u+04
S, 50+04
9, uut+dl
G,72ut+dl
1,0pu+05
1,20u+05
1,5u0+4d5
1, 650+05
1,5ud+0%
2. .hyutls
Rezil105
2 U+05
3,GLUrCE
4,0cu+is
B,upu+lh
T7.50u+05%
L, 0putlu

A(TOTAL)
219P7“07
1,805=07
1,381~07
ﬁ|111-08
5,500=08
2,%85=08
1,705~08
b,2u5=09
5.559'09
4,565=~09
3-826—09
5.,258=99
2.812-09
2,453-00
2,159-09
1,914=09
1.707-0q
1,376=09
8,1l63=10
L,825-10
5,7R9=10
4,977~-10
4,307=14
4,049=10
$,798=-10
3,569~10
3.,361=10
3,171~10
2,837=10
2.,600=-10
£e9548=10
2.42R=10
2eu12~10
2.20u4=110
1,560=10
1.165-10
9,040-11
7.229=11
2,511+03
24075403
1,8°06+03
1,116+03
F1e2 78402
4,018%02
1, 7TR5+02

ABSORPTION COEFFICIENTS OF HELIUM
AT TOTAL PRESSURE =250 ATM

* TeMPIKATURRES
* 1.000+03
* cm-1
* A(TOTAL)Y A(0TAL) A(TOTAL)
* UQOUU 0-00” 3.537-12
* UaOUG Q.UUC 2.20?_12
* U,0GnD 0.000 1,556=12
* U.UU“ 0'000 01177-13
* UQO‘JG ().UU'J 3.347_13
* 0,001 U.0uUn eeND6=13
¥ 0,000 g.00nr Lel436H=13
*  Y,oupn DL.u00 FU31-14
* J,000 O'ODP 4.2?0-1&
3 U000t DL, 0ul SJ4BE=-14
*  U,0un 0,000 cs 031l
x 0,001 0,000 e lbhD=1 Y
* U,Q0uu J.000 e lln=ilt
& e O-UOG lnHSS-lh
* 0.000 0,200 L6134
¥ LLUUN Jeouur 1.4%426~14
*  U,0U01, ¢,uor lLey2an=ii
*® U.UUP ntUGﬁ loOlB“lu
»  0,0ug 0,007 L017=10
x JJUug quD' 5.03“"15
* D40y 73049 G.030=15
*  Jdl.0J0 0ed0n 2.031=15
* U.UUG ﬂouﬂﬁ Qaqu-ls
L UlUU(' U.UUI\ C.cqq’r "l%
£ J,00._ heuln 2.750=15
* Uel0L D-Udp d-sﬂ7-15
*  §,00C Jeg0n Zed34=15
* Dy.U0un Q.ubn 2,223 =15
¥  J.0Uub Uaulr e 165=15
£ JeUUL LT T 2.042=15
*  U,00¢ Jaod0r Le239=15
¥ uLUUL Ge.o0n l.2u0~15
£ UL,00u NI L. 747=15
* Ui G, 40t Le0B2=15
¥ Jeuud O,u0n Lenti3=15
*  Ul.Du: Jeyun 1,114=15
*  U,U00¢ 0,300 we272-16
* B.UUO Q.JU“ U.301-16
+ UG.000 J.30" = 023=10
* LeDUTRIN T34yl 0.7HTH0D
* ie2d5+JU Frelf4+u3 Je11*+03
* d.91C+U3 qq%5’+Ué 3.229+03
¥ 0.037+ud D 340403 L,6TY4+H03
*  SJTor+U3  L.88%+uds  9,417+02
* 2.411+4U3 1. 05403 §,027402
* 10071+U3 Se 3L THuL e eBTI+]2
¥ 0.027+d2 33,0174y 1.507+02

ko

L,0N4+402

AATOTAL)
7.151-05
”.692-05
=z, UB83=05
1-653'05
1.028=05%
7.144=06
50296-06
2.955=-06
1.09N206
1,58N=06
1.335=06
1.146=06
9.962-07
8,731=07
7. 71307
6.859-07
H.181=07
u.@??-07
90967-07
2.U47=07
91117—07
J.dzq—ﬂ?
1,5691=07
1,400-07
1,40N=07
10317-07
1.,251-07
1.173=-07
1.109=07
1.051=07
Qog7u'08
q-479-03
9,02n=38
9-595-08
1,199=-08
anBR”Ua
1.“13-08
?0738“08
1.38%3+03
1.557403
14114403
1,371+402
4,739+02
2,013+402
1.,23%+402
T.834401
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TaBlLE LT
ABSORPTION COEFFICIENTS OF HELIUM
AT TOTAL - PRESSURE. =250--ATM. S

WAVE * TEMPERATURES  (DEG -K)-

NOS.” ~ % “CrOO0H0E IS o00ENG ILRUTFUE IS BO0FON T LB OE

cm-1 * - cM™
IR e T PR T T a3 T a2 e s T2 2 2 AL A LLE B AL E LSS I

* A(TOTAL) A{TOTAL) A(TOTAL) A{TOTAL) A(TOTAL)

1.000403 = 1, 753“03““Iiﬂﬁ7"ﬁ2“"I‘UE?‘UT““T‘E?W‘UY““K‘KZ??UU“*
1,500403 % 1,149-03 9,R77=«03 5,926=02 3,712-01 2,032400
c.,000+03 * 81569=U¢"”7TTII=W3'"Q“UIF‘U?‘“Z“ZEI‘UI““TTTB7¢UU'“
4,0004+03 * 4,289=-04 3,574=03 1,757=02 7.645=-02 3,266=01
6,000403 * 2,78BB=04" 2.,%93=n3 1,160=02 TWL598=0Z" T, 781=01T
3,0004+03 x 2,011=043 1,776~=03 B8,671-03 3,313=-02 1,174-01
1,000404 % 1,537-04 1,392=-13 6,888«03 BL,HITROT THVBSP=UZE
1.500404 % 9,075«05 B8.A62=04 4 ,478=~03 1,684=02 5.,532=02
2,000+08 x 6,088-0% ~5,937=04 3,089=0U3 T, I5I=02 "3,687=02 "
2.250+04 x 5,088-05 5,050~04 2,640«03 G,741~03 3,008=0n2
2,500+08 % 4,3448=05 4,%53=04 2,286~03 R/,/392=-03" 2,541=02" "
2,750+0 x  3,771=05 3,%65-04 2,113=-03 B8,.,185~03 2.+.599=02
3.,000408 % 3,365-05 3,736=04 2,377=03 1.100=012 A ,053=02"
3.250+08 % 2,966=05 3.309=04 2,110=03 ©,773-03 3.572=02
3,500+04 % 2,627=05 2Z,924~04 1,844=03 R, UZ3=T3"" 3, 004T=02
3,750+04 % 2,342=-05 2,A01=04 1,626=03 7,333-03 2,618=02
4,000+04 * 2,116~05 2.394=04 1,533=03 7.040=03 2,533=02
4,500+04 % 1,721~05 1,947~04 1,237=03 5.607=03 1.992=N2
5.000+04 % £(,039=N% 1.7209=N4% 8,013=04 3I,7B4~=NJ 1,.383=12
5.500+00 % B,737=06 1.,016-"4 o,69R8=04 3A,135~03 1,136=02
0,000+04 * 7,455-05 B,672-05 5,690-04 2,645=N3 B9,512=03 ~
0.500+04 * ©,482=06 7,195=05 4,901=04 P,.265=03 B, 0094~03
7.000+04 % 3,627=-06 6,548=05 4,270«04 1,963=-03 65,980=N3"
7.250+04 % 9.277-06 6,143~05 4,001-04 1,835~03 6,510=~03
7.500404 % 4%,960=-06 5.77%5=A5 3,758=04 1,720=-N3 6,085=03 -
7,750404 % 4,672-06 5,.,441-05 3 537=-04 1,616-03 5,701=03
3,000+04 % 4,408=-06 5,135-N5 3,335-04 1.521-=0N3 7 ,/355=03
5.,250+04 %  4,167=06 4,%56=n5 3,151=-04 1.434-~03 5,040-n%
8,500+08 * 3,9456-06 4,599-N5 2,982=-04 1,355-N3 4,754=N3
3.753+04 * 3,742=-06 4,363=-N5 2,827=04 1,283=03 &#,491«03
5,000+084 % 3,554=06 4,145~05 2,684=04 1.216=03 4,251=03
9,250+04 * 3,380-06 3,943=-n5 2,552=04 1.155=0n3 4,030~-0n3
2.500+04 *  3,219=-05 "3,756~=03 2,430-04 1.,098=n% 3JF,B2ZE=D3
9,750+08 * 3,J69=06 3,583-05 2,317-04 1,046=N3 3,63R=N3
1.,000+0% * 2,9%0=-06 3,421-05 2,211-04% Q,072=04 3 463=01F%
1.20040% %x 2,097=-0156 2,%54-05 1,581-04 7,079-04 2,436-N3
1,.400+05 * 1.579=05 1.R51=-05 1,190=04 £.300~04 1,811=03 ~
1.600405 % 1,235=N6 1,449=N5 0§ 300=05 #,122-04 1,400-03
1,800+0% *« 9,932«07 1,167~05 7,474~05 2. 300=N" "7, =05
2,000+05 % 1,507+403 1,25%+n3 1,075+03 ©,383+02 8,274+02
2.,200405 *x 1,245403 1,N384n3 3,887+02 7.754+02 6.838+02
2.600+05 % 8,916+02 7T.429+4N2 6,363+02 5.552+02 4,896402
3,000408 % $,697+02 5,580+02 4, 779+02 AH.170+02 3.867R+02
4, 000405 * 3,767+02 3,139+402 2,68R+02 2,34R+N2 2,069+Nn2
5,000+0% *  2,411+A2 2,009+02 1,721+402 1,501402 ""1.326+02 °
7.500+05 % 1,071402 B,928+01 7,.,647+01 6£.672+401 5.88440%
1,000+06 % 0.027+01 5,722+nr1  4,301+401 3.753+01 3,310+n1

4,
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TABLE AT
ABSORPTION COEFFICIENTS OF HELIUM
AT TOTAL PRESSURE =250 ATM

WAVE % TEMPFRATURES (DEG-K)— '
NOSe % 2,000+0% 2.,200+0% Z,.400+04 £,600+04 2,800400
cy=l— * eyl
T TR g e o s e o e A o o ok ke ok ORI OK SR T K K K e 3 o e e o ok A 3 ko o o R o o T R
*  A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)
1,000+03 = 1,893+01 6,177+¥01 1,602+02 3,413302 &,109+402
1,500+403 % 8,542+400 2,772+01 7,174401 1,526+402 2,731+402
T Z.000403 % 4,897+00 I,578B¥01 4,070+01 B,647+401 1,546+02
4.000403 * 1,240400 3.927+00 1,017+01 2,186+01 3.962+01
6,000403 * 6,018=01 1.778+v0  4,415+00 09,205400 1.6314+01
8.000+03 * 3,829~01 1,088+00 2,624+00 5,365+400 9,376+00
1,000404 * 2,770=01 7,627=~01 1,800+00 &,830+00 6.,287+00
1,500+04 % 1,636=01 #4,278=91 9,580=01 1,8%91+00 3.200+00
T2,000404 * "9,775=02 2,389-01 5,277=01 1,016+400 1.709+00
2,250+04 % 8,295-02 1,948-01 4,101-01 7,821-01 1.309+00
20500+04 * 00862-02 1.057-01 3.408‘01 00177'01 1, 028+00
2,753+04 *  T7.,lo=d2 1,748=-01 3,670-01 6,594=-01 1,036+00
3.,000404 * 1,211=01 3,000=yl (,353=-01 1,138+00 3,761+00
© 3,250404 % 1.002~01  2,u27=01 5,511=01 9,982=-01 1.,549+00
3,500+04 x 8,907=02" 2.@00-01 4,610-01 8,315=01 1,312+00
3,750404 * 7,607=02 $B374=01  5,904-G1 7,019-01 1,104+400
B,000+04 * T.410=02 1.noa-u1 3.738=01 6.6?6-01 1,041400
4,500+04 * bH.7o6=02 1,394-~y1 2,870-01 5,104-01 7,932~01
5,0pU+04 * 4,006-02 9,u98-u2 ,039«01 J3,615=01 5,590=01
S,5Qu+04 *  3.,317=d2 9,03%=-u2 1,649=01 2,915-01 #,498=01
6,000+04 * 2,761=02 6,054=u2 1.360=01 2,399-01 3,693~01
5.L0U+0H *  24305=02 H.003=U2 1,181=01 2,007=-01 3,084~01
7.60U+08 * Z,003=02 4, 78A=U2 4Y,716=02 1,704=01 2,613=01
7.250+04 *  l.804=~02 L4,443~02 4,006~02 4,577=01 2,416«01
ToLU0+00 ¥ 1,709=02 U,137=U2 5,373~02 1,464=01 2,240~01
7.750+404 *  1.627=02 3.862=0& 7,.804=02 1,363-01 2,083=01
B,0pu+0l *  1,526=02 3.pié=02 7.2972=-02 1,272-01 1,942-01
B,250+08 % 1 453=02 3,392=y7 6,820-02 1,190=-01 1,814=01
B,50u+08 % 1.343=02 3,190=02 6,.411=02 1,115=01 1,699-01
_B.75u+04 *  1,272~02 3,00%=u2 6,032=02  1,048=01 1,595~01
9,00U+04 * 1,202=02 2.034=y2 4H,686~02 9,860=02 1,499=01
9,250+04 ¥ 1,137=-02 2007920z 5,360-02  9,302-02 1,412-01
TYELUH04 * L,07E~02 2.,30<03° 5,079-08  &.790<05 1.333~01
9.750+04 % £,023=02 2.4072-U2 4,610=02 8,319-02 1,259=01 _
1,600+05 *  9,730=03 2,281~02 4,559~02 7 886~02 1,193-01
1,20U+05 *  6,77A=03 1,n7L=02 a.11qroa_up.assfpa R.062~02
1.400405 *  LLUUZ=03 1,i54~-02 2,271=-02 3,875~02 5,800«02
_ 1,60u+05 % 0,845=03 5,321=y3 _L,727=02 2,932=02 4,367=02
1,800+05 % 3.0648-03 56,350-03 135602  2.264=02 =.4503=02
2,00Ut0S *  14313+02 H.417402 5H,526402 4,624+402 2,725+02
2.20u+05 * 0. 044432 5,403+02 4,567+402 3,821+492 3,078+02
2.,600+05 & H.3527+02 3,797+u2  3,270+402 2,736+402 2.204+02
3,000405 & 3.250+02 2.850405 2456402 2,055402 1.656402
Q*gqu+05 *  1.826+32 la.oOb+u2  1,381+402 1,196+402  9,312+401
5.00u+0% *  1.17C+02  1,027+u2  6,841+401 7,398+401 5,960+01
7500405 *  D,201+01  4,563401 3,927+01  5,298401  2,649+01
1000406 * 2.925+01 2.967+ul  2,210+01 1,889+451 1,.490+401

b2
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TABLE I ..
ABSORPTION COEFFICIENTS OF HELIUM
AT___TOTAlL  PRESSURE =280 ATM
WAVE  * TEMPERATURES (DEG K)-
TTNOS,T R TE000444T5.100 0,000 0L g00 0,000
M-l * em-1

e 2 3 e s sk o ok o ok o 3k 6 ol s o o o S o ol e e 30K ok e e o g o o sk e S o o o e o o o e ol S e K KR ek Ok

* A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)
1,000403 % 9,350+02 0,N00Q 0,000 0.000 0,000
1,50040% * 4,179+02 0,100 0,000 5.000 0.000
2,000403 % 2.365+02 0,800 70,000 ~ n.060n TUDL060 T
4,000403 *x 6,085401 0,700 0,000 0,000 0,000
6,000403 x 2,515+01 0,700 0,000 0,000 0,000
3,000+0% % 1,419+01 0,000 0,000 0,000 0,000
1,000+04 %  9.,428+400 0,000 " p,00n N,000 0,000
1.500404 *  4,719+400 0,000 0,000 0,000 0.000
2.00040% % 2,514400 0,000 0,000 0.000 0,000
2.,250404 % 1,924+00 0,000 0,000 n,00n 0,000
2.500+04 %= 1,507+00 0.N00 0,000 n,000 0,000
2.750+04 % 1,4R1+00 0,000 0,00n n,00N 0,000
3,000404 * 2,394+00 0,000 0,000 N.0N00 0,000
3.250400 x  2,100+00 0,000 0,000 n,00n 0,000
$,500¢0n % 1,794+00 0,000 0,00n n,.,000 0.000
3.,750404 ¥  1,533+00 0.000 o,00n n,000 0,000
4,000+08 % 1,433+00 0,000 0,00n 0.00n 0,000
5,500+04 % 1,0R87+00 0,000 0,000 n.oon 0,00N
5,000404 * 7,614=-N1 0,000 g,000 n,00n0 0,00N
5,500+08 ¥ 6,116=01 0,700 g,00n 0,000 0,000
0.,000+6L2 * 5,013=N1 0,700 0,00n n.00nN 0.00n
.500404 * 4,179-01 0,r00 0,000 0,000 0,000
7.000+04 *  3,534=01 0Q.000 6,000 n,000 0,000
7.250+04 %  3,2R6=01 9,000 o,00r n,00n 0.00R
7.500408 *  »5,026-N1 0,000 0,000 n.o00n 0,000
7.753+04 # 2,n11=01 0,N00 0,00n 0,000 0,000
&,000+04 * 2.618=01 N.No0o a,00n n,Q0N 0,000
0.250408 *  2,444=01 0,000 0,000 N.00N 0,000
3.,530400 %  2,287-01 0.00Q 0,000 n,00n 0,000
B. 7504040 *  2,144=01 0,000 0,000 n,oon 0.00n
9,000+0n % 2,014=Nn1 0,00Q 0,000 0.00N 0,000
3,250+08 % 1,395-01 0,N0Q 0,000 n,oon 0,000
$,500+04 x 1,787=01 0,000 0,00n f.00N 0,000
9,750+00 % 1,687=01 0,000 0,000 n.00n 0.00n
1.000405% * 1.595«01 2,700 . 0,000 N.00N 0,000
1.200405 % 1,073=01 0,900 0,000 n.00N 0.000
1,400405% %  7,083=02 0,000 0,000 N,00N n.o00n
1,639405% ¥  5,759=-012 1,100 6,000 0,000 n.09n
1.3004058 *  4,470-02 9,000 g.,00n n,000 c,000
2,000+0% ¥ 2,3887+N2  0,00¢ 8,000 n.000 n,ong
2,20040%5 % 2,3704N2 Q,00(0 0,000 n,non n,o0n
2.600+08 * 1,097+N2 0,000 0,000 0.000 n,000
3.000+40% % 1.274+02 0,090 0,000 n.00N 0,000
4,000405 % 7.1A8+01 9,M0D o,00n 0.000 g,00n
5.000+9% * 4,583+91 0,700 0,000 n.pan 0.00n
7.500+05 % 2,039+01 60,000 0,000 N.000 0,000
1.000+16 * 1,147+01 0,000 0,06n n.00n 0.000
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WAV
NOS,
cm—i

1,000+03
1.530+03
2,.0004+83
4,000+03
6,000+03
B,0gJ+03
1.000+04
1,50u+04
2,.000+404
2.,25u+04
2 hud+il
2, 750+04
J.0u0+00
3,25U0+04
3,Hyd+0i
3,750+04
G.0purlL
u.50u+04
5.00u+04
5-505+0&
B,LpL+04L
6,50uu+04
7.000+04
7Byt
7.500+04
T75u+004
8.00ut+04
8.ehu+04
8.':0{]1’0’4
bB,750+04
9,.0pu+0y
9.250+0H
9,.RDJd+004
9,75u+d4
1,0,0+05
1,20u+05
1,.4¢0+05
1.60u+05
1.,40u+05
2,0put05
2.¢0Ut0D
2.(\0”‘["05
S3.Lp0+05
Q‘OUJ+05
5,0pu+05
7 npu+0D

— - ———

*

*
*

TABLE ML
ABSORPTION COFFFICIENTS OF HELIUM
AT TOTAL PRESSURE = 500 ATM L
To APERKATURES (DEG K)
1.000403 ZIUDG¢J3*“ﬁ7ﬁ32§33“”57UUU¥03' R, U000+03
***********4***«************«*f*mgg*iii****#*****i*ﬁii&***if"
A{TOTAL) A{;OTALY  A(TOTAL) A{TOTAL) A(TOTAL)
0.0uc 1, Jun 0,320=12 8,278=07 2,023=04
0+JU5 J,30N Re223=12 5,350-37 1,327=-04
0,000 0,000 ~ LUOOT=-17 3,907=07 9,853=05 7
Ja 00 0,000 9, 4phR=13 1,015~07 2,907=05
ve0Un 0.000 S5,920=1% &,7h6=~08 2,021~05
0,00y d.000 <c.033=13 2,530~-08 8,361=06
0.60¢ n.,00n IJaT1=13 1,572=08 5,3B1=06" "
U000 0,uln Ye861-14 1,291=-08 4.47N=06
¢. 00U, 0,000 He¢212=14 1,082=-08 =,778«086
GO0 U.ugn H,950=14 9,216=09 *%,2L1=06
Ue 0y 0,000 5.901=14 7,954=-09 P2,8l16=06
V.0uQ D.L00 D.200~18 ©u 939~-09 2,46R=06F
Ue0uf n,00n 4o NHI=1  BH,I10R=09 2,180-06
U, Uyn 0.p0r L,034=14 5,415=09 1,939~06
Ue0u0n 0. uge veaMA=iL L B29=09 1,73h=06
U000 O.upn weBTA=14 J,802=N9 1,405=-06
U,.00¢ 9.000 l.702=14 2,310-09 R&,384-07
Ua Uy U,0n leB17=14 1,930-09 7.028=07
g.0un n,gon 4elDP=14 1,638~09 ",0L2-07
U buy 0,300 1.N27=18  1,408=-09 &,157=07
UOGUO D.UUW u.905~;5 1.2?4"09 U.QQS-DT
Ja.UyL 0,000 3+321=15 1,145-u9 4H,212~07
Uo 00 0.00n 74705~15 1,074=09 3,855=-07
UalUGy Beul3 Te313=15 1,010-09 3,7°1-07
L.OGP D200 L. 83%=15 9,51017-10 I,508~07
Uelug 3,300 DMHT7=15 8,970-10 =%,313=-07
J.0G3 0,300 DL,I284-15 B, H877~10 Z,1%4=07
ua0d¢ D,0060 D.792=15 8,025~10 P,970=07
G,000 0.3U8% S.M4%5=-.5 7,6N8=-10 P2,B1°-07
J.U0y N.00" 2.203-15% 7,224%=10 P,878=07
J.000 B.,a0" 4.943=15 ©,R48-10 2,519~07
U0yt D,00" He 70115 6,2%G=10 2,423=07
0.0uq d, 00 b d477=15 6,233-10 2,317=07
U031 T eulit 04157=-15 4,%12=10 1,659=07
Uelhdu Jde G0N Ze34n=1h 3,204-10 1,237-07
UQUJJ UDUOF‘ J-IROQ““L‘; 3.55?-10 9.6"{'3-08
U U3 0,000 L,041-15 2,045«10 7,737=-0n8
3e0L5+0U8  Les07+ul  7.538+403 b5,022+03 3,767+403
2a490+04  L,cH 4o £,225+03  4,1514923 *,113%+03
L,73++ulh R, JLFHUS  §,458+03 2,972+03 °,229+03
Led304uld  5,097+4u3  3,348+403 2,2%2+03 1.674+403
Te334+0L3  3,7/07+ud  L1,0533433  1,276+03 G,417+02
4.822+03  24411+u3  1,205403 A#,036+02 6,027+02
delt3+Ld  1,0714u3  9,357+02 3,572+32 2.5679+402
1.200 +03 6.027402 3,013+4902 2.009402 1.507+402

1,.0pu+06

L L I B SR B B I A B N N A S S R A A R I IR AR I X IR I T N R T
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TARLE NI
ABSORPTION COEFFICIENTS OF HELIUM
- AT. __TOTAL PRESSURE = 8500 ATM

WAVE * TCAPERATURES (DEG K)

Nosl. *  1,000+04 1%, 5UU'¥U"$"T.‘IFD:£LJ-’U"1F““ T.80TF04 T, B00+NG™

r - b 4 -
**Eﬂ***t*********=|=****"****EE*%*i‘f*****#i?&ﬂi*i*n“***sw**sc*i***

* A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)

1000403 *  %,945«0% 4,?215«-02 2,BAZ=D1 T.685+70 9,323400
1.50049% % 5,208-03 2,A66~02 1,482=01 2,289«01 4,3084+00
2.,000403% % 2,430-03% 1,973=n2 [,026<01 ~S.100=NT" 2,539400
4.,000+0% % 1,213=-03  1,002=02 4 71R=02 1.867=01 7.,310=n%
6.,00)+03 *  7,087-04 6,733-03 3,164=02 1.,163=01 4,039.n1
8,000403% x  5,6RB=0N4 5,M01=03 2,3R1=02 8,543=02 2,790=01
1.000408 * 4,348.n4  3,022-03 1,80R=02 /,771=02 2,140=01
1.,500+408 % 2,567-04 2,439=03 1,23U=0(2 U,43R8«N12 1,6365«01
2,000+04 * 1,711-08 1,A75-N3 8,594=0% "%,000=N2 9,250=N2
2280400 % 1,840-04 1,U26=03 7,.365=03 P2,636=02 7.734=02
2+500400 #  1,229-04 1,230=0N3 §£,397=03 P.285=N2 6,617=02
2,750404 *  1,0p6-04 1.086=03 5,831=03 2,176=N2 &,575«=N2
$L000400 % 9,455.05 1,P23-nr3 £,17°=03 2.691=N2 9,359«02
3,250+400 *  H,333-05 9,N66=04 §,491=03 P,.380=N2 8,278.02
3.500+400 % 7,385«05%5 B8,.032~04 4 83N=03 2,077=-N2 7,111=02
3,750400 %  £,587=05 7,161=-04 4 282=03% 1,823=02 6,173=02
4,000408 x  5,940-05 6,555«~"§ 3 9GR=(03 1,732=-N2 5,928a02
4.b0T+0L *  4,9%2=n5 55,3414 3 . 247=03 1.391=NP 4,702=02
5.000494 % 2,911-05 3,790~04 2,069=03 9,209=03 3,207=02
He500+00 %  2,B48=05 2,769-04 1,73%=03 7.671=0% 2,65N=N2
0,000+06 % 2,080.05 2,365-04 1 478-33 A.500=N% 2,230.02
0,000+00 ¥ §,806~N5 2,NM4p=04 1,276=03%7 K,586~-013 1,905«02
7,000+408 % 1,577-0% 1.789=04 1, 114-0%3 #,85A=N3 1,649wn2
7.250+404 % 1,479=-N% 1,A79=N4 1 ,045=03 4.,54A=03 1.541-02
7.20040% %« 1,391=N%  1,579=-04 Q,81R=0i &,266-03 1,442-02
7.750400 ¥ 1,310-05 1,087-04 0,247=04 4,011=03 1,353=02
d,000+00 % 1,2%6=-N5 1, 004-04 8,726=04 3,780=N3 1,273=02
Le2b)+00 % 1,1468=0% 1,%28=N4 8, 200«04 3,569=03 1,200wn2
J«2I0+0H % 1,106-N5 1,258=N4 7 81104 3I,376=013 1,13%«n2
0. 750404 ¥ 1,009«05 1.194=04 7 400w0l 3,108«03% 1,072w0?
5,000+04 % I,965-05 1.134=n4 7 032=04 F,035-13 1,018-n2
34230404 % 9,477=0N6  1.N79=04 6,695=04 P,884=N3 9 ,H3H=NF
F,500+00 ¥ 93,025-08 1.,N28=-94 £,377=04 2,744=N%7 9,157«03
F,730404 * A,6N6=N6 F,09=05 6,0872=04 2.61%5=N% B,715=n3
1.000495 *  8,216-06 7,.%68~15 5 80f=04 2,495-A3 R, 305=03
1,20040% ¢« 3,831=Nh 6,725=n5 4 16L=04 1,780=N3 &, 377=n3
1,400405 % 4,479=015 5,177=05 3, 14204 1,.,337=N12 4,391an3
1.600405 % 3,4A3-086 B3, N77=N5 2,450=04 1,044=Nn3 3 0410=n3
1,300+05 *  2,7%86=-NA 3,204-=N5 1 ,980=04 R,378=N4 2,726-N%
2,00040% * 3,013+03% 2,511+403 2,151+403 1.879403%  1,.660+03
2,200408 % 2,490403 2,075403 1,77R+0%  1,55340% 1,37240%
2,000+47% *  1,793+03 1.1486+03 1,273+N3 1,112+403 9 ,8254n2
3,000425 % 1,3%9403 1,116+4N3 g ,661+402 A,349+N2 7,370402
4,000408 %  T7.534+02 G2P78+4N2 S5,.378402 U,.696+N2 14,151402
5.000+0% * 4,822+402 4,N18492 3,.442+02 7,006402 2,657+n2
7.300405 ¥ 2.143+02 1,786+172 1,.530+402 14336412 1,181402
1,0004P06 *  1.,205+02 1.004402 8,605+01 7.514+401 6,.641401

b5
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TABLE VT
ABSORPTION COEFFICIENTS OF __HELIUM

ko

AT TOTAL PRESSURE = 500 ATM
WaVE  * TEMPERATURES (DEG K)
-7 HeS, * 2,00C+04 TZULUGFUF  2,400+04 2,500+04 2,800+04
cu=l  x ———cnTl— — _
% ke o K ok sk O e e o o 0 S oofe K sk ok AR s 3K ke o ok ke sk 3k ok o o 3ol o oK ok ok K ke e ok o kol ok ook ol ke
*  A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)
1,0p0403 % 3,956+01 1,308+027 3.568+02 7,619+02 1.422%03
1.,500403 % 1,793+J1 5,36R0+y1 1.549+02 3,404+02 6.,351+02
2,000+03 *  1,031+01 3,391+01 5,787+31 1,927+402 3.592402
4,000403 * <£.603+00 8,379+Y0 2,200+01 4,866+401 9,184+401
6,000+03 * 1.322+00 3,0539+30 9,592+00 2,051+401 3.,777+01
6,000+03 x 8,579~01 2,377+yC_ 5,736+00 1,198+01 =,171+401 _
1,000404 * b,300=d1 1,083+00 3,9%9+00 8,132+00 1.457+401
1,500+404 % 3,809-U1 9,0l7=0l ,155+00 4,265+00 7.435400
2,000404 * 2.,30¢=U1 5,580=01 1,206+00 2,335+00 4,026+00
2.,250+04 % 2,023~=Jd1 4,590=01 9,493-01 1,814400 3,106400
2.500+04 x  1,79y2=d1 3,341~01 7.966=-01 1,449400 2,458+00
2.753+04 *  1,723-91 #4,372-uyl 3,434=-91 1,526400 2.454+00
3,0UJ408 % 2,699=J1 6,534=d1 1,392+00 2.5356+400 4,043+00
JoaHd+04 ¥ 2,376=-01 5, /76=-91 1,211+00 2,228+30 3,561+00
3.500+04 *  2,02:=01  +,.380-ut 1,018+30 1,864+00 .028+00
3,75u+08 *  1,740-91 H4,i76=d1 4G,671=01 1,581+y0 2,557+00
G, 0ud+048 *  1,674=J1 4G,ui4=gl 5,281=91 1,S501+400 72,407+00
4,500+08 x  1.314=01 J3.120=01 &.4006-01 1,154+00 3,8445+400
S, 000408 *  9,134=u2 2.180=¢1 4,507~01 &B,115=91 1,291+00
5.,50J0404 % 7.435=0z 1, /86h=ul 0,6%2~J1 6,571-01 1.,043+00
6,0u0+04 % be2ob=02 1.486=ul J,034=01 5H,H426~01 AR.588~01
6.5UU+0“ * 5.3&5-02 1|ﬁ57-ul Egsqq-Ul u.5q6-01 7.193-01
7.000+04 +  4,58%=-v2 1l,u77=ul 2,182=-01 3,B8R0-01 6,110=01
7.250+04 *  4.,274=02 1l,u02=ul 2,026-01 34,597=01"R,657=01
7.5u0+404 &« 3,9295-y2 9,544~-d2 1 ,387=01 3,344=01 <,255=01
7.750+04 % 3,745=~U2 8,737=U0z2 1,761=01  3,117-01 4,800=-01
b,0pL+04 « J.5lu=02 8,191=-y2 1,648=31 2,912~01 U4,564=01
B, iHuU+04 % 0,JUb=02 T,p9%=y2 1,b85=01 2,727=01 t,269=01
B ,Buu+04 %  F.115=92 T,2404~gz ,452=01 2,560~01 4,032=01
B,750+04 *  £4941=02 Haald7~ue  1,36%=01 2,407=-01 3.759=-01_  _
9,000+04 % £,783=02 6H,udu=yu2 1,291~01 2,268~01 3,538-n1
9,25ut04 *  £,037=02 BH.a0h=yp 1,221-01 2,182-01 7,236=01
9,.u00+04 » Z,3d.=02 B,;8"=JdF 1.156=-01 2,026~01 *.151~-n1
G,75U+004 * c.078=02 5,480=u7 1,096-01 1,919-01 2,980-01
1,004940% *  Z,20l-02 5.217=uv2 s.080-451 1,821=01 2.826-01
1.Ebd+05 * 10567—32 3-u27-03 /vlbq“de l.2bb~ﬂl 1-94?-01
L,ugus0d *  1,170~L2 Z.oulua=ul 5H,247=02 9,061~-02 1,.,390=01
1,600405 *  9,090=03 2.dd4=-y2 4,010=-02 ,,3890=-02 1,052=01 .
1,80u+l5 *  Tedde=Ud l,u2”=ul 2,164-02 2,410-02 8,237=-02
2.,00U+05 % L 4T7E403  3,L07403 1,180493 Y9,837832 A,210:02
Cooputis *  L,2194+03 L,ubi+d3  9,487+02 0,130402 A,.792+02
2.Bputlh *  LL.T26+u T 37HUS 6, 771432 5H,8321402 4H,.08563402
3,00U+05 k% HJHLHHUZ2 B, 00A4+u2  5,.086402  4,372402 1.5%3+02
G,000+05 *  3,607+02 3.267+02 _ 2.861+402 2,439+02 2,055402
5,000+05 % 2,300402 2.991+32 1,A831+02 1,574+02 1.317+02
T.850U+05 *  1.049+02 9,29%+01 L,137+01 6,9295+01 5,845%5+n1
1,06004056 % 5,900+01  S.227+01 u4,.w77+01 35,.23%5+401 3.28%+01
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rasLe X1
ABSORPTION COEFFICIENTS OF HELIUM
AT TOTAL PRESSURE = 500 ATM

WAVE * TEMPERATURES  (DEG K)

NOS. 4 3.000%08 Tg,hed T 0,000 T .600° 0,800

cu™t ¥ — Ch_ —
************************************************************

* A(TOTAL) A{TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)

1.,000+03 %  2,29%403 0,000 0,000 n.o00 0,000
1,500+03 * 1,024+n03 0.000 0,000 0.000 0,000
2,000+40% * 5,790+02 (,.000 0,000 g,00n 0,000
4,300+40% * 1,485+02 0.700 0,000 0,000 0,000
6.000+403 * 6,126+401 0,000 0,000 0,000 f,000
8.,000+03 * 3.452+01 0.000 8,000 n.o0n 0,000
1,000+04 * 2,292+401 2.M00 8,000 n,oon 0.000
1.500404 * 1,147+01 0,000 0,000 0,000 0,000
2.000404 % 4,167+00 0,700 0,000 n,o00 0.000
2.250+94 *  4,7747+00 0,000 0,000 n.ocn 0,000
2.590+04 % 3.740+00 0,000 o,nan t.000 0,000
2,790+04% x  3,643+00 0.000 0,000 n,000 0,000
31000"‘“”’ * 5.730"’00 D.QOO 0.000 U.DU"I 0.000
3.230+04 ¥ S, 0ui+00 4,700 g,00n N,000 0,000
3.500+08 *  4,295+00 0,000 0,000 n,00n 0,00n
3.750+04 % 4,703+00 3,700 0,000 n,000 n,00n
4,000+08 x  3,4857+00 0.000 n,000 0.000 n,oo0n0
4.0004+048 x  2.033+09 0,000 n,00n n.00n 0,600
5,000+ % 1,834+400 J.700 0,080 n.ooo 2.000
5.500+404 %  1.478+00 1.700 0,000 N.000 n,0o00
H.000+04 * 1.214+%0 n,700 0,000 0.000 0,000
w.500+04 * 1,015+70 0.700 0,000 n,gon 0,000
7.00u+08 x  B.604=01 0,000 0,000 n.000 0,000
7.250+404 * 7,959-01 0,000 0,000 0,000 0,000
7500408 % 7,383=-01 9,000 0,000 n,00n 0,000
7.750+00 *  B,0A6~-N] 0.000 0,000 .00nN 0.000
beUNU+LR % 6H,401-~11  0,N00 0,000 0.000 0,000
B.2B0+01 ¥ H,%R2-N1 9,000 g, aan0 0,000 n,uon
Ly B00+CH % 9,602~91 N.700C 0,00n n,o0n0 0,000
G 750+ x  5H,257-01 9,000 0,00n n.00n D.0600
G,000+08 * 4,943=01 0.700 g,00n 0,000 n,00n
9,250+0U0 % 4,0656-11 0,700 p.o0rn 0,000 0.000
9,500+00 %  4,39%-01 (0.000 0,00n N.000 0,000
9,750+04 ¥ 4,152-01 0,700 0,090 n.,oon 0.000
1.000405 ¢ 3,930~01 0.700 0,000 n.oon 0,000
1.200+05% % 2,0A04-01 0.700 0,000 0.00n n,00n
1.,4004+05% *  1,913-N1 0.900 0,00n n,qaoo 0,00nN
LebDU+0NS % 1,%43=-01 0,700 0,090 n,N0N n,000
1,500405 % 1,123-01 1,700 0,000 N,000 0,000
2.007405 %® 6632402 0,700 o,00n n.000 n,aQn
2,20U0+405 % H,482+02 1,700 c,o0r n,no00 0,000
£46004+75 ¥ 3.925+02  3.700 o.,00n n.oon n,agn
3.,009+05 % 2.,94x3402 0.700 o,000 0.00n n,oan
4,300405 % 1,05%+02 3,000 g,00n 0,000 0,000
5.000+05 ¥ l.U0A1+0N2 0,000 o,non n. 00N n.oop
7.909+05 & 4,717+71 0,000 0,000 n,gan n.0o0
1.000+1% ¢  2,0653+0L  0.700 g,00n n,00n n.000

b7
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WAVE

—-—TpSs

1,000+03
1,560+03
2. 000+03
4, 0pu+03
6,000+03
8,000+03
1.00U0+04
1.50U+04
2.0p0+04
2,250+04
2.5u0+04
2,75U+0%
3,0p0+04
3.250+04
3,500+04
3, 75u+04
4. 0u0+00
G,.500+04
5.,000+00
5,b5pu+04
6,000+04
6,50u+04
7.00u+04
7.25u+04
TQSGU+04
7.75u+04
B,0g0+04
8,¢su+lh
8.500+04
8,.754+04
2,000+04
8,z50+04
9,5¢0+04
9.,75u+04
1,0030+05
1,20U+05
1,4¢J+05
1.@0d+05
1,.8¢pU0+05
2,00u+05
2.20u+05
2.BOU+0LS
3,000+05
L, 00Jd+05
5,0,3+05
7.50U+05
1,.00J+406

*

AT

TABLE I
__ARSORPTION COEFFICIENTS QF HELIUM
TOTAL PRESSURE

= 750 ATM

TEMPERATURES _(DEG K)

¥ 17000403 =, J0UFUI R, ODOF0S

*

o A R R R N T H RN KK E KK E KKK KREFERF K KE N R KRR KN KRR

A(TOTAL)
0.000
G,0uc
0,000
0.0uUn
8,000
U0.089
0,Uug
U000
0,000
Ue0uUs
U, 040
C.0UQ
0,000
00Ul
6,000
U, 00
0.00G
U,00¢
U,0yn
0.0uu
Na0uUl
U,0J0
0,000
u,0ur
6.009
g.00g
0.000
UeOut,
0.00C
U.00n
U.UUU
O.004
Jd,00cC
Uel0UN
Us0d0G
J,00¢
0.,00¢C
0,006n
0.000
4,02G+04
Se736+04
2.675+04
2.009+U4
Lel3u+uld
Te232+03
3e214+03
1,806+03

A{TOTAL)
0.00N
1.000

0.,00Nn
0,300
U.UD”
0,400

f.00n
C.00f¢
0,u0n
0400
C.o0r
J.00n
J.000
D.GO“
D.00n
0.00n
d,000
0.00r
N, 000
g.00n
0.00"
0,000
DaJOQ
N.Q0nN
eugn
0.00"
Bouln
O.000
9. gur
d,30°
0,300
0.001
22034048
1.363+yl
1,537+uty
1,0004+44
Se059+43
Je0lf+u3
1,00~ +43
Q.uln+ae2

13

o, UUU+0US

S,J0U+03

A(TOTAL)

A(TOTAL)

LM T
T e e 3 o e S e e o o o o B ke e KRR o KRR K SOK sk ok ok 3k K TR O Bk KR TR ROR AR KR ok

A(TOTAL)

17822=11"1,571=36 ~3,716=04
lolliti=11 Y9,8BU46=07 2.439=04
0.G0N T B, 08%=1Z2 " 7. 179=07 1.aI0=09

51210“12 $|l76-07 8-590-05
“1.739=12 1,8R5~07 %,3451=05
1.089=12 1,239-07 3,713~05
7.,453=13 B8,860=08 2,753=05" "
3.679=13 K, 648=~08 1,536=05
22813 " Z,889=08" "9,856-086
L.H812~13 2,372-08 R.212=06
1.509~13 1,988=08 6,.942~06"" "
1,276=13 1,693=N8 5K,954=06
1,090=13 1,461-08 5.173=06
4,552=14 1,275~08 4,534=06
G,300=10 " I,I7P2=08 " 4,005~06
T311=104 9,948=09 3.562-~06
Dtbg?-lu ﬁoB?Z-Og 30188-06
5,288=14  7,150=09 2,581=06
3.127“1q 4.244-09 1.540—06
e602=18  3,540-09 1,291=06
2.204=14 3,008=09 1.099=06
1,8087=14 2,5p6=09 9,471-=07
lL.636=14 2,248=-09 B8,255=~07
Leh29=14 2,104=09 7,734=07
La340=14 1,855=09 6,833=07
1,265« 1,747=09 AB,442=07 ~
Le172=18 1,088=09 6A,084=07
10125-14 1.557-09 qo?Sﬁ“O?
Lo 064=14 1,U474=09 S.454=07
1,00R=14 1,3983~09 5,176=07
90559-15 1.327-09 u-919“07
2,030=15 1,262~09 4,680=07
5,6%27=1" 1,201~09 4,460«07
c.225=15 1,145=09 4,254=07
5,797=15 6,106~10 3,029-07
4,298~15 b,052=10 2,272-07
$.322-15 4,698-10 1,771=07
2'6Q6-15 3.756“10 1-421;07l
1,130+404  7,534403 5.650+407%
$.339+33 6,226+03 4,670+403
0eBBTHLI  4,458403 2,343+403
5,022+33 5,3u8+432 2,511+03
e 825403 1,8R3+403 1.413+03
1.038402 1,205+03 »,0480402°
8,036+02 9,357+32 4,018+402
4,520+32 3,013+402 2.260+02
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WAVE
‘NOS,
=1

TABLE T
ABSORPTION COEFFICIENTS OF HELIUM
AT TOTAL FRESSURE = 750 ATM
* TEMPERATUPES  (DEG K)

* C1UU00+0% T T5200+058 1, 00T+0% 1 J600FTR -1 50N+ T

*

PES It A2 22 EE L PRI FL 22 E FFEI IR ESTTERT VLI FTEL T2 25 FEFTTHY

1.000+03
L:500+0%
2,000+0%
4,000+03
H.,000+40%
d,000+03
1.000+04
1.5904+00
2.,000+008
2,250+0u0
2‘500+0u
2 ToU+{U4
3,000+04
3,250+04
3.500+04
5.?b0+0u
4,000+00
4,500+04
5,000+04
L.S06+0Y
5,300+
De200+04
7.003+00
T.250+04
7.500+04
7. 750+04
8,000+04
Be200+04
84500+04
B, 7H0+0"1
9,000+N04
F.250+04
90500+0“
G9,750+00
1,000¢08
1.200+085
1.400+40%
1.600+0%
1,800+0%
2.,000+05
2.200+40%
29000+05
3,000+0%
4,009+0%
5.000+0%
7.500+0%8
1.000+96

LR RS AR R R R IR R R EE R E R R E T E R

A(TOTAL)
9.076=03

T LAk =03

2,2R%=03
1,449-03
1-045-n3
T-QQU"OQ
4,717-04

3, 145-08"

2.0U06-04
2.260-04
L.958=-00
1.732-0Q
1.5°27-04
1.353-04
1,2N7=04
1,038=-04
H.35l-ﬂb
5,327=-n3
4, LRH=-N5
3.824~05
2.887-08
2. 708~-n5
2.5045-n%
2.397=N5
2,262=05
2.139=0%
2,025=0n5
1,920~05
1.52u—05
1.735=05%
1.£52-05
1.575-05
1.50%-05
1,076-05
8,108=-0%
0. 340=05
50192-06
4,520+03
3.736+03
2.675+03
2.009+r3
1.130+03
7.232+02
34214402
1.808+n02

k9

A(TOTAL} A(TOTAL) A{(TOTAL} A(TOTAL)
“TLBI6=U2 T U RUIN0T T TPLEIEENT T IIUSOR0T
G, A42=02 2,.567=01 1,342+N0 6,733+n0
T3 B%e=027 IVTORST1T TRVBIRSTY U UF, 99540
1.836=02 8, ,469=02 3,192=01 1,18%4+0D0
L.235=N2 5 ,722=02 2,027«01 6,70N=01
176=13  §4,321=02 31,504=~01 4&,69R=N1
7.196=03 3,450N=02 "1.199=01 - 3,638=01
L ,t74-~03 2,243-02 7,899-02 2,3u48=n1
3.076=13" I,.569=02" K,548=T2 "I,B1%=N1
2,619«N3 1 _346=02 4,752-02 1,362=01
2.259~03 1, 170=02 04,132=N7 1.171-01
1.991=03 1,060=02 3.8061=02 1,147=N1
1.,R53=-N3 1,0092-02 14,59R=N2 1,540n1
1.643=03 9,700-03 L,0RAR=N? 1,373-N1
1.457=03 B8,56R=03 3,572=02 1,18R=N1
1.700-03 7,615=03 3,147=-n2 1,038-01
1.187=03 7,076~03 2,974=2 9,880~n2
3,683=-N4 5 75A=03 2,399~12 7,886-02
5.901=04 3,642«03 1,572=02 5,322=12
5¢M03=04 3,061=03 1,31%=02 4 ,418.02
4.°76=0N4 2 . 611=03 1.115=02 3,725=n?
3.700=04 2,257=03 9,603=N% 3,191-n2
3.736=04  1,9727=03 A,363=N3 2,76R.02
3.037=04 1 ,850=03 7,835=-N3 2,588=02
22R57=04 1,739«03 7,357=N3 2,428%.02
2.692=04 1,630=03 §,923=N3 P?,278~=N2
2.542=nY4 1 S47=03 A,527=03 2,14002
2.804=-04 1 U4BT=03 HL,166=-0N13 2,022-02
2.778=-04 1,38%=0% 5,83%=03 1,911=Nn2
2.161=N4 1 ,314=03 5,531=03 1 _800~n2
2.184=01 1 243003 R,251=03 1,715=02
1.954=N4 1,18R=03 4,992=03 1,62R8=N2
1,962-04  1,132=03 4,753=13 1,540an2
1.,777=04 1,080=0% 4,531=N3 1,475=n2
1.597=N4 1,031=03 4,324=03 1 _406en2
1.,219=-04 7, 406-04 3,092«0% 9,98%5-0%
3,203=-05 5,593=04 P2,32R«N3 7 480=N3
7.212=05 4,382-04 1.,820=N3 §,823-03
5.012=05 3,531=04 1.463=-0F3 & ,HAA5«N3
I.767403  3,227403 £,B194N3 2 _43u4nz
3113403 2,667+03  2.,330+0% 2 ,061+N3
2.729+03 1,9103+03 1.66R+03 1,476+03
1.574+03  1,.43U4403 1.2534+N3 1,10040%
FMH16402  B8,06R+02 T.,04RFD2  £,.236+02
£5,927402  5,16%+02 4,511+n2 3,991+n7
2.578+02 2,295+02 2,005+02 1,7740+402
1.507+n2 1,291+02 1.128402 9,977+0%
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TABLE T
ABSURPTION COEFFICIENTS OF HELIUM
AT TOTAL PRESSURE = 750 ATM

vAVE ok TCMPEKATURES __(DEG K)

NGD . *  2,000+08 "2,200F00 2L 800404 2.600+04 2,300+0%

cM~l o« el ———
F ok oK R ok AR e A K o FK T A AOKR N A 3K K o ok ke s ok s oK s ok ok R K ok R st ko ok kR ok ook

*  A(TOTAL)  ACTOTALY W (TOTAL) A(TOTAL) M (TOTAL)

1,000403 % 6.133+401  2,031+02 5,43%6+02 1,214+403 2,311+03
1.,500+03 *  2,776+01  9.i134ul  2,430+402 S5,418+402 1.031+03
2,000+403 *  1,599+01 S.191401° "1,373+02 3,065+02 5.B30+02
4.000+403 *  4.194+00 1,309+01 3,454401 7,736+01 1.438+02
6,06U+03 * <Z,147+00 6,u52+00 1,512+01 3.265+01 6,.,118401
8,0pu+03 % L,391+00 3,77°44y0 9,08%5+00 1,911+01 3.518+401
1,0u0+04 *  1,03:+Y0 2,098+00 ©,299+400 1,320401 2,363+401
1,500+404 % £.329-01 1.0560+00 3,4R0+00 6,856+00 1,209401
2,000+04 % 4,015=01 9,25%=yl 1,970+400 3,804+39 5A,611+00
2,c5U+04 *  S,4d3p=01 7,077=ul 1.5»5+00 2,979400 5,129+00
2,50U+04 ¥  2,900=01 H,025=yl 1,322400 2.,324+400 4,082+00
2.750+04% *  2,9384=91 6, /b3=ul  1,394400 2,501+90 4,0%52+00
3.,000+04 * L .3by=ul 1,357409 2,212+00 &,045+00 6,524+00
J3.250+04 % 3,301=01 7, _3%=yl 1,923+30 3,560+00 R,756+00
3,50u+04 *  J,29h=dl  T,olb=01 1,8623+00 2,989400 4,908+00
3, 75d+04 x gL b49=uU1 H,,38~0u1  1,391+00 2,542400 4,155+400
4,000+004 x  2,700=dl  H,45f=vl 1,326+00 2.410+00 3,907400
Ho50Jr0+ ¥ Jela/=U01  H.047wys 1,0931400  1,.352+400 T.005+400
S,UpU+FUS 2 ledoSh=ul  S.ula=gl 4,210-01 1,302+400 2,095+00
S,EUUHld F LeZea=ul  2,0T71mul  L,ATT=01 1,957+400 1.696+00
GOGUU*'D";’ ¥ -L!Gﬂif"-u-‘- (?.."fU?J""Jl ’-i.ﬁ'ﬂ—dl 5.766"'01 -}-.‘100"'00
O,5uutld & 0,74, =d2 2,037=yl 4,124=031 7,370~01 1,175+00
7000404+ 7,545=02 1,./51=g1 3,5%%=01 6,289~01_1,000+00
T.e50¢08 ¥ 7.041=02 1.637=ul  3,281=01 5H,336=01 9,270=~01
7.500+04% « L,Su7~02 1,,272=ul 5,0589-91 5H,4%1-01 2.615=01
T.75d+06 ¥ 0.177=02 1.428=~u1 ,857=01 5,067~-01 92,028=p01
B U0u+us ¥ 2.806=92 1,537=ul L,676-31 4,729«01 7,498«01
E,250+00 « L bGon=U2 1., 57=yl 2,H11=01 «,442-01 7,019=01
B,hputhd *  5,10h=u2  1,1l84=ul . ,.363-01 H4,172-01 K,586=01
B, 75u+00 ¥  9,871=02 1,.1h=ul  2,220=-01 &4,927=01 +A.191=01
S,000+04 + Uypli=Jd2 1,u57=0)l .,194=-91 3,7n2-01 5.831=01
9,20utll k¥ 1,375-32  1,000=91  L,990~-41 3,499=01 =,502-01
G, 500+ *  dalbs=02 2,4b62=uz2 1, sBA=(1 0,312=01 5.20n=n01
G,7hu+0H k5, 94G=02 9, =y, 1,789=01  5,140=01 4,922~01
1,000+05 & 3.7b1=d2 8,006"U2 1,039-01 2,981=01 U,369~-01
l.cypurl5 & 2,643«02 5,23%=42 1.176-01 2,048-01 3,191-01
1,400405 *  1,973=U2 54,427=u2 0,648=02 1,496=01 2,317«01
1,eQu+05 % 1.520=02 3,412=y2 »,632=02 1,lu2=01 1,759~-01
1.,8yu+05 %  1.219-02 2,,11=y2 5,247=92 #H,995~02 1,380=01
2ICUU+Ub * a'adl+J3 10376+U5 1.74U+d3 l|510+03 1.2&8+03
2.200405 *  L.bJIb+93  1,637+u3  L,4481+403 1,23+33  1,.004+03
2,0LU+05 % 1.514+d3 1,109+ u3  L[,032403 B,971+02 “T,621+92
S.00u+0D % BLBTL+J2  d.48%+4U2  7.,751+02 6©,7F3+02 6, 72H+02
G,0p0+00 *  DW502+492  H.98140z  4,350402  5,790+402  3,220407
D,00uU+05 *  3.553+d2 3,10°+42 2,790+02 <£,406402 2.001+402
7.E0u+05 % L.079+J2  1,5%0%+02 1,240402 1,073+02 ",1%3+01
l.0gu+le * J.803+01 7,900+0l ©.975+01 o,.064%+01 3,152+01

50




TARLE

AN

ABSORPTION COEFFICIENTS OF HELIUM

AT TOTAL PRESSURE = 750_ATM.

WAVE * TFMPERATURES (DEG KJ)

NOS, % 3. 0004064 0,900 0,000 N,000 0,000
—cm=l- x cm~1
ook gkk *********************************#*t***************t*

- *  A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)
1,000+03 * 3,838+03 0,700 0,000 0,000 0,000
1,500403 % 1,712+03 0,900 0,000 0,000 0,000
2.000+03% # "9,674+032 n.noo“" g,00¢ Y 1o o B I 1 1 B
4,000+0% % 2,477+02 0,000 0,000 0.000 n.000
6.,000+403 * 1,020+402 0,700 ~ 9,000 0,000 " 0,000
8.,000+403 % 5,744+401 0,700 0,000 0,000 0,000
1,000+04 x 3,313+01 0,000 0,008 ~ ~ "0.00n 0.000
1.500+04 * 1,909+01 0,N00 0,000  n,000 0,000
2.000+08 * 1,044+n1 0,000 0,000 0,000 0,000
2,250+08 * 7,990+00 0Q.000 4,000 0.00n 0,000
2,5004+04 * b6,322+00 0,000 “o,00n 0,000 T70,000
2.750404 * ©,136+00 0,000 8,000 0,00N 0,000
3.000494 % 9.463+00 0.000 9,000 N.0a0 " 0,000°
3.250+04 *  8,328+00 0,700  _ 0,00n _ n,00n 0,000
3,500+00 = 7,113+00° 0,000 0,000 n,000 0,000
3,750+404 * 6,l46+00 0,000 0,000 f,000 0,000
4,000+408 %  5H,733+00 0,N00 0,o00n n.000 0,000
4,500408 % 4,3R1:00 0,000 6,000 n,000 0.000
5,.000+008 % 3,040+#Nn0 9,700 0,006 n.,00N 0,000
53.500408 % 2,4%54+00 0,700 0,000 De000N 0,000
6,000+ *x  2,021+00 0,000 0,000 n.00nN n,oon
H«500+04 %  1,6092:00 0.0P00 0,00n N, 000 N,000
7.000+90 % 1,837+00 0,000 0,000 0,000 n.000
7.250+0% % 1,330400 0,N00 0,00n n.000 0.00n
7.500+04 % 1.235+00 0,000 0,000 N.000 n,000
7.750408 x  1,150+00 0,000 0,000 0.000 0.000
3,000404 % 1,073+00 0.N00 0,000 n,00N 0,000
Je253+0u %  1,003+00 0,000 0,000 n.no0 0,000
£.503+04 % 9,4090=-N11 0,000 0,00n n,00N 0,000
B.750+04 x  8,827-01 0.000 0,000 n,00n 0,000
9,000+04 * 5,306=01 0,000 0,00n n,00nN 0,000
9,250+08 *  7,329-01 0,100 0,000 0,000 n0,00n
9,500+048 * 7,392-01 9,700 0,000 n,000 6,000
9,750+04 ¥ o0,991=01 0,700 0,000 n.,oon _ 0,000
1,000405 % 6£.621=01 1,100 0,000 0. 000 0,000
1.200+0% % 4,507-n1 0,700 , 0,00n N.00N 0,000
1.400405 % 3,248-01 0,N00 0,000 D.000 0,000
1.600405 % 2.454=01 0.700 0,000 0.00n 0,000
1,800+0% * 1,918=01 0,n00 0,00n 0.000 0,000
2.000+405 * 1,065+03 0,000 0,000 n.000 0, 00N
2.200+405 * B8,810+n2 0,000 6,000 n,oon 0,000
2.000+0% *  5,308+02 0,000 o,00n nN.00n 0,000
3.000405 % 4,733+02 3,000 p,o0n N.00nN 0,000
4,000+0% * 2,663+402 0,000 0,00n n,000 0,00n
5,000+0% % 1.706+02 0,N00 0,00n n.oon n,Q00
7.500+05 % 7,581+01 0.N00 0,000 n0.00n n.000
1.000+406 & 4,2A4+401 0,000 0,00n p.00N n.000
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TABLE T
ABSORPTION COEFFICIENTS OF HELIUM —
AT TOTAL PRESSURE = 1000 ATM
WAVL * ToLwPTRATURES (DEG K)
_ N0§£ ¥ 1,0004+u3 E.UUU¥UB‘”ﬂ.ﬁﬁﬁfﬁ5 6, 000+03 "R,U0DF03
- * — -
**Ji#*******************x*****xt*Sf*i&i*i*****#****f@?i*?fﬁﬁﬂ"W_
¥ A(TOTALY  AGJOTAL) -A(TNTAL) A(TOTAL) A(TOTAL)
1,660+03 % U,000 C.00n E.B806-11 2,3u2=0p 5,722=04
1-bUU+03 * U.UG(‘ G.L0oC l,762=11 1.,516~06 3. 755=04
2. 060+03 * 0,000 0,000 ~° 1,705<17T" I,105-06 7.7B7=0G —
4. Gyb+03 » 0,000 C.00n L,gu4e=12 H4,B889=-07 1,323=-04
6,0G0+03 % 0,000 0.000 2.67P=12 2,872=-07 18,224=0%
&.DUU+O3 * U.OU(J D.UOO 1.677“’1? 1.908"‘07 ::0718"05
Y.000+#04 % L,000 0.00C 1,T4B=12 1,3R4=-07 4,239a08
1,5pu+04 x  0,0u0 0.,00¢ 5.665=13 7,1%6=08 2.366-058
2.0p0+04 x ©,000 0,500 ° 3LEPE-T3 "W, 447=08 " T, B2Za0RTT
2.2504+04 x 0,00¢ 0,000 2.,789-13 3,652=08 1,264=-05
2,502404 &+ U,000 0.uln 2e323=13 3,061=08 1,06%9«05
2.75Jd+04 » U,00¢ D.00N 1.,863=13 2.607=08 GQ,168=08
3,000+04 *  0,00¢ G.0un 1,698=13 2,250~-0f 7,96U=06
J3,250+404 &« 0,00u UeuGn 1,471=13 1,9€3=08 6,979=06
3.500+046 % 0,002 0,004 1.201-13 1,728~08 6.1866-06"
3, 75u+04 *  (,004 0,00t 1,141-13 1.522=08 F.484=06
L,opu+04 * 0,600 0,000 1.015-13 1,366=08 #,.807=06
4,50u+00 = u,Gup Qey0n e ll2-14 l1.,1n1~08 2.974=06
5., 00u+04 » U, 09¢ DO 4.,910=14 6,535«09 2,370-06
5,004 *  Q,uUC C,unn 4,007=14% 5,459=-909 1,987=06
6.C0u+D4 = §,Juf 0.40r S.3P0=1U4  4,632=08 1.691~06
6,50d+04 » J,00C e 0O 29304 =184 5,9F52=00 1,458=06
7.060+04 % O,Uug e Qun 2v518=184  3,461-3¢ 1,271-06
T.ehut08 = O,0u( Na Ut e 30314  35,239=09 1,191=06
Thuug+bt % 0,000 Ny GUn e 20T=104  3,038~09 1,118~06
T, 750+04 %  w.Gov 0,u0n e 07N=104 2,856=09 1,052=06
6,0p0+04% * 0,000 N,uge l,0947=14 2,6f9=00 9,g9l16=07 ~
8,253+04 »  u. 0060 G,uun 1.835=-14  2,537=09 ©,365-07
G.r\UU'i'Oq- * U,dud Fouuf 1,732=14 2,398=-09 P.860=07
B,.750+04 « 0,00 D.uUC Le338-18  2,270=09 P ,395«Q07
9,000+04 *  J,00p 0.000 LePR2=14 2,1%2=09 7T,947=07
9,253+04 * w,.0uC Og.00" L.U72=14 2,043=09 3 71=07
9,C,0+04 +  UL,00( 0,002 L 308=14 1,943=-(49 "~ 205«07
9.75’_“‘5’“4 *. 0,0uU¢ D-UD" Le330=14 1l8q‘9"09 H.865=07
1,000405 % (U,0uy O,y0> lL,26r=14 1 ,763~09 6,%49=07
1,20040% *  W,00¢L O.uyn bL,910~1h 1,248-09 L, 66%=07
1.45u+05 % QLU0 0,600 GeblPA=15 Y, 318=1N 3%, 49R.07
l,oLu+05 % 4,000 N,y0n LyllG=18  /[,232=10 P.726=07
1,306+05 »  G.000 0,000 4,070=15% 5,783-19 [,187=07
2,L0u+05 » L UT4dh 34Ul 4yl L,507+04  1,004+08 7,530403
2.:0L+05 %  4,901+00  2,4904yl L2454 A,302+03 €,.226+03
2,60d+05 ¥ o.lontul  1.787+u4  ©,91A+03  5,944+03 4,L58403
3,C0L+05 & 2.070+0hL 1,03094yy  L,697403 4, HE4+0F T, S4R+03
Ho00u+U5 % LoDuT+08 7,5804032  3.767+433  2,511+40%  1.88%403
5,000¢05 *  9,0643+03  #,522+03 _,0114J3 1,007403 1.205403
TP Qu+0S % H,z28(+J3 D.147+y3 L ,0714,2 f1U3432 R,3IN7+02
1,00u+DB6 * 2.U11+03  1..0Y4U3  .027+402 «.018402 =2.0132+02
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1,.600F00° " 1LBONFNY

ALTOTAL)Y
1, 989401
9,274+00
5.5264N0
1,680+0N
9,656-01
6,843=01
5,3348a01
3,471=01
Z,411=01
2,040=n1
1.75u4=01
1,710=01
2.23N=N1
1,98n=N1
1.,717-01
1,503=n1
1.430=01
1.,146=01
T.675=N2
5,338~02
H.B32=0n2
4,023=n2
3.530=-n2
3.317"'”?
3,125=-02
2.,940-=n2
2,78R=N2
2.64N=N2
2.504=n2
24:379=02
2 t?63-02
2.,156=02
2.056=02
1.464=-02
1.060=02
R, b6hk=0%
6.873=03%
3,3204n3
2,751+Nn3%
1.97n+03
1.479403
B,321+n2
5.326+02
2,567+0n2

TaBLg X1
APBSORPTION _ COTCFFICIENTS.  OF  HFLIUM
AT TOTAL PRESSURE = 1000 ATM
WAVE * TEMPERATURES (DEG K)
NOS. *  1,000+08 1,20040N%° "T,200+04°

o it S S cm~1
s ok ARk ok ko o sokob &K OKOKOR SR b ok kR ok R IO koK ok ook Kok o ROE R R Rk ke k ok

*  A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)
1,000+4C3 & 1,397=N2 1,1681=01T" 6,610=01 3,77R:00
1.50040% % 9,169-03 7,805=r2 3,809«01 1,901+00
2.000+N3 % £,873=-N37 /R, BII=N2 2,688=~01 1.218+0N0
4,000+03 * DH,433-n3 2,R22=~02 1,28f=01 4,699=01
6.00040% * 2,237=03 1.999=02 B8,732=02 =,027=01
£.,000402 % 1,610-03 1.,412-~02 5,607=02 2,257=01
1.,000+04 % 1,231-03 1,108=02 5,280=02 1.80%8=N1
1.500+04 % 7,264-04 6,884~-03 3, 434=02 1,198-0%
2,000+40L % 4,B44=04 4§,735«-3 2 407=02 A.437=-N2
2e2H0408 *  4,075=04 4,N33=n3 2,06R=02 7,240N=N2
2,500+04 % 3,480-04 3,479=-03 1,797=02 &,307-N2
2,750+00 %  5,015=04 3,063=n3 1,623=02 &,897=02
0. 00C+04 x  2,063=04 2,P30-03 1,642=02 6&,765=02
S,250404 % 2,347-04 2,708=03 1,461=02 A,022=N2
3.,500+04 % 2,081-04 2,727-03 1,2072=02 5,27R=02
3.750+04 *«  1,8R6=04 1,239=N3 1 1S0=02 4,566U4=«02
4.000+00 % 1,672=-04 1,913=03 1,06%=0p 4,390-02
4,500400 ¥  1,3A0-~0% 1,"79="3 A,681-03 3,55%=02
5,000+04 *  B,182-05 9,N54~nY4 5 U4RR=03 2,311=02
5.500+08 % £,881-N% 7,A28=04 4 597=03 1,935~02
be000+04 % 5,874-05 A.522~04 3 ,92A=03 1,646=012
£,500+4N04 * b, 077=05 5H,A4B=n4 3 3F0R-03 1,419~02
T.000+00 % 4,435-N5 4,938=~N4 2 960=0% 1,237~02
7250408 %  4,1A0-05 U, F35-N4 2 TAF=0T 1,160=N2
7.500+08 % 5,911=0% 4,760-04 2 620=03% 3,080=n2
T.790+04 % L,683=-N5 4,109=N4 2 4/0«(}3 1,028=N12
3,000+N0 *  J,4706-05 7,780~04 2 331=03 9,673~-03
0250408 %  3,286=0n 3,A70=04 2,205=0% 0O,141=0%
Go500+00 *  5,111-N%  3,477=04 2 089=03F P,A53=03
G5.750+04 * 2,751=05 3,299=N4 1 9A2«03 A,20R8=03
3,000+04 ¥ 2,802-05 3,135~04 1 ,88%=03 7.791=03
F.250400 % 2,065-N% 2,984-04 1,7927=03 7.410~03
F.500+08 * 2,338-0N5 2,°43=04 1 70«03 7T,056=N3
Q0404 * 2,U20=05 2,712=04} 1,A20~03 &#,728-03
1.000+#05 %  2,311=-015 2,591=-014 1 55A=-03 A,424=-03
1,200+405 % 1.654=-05 1,8%61=04 1 ,118~03 #4,601=03
LegJdU495 + 1.,246~00  1.406=0n4 8, 452=04 3,460-07%
L.oud+408 *  Q,743=0h" 1,102=04 6,626=04 2,714=0%
L,300+405 »  7,840-N6 3,783~05 5,342~-04 P2.1R%5=N3
2 U004+0% % 6,0274073 5,022403 4 ,30%+03 32,760+N3
2,20U+0% *  4,2R1+03 4151403 3,556+03F  X,107+03
2« 600+0% *  J,HA64+"3  2,972+403  2,546+0%  2,225+403%
32900408 ¥ 2,070 2,732403  1,912403 1.6714N3
3,000405 % 1,9507+03  1,756+035  1,07A+03  ©,40040p
5.000+05 % 9,643+02 1,135+12 6,8R5402 6&.014+02
TB00+0% % 4, ZRB+N2  S5,571402 3,06N402 P.6704202
1.000+5 % 2,411+02  2,PMpo+n2 1 .721402 1.5044N2

23
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- TABLE. AT
ABSORPTION COEFFICIENTS OF HELIUM

5L

AT TOTAI] PRESSURE =— 1000 ATM
WAVE % TEMPERATURES (DEG K)
NOS. % Z,000+0% "2,200+u8 2,400+04 2,600+04 2,800+04
M“"‘l * — Ci"’l-l
3y 3 e 2 e o s A 36 38 oK o A e e K N ok A i S oo s o s 3 Al o ok oK koK oK K of i 3Kk K K ok ok K ok K e ok
* A(TOTAL) A(TOTAL) A(TOTAL) A(TCTAL) A(TOTAL)
T 1,000+03 x  8,372401  2,780+92 7.488+02 1,687+03 3,256+03
1,500+03 *  3,794+01 1,247402 3,346+02 7,529+402 1.452+403
T 2,000403 * 2.190+01 7T,106+01  1,897+02 4,259+02 8,203+02
4,000+03 * 5,611+00 1.800+01 4,761401 1,074+02 2.092+02
6,000+#03 * 2,971+00 8,383%00 2,09I+01 #,538+01 AR.596+01
8,000+03 * 1,971+00 5,270+u0 1,261+01 2,662+0F H,946401
1,00u+004 * 1,473+00 3, 7/80+90 &,77°8+00 1,814401 3,325+01
1.50u+08 *  Y9,134=01 2,211+00 4,85F+00 9,613+400 1,705401
T2.,0pu+0n x B,886-0f T.,33%F00  2,805+00 5,391+00 9.400+00
2,2504+04 * 5,086=01 1,112+400 <.243+00 4,245400  7,324+400
2,.500+04 * &,335=01 9,037=01 1,903+00 3,430+00 5.855+00
2,75u+04 *  4,299-01 9,752=-01 1,977+00_ 5,560+00_ 5.785+00 L
3.,000+04 * BH,175=01 1,473+00 oL,081400 5,600400 9.152+00
3.250+04 % 9.HL9=01  1,095+00 _2,690400  4,970+00 _8,084+00
J.500+04 *  4,638-01 1,.04400 <,278+00 4,183+400 €,908+00
3,750+08 *  U4,008-01 S,L12-ul 1.957%400 3,567+00_ 5.800400 _
4,000+04 *x J.889=01 9,08%~u: L1.860+060 3,373+00 5.507+400
4,500+04 *x  3,065~01 7,.u45~u, 1,.451400 2,620400 #H,249+400
5. 000+084 * £.109=U1 4,946=-01 L,010+0C 1,875+00 2,952+00
5.,500+04 %  1.,742=01 4,061=-J] ©,252=01_ _1,485+00 2,394+400 ___ _
b, upu+0h *  1,4p5=01 3,097-ul f,873=-01 1,272+400 1.981+00
B,hyu+08 *  1,2b1=ul 2,58R=ul 9.815-01 1,039+00 1.665+00
7.0004004 *  1,081=01 2,48F=ul 4,08F=01 8,884=~01 1,420+00
7.250+04 % 1,010~u1 2,316=01 &,609=01 8,251=01 1.317+00 i
7T.50d¢08 *  9,4b5=02 2,lbf~ul 4,328=01 7,684-01 1,225+00
7.750+04 *  B,B/2~02 2,027=ul 4.006=y1 7,174=01 1.142400____ __
8,000+04 x  8,345=u2  1,903=01 3,77°2=01 o,714=01 1,067+Q0
B8,25U+04 * T.801-02 1,/91=91 ,,562-01 b,298=-01 9,998~01 i
B8,50u+08 *  7,41u=02 1,pdf=ul 3,353-01 5,919-01 9,386~01
B8.750+04 * 7,015=02 1,595=y1 3,163=01 5.574=01 R,829-01
9,060+04 *  6.644=02 1,,503-d1 £,990~01 5,259-01 8,320~01
9,2350+0:4 ¥ ©0,30d=02 1,427=01 <,830=01 4,373-01 ~,855=01
9,Lyuy+dL4 * 5,959=-02 1,355=J1 2,6°3-01 4,710=-01 7,428-01
9, 750+04 ¥  S5,090=J2 1,o30=uyl  P2,047=31 4,4A8=01 7,035-01
1.000+05 % 0,429=32 1.225%=ul ¢,429=01 4,244«01 A,677=01
1,20U0+05 *  0,83¢=02 8,06f=Y2 1,531=d1 2,926~-01 #,579=«31
1.400+405 % 2,603=02 5,371=3¢ 1,240-01 2,144=01 3,335=01
1,600+405 %  Z2.222=02 4,321~02 9,528=02  1,640-01 2,538=01 _ __
1,800+05 *  14770=02 3,91%=d2 7,555-02 1,295-01 1.996-01
2,000+05 * 2,90L+03 2,04R+03  2,347+03 2,055+03 1.763+03
2.,200+05 ®  2,4L3+u3  2.162+u3  L.,940+403 1,678+03 1,.,437+03
2,600+405 *  1.,726+03 1,507+u3 1.389403 1,216433 1,043+03
3.000+405 & 1.310403 1.177+03 1.0487403 9,172+402 7.836+02
4,00J0+05 *  T,419402 B.ulHU2 0,u69402 5,137+02 1,407+02
5.000405 %  4,748+02 B,230+02 0,756+02 3.287+02 2.821+02
T.5uu+05 % 2,110+92 1.08%+02 1.6A9+02 1.,461+02 1,254+02
1.00U+06 *  1.1374U2 1.05%+02 9,327+01 8,212+01 7.052+901
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TABLE NI

ABSORPTION COEFFICIENTS OF _HELIUM

AT TOTAL PRESSURE = 1000 ATM
WAVE % TFMPERATURES  (DEG K}
NOS, * 3,000+04 6,000 8,000 0,000 b, 006
cw—t o+ —— ¢l —

s ok K e o o s ok o o o K ke S o ok Kok T o o R KRR Rk kKR RO KK Rk

* A(TOTAL) A({TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)
1.000+03 * 5,506+403 0,000 0,000 T a.o00n” 0 0,400
1.500+03 * 2,455+03 0,N00 __ 0,000 0.,00N 0,000
2,000,032 * 3.,387+03 0,700 6,066 d.oon 0,006
4,00040% *  3,546102 0,700 0,000 0.00n 0,000
6,000+403 * 1,458402 0,00 0,000 0,000 0.000
8,000+03 x  5,210+01 0,000 0,000 0,000 0,000
1,000+04 % 5,448+01 0,000 0,000 ‘P.00N T 0,000
1.560+04 % 2,730#01 0,N00 __ 0,00n 0.000 0,000
2,000400 % 1,4R87+01 0,N00 0,000 0.000 0,000
2,250408 % 1,15%+01 0,060 0,000 f.00D n,000
2.500404 * 9,156+00 0,000 8,000 0,000 n,00n
2.7H0+00 *  3,853+00 9,NR00 0,000 0,000 0,000
3.000408 % 1,345+401 0,000 0,00n 0,000 f.000
J.230+08 ¥  1,185+91 0,.M00 0,000 n,n00 0.000
3,500408 x  1,014+01 0,000 0,000 0,000 6,000
3,750404 % 8,776+N0 0,N00 0,000 0,000 0.000
4.000+08 *x  &,1R1+00 0,N00 6,000 N.000 0,000
4,500404 *  H,267+00 0,000 0,000 0,000 0.000
5. 000408 %  4,.3%6+00 0,000 n,o000 n.o00n 0,000
5.,500+408 % 3,507+00 0,000 0,000 n,00n 0,000
000408 ¥ 2,803+400  0.N00 8,000 N.000 n,000
.500+04 * 2,426+00 3,000 8,000 n,000 0,000
7.000+04 * 2,063+00 17,700 0,000 n,oon 0,000
7,250+400 % 1,911+00 0,100 g,no0n 000N n,o00n
7.500+004 %  1,770+0d 0,000 0,000 N.000 0,000
7.730404 % 1,654+00 0,000 0,00n n.000 0.00n
S,000+00 & 1,584400 0,100 6,00n n,00n 0,000
002591'0{4 # jJOUu5+0N 0.700 D,ODU n,oon 1,000
4,500+408 % 1,3%5+00 0,000 0,0nn n.00n 0,000
H.7504+04 %  1,273+nN0 0,000 0,00n n,00n 0,000
9,000+404 * 1,198+400 0,700 0,00n n,000 0,000
9,2,0+04 * 1,130+00 0,000 0,000 n.00N ,000
9.500+04 % 1,067+00 0,700 0,00n n,00n n,00n
9,750+00 *  1,010+00 0,000 g,00N n,000 0,000
1,000+95 *  4,571=91 0,100 1,009 1.300 n,o0gn
1.20040% %  5.533-01 0,100 o,n0p n,00n 0,000
1.,400405 % 4,725-01 0,700 o,000 n,o0n 0,000
1.,600+405% % 5,579=01 0,700 o,0n0n n.00Nn 0.000
1,390+40% *  2,813=01 0,N00 n,00n n.o0n n.onn
2,000+405 % 1,482+03 0.100 n,n0n n.00n n,o000
2e¢200405 ¥ L.225+03 0,100 G,a0n 0.00n 6,000
2.6004N% * 4,770+N2 0,900 0,000 nN,oon n,000
3,00040% * 6,587+02 0,000 0,000 n.000 0.000
4,00040% ¥ $5,705+02 0,000 0,000 0.,00N 0,000
5.000+40%5 #  2,371+402 1,000 a,000 n.oon 0,000
7,530+40% *  1,08%+02 0,700 g,00n n,000 0,000
1,000+N6 % 9,922+401 0,000 0,000 n,o0n 0,000

5



042
K9109 TABLE XNi1

ABSORPTION COEFFICIENTS OF _NEON_
Al TOTAL PRESSURE = 50 ATM

2@

56

WAVE % TEMPEFRATURES _iDEﬁ_KJ_:

[OS . * “1,0G0+03 Z2,000+03 4,000+03 6,000403 8.000403
cm~1 * - ———— cm ~1

****#*************************************************#*****
*  A(TOTALY A(TOTAL) A(TOTAL) A{TOTAL) A(TOTAL)
1,00U+03 * 0,000 0.000 1,192=11 Z,638=07 3,262«05
_1,500403 * 0,000 _ 0,000 ].207~12 1,633-07 _2,018=05
2,000+03 x 0,000 0,000 3,923=12 1,142=07 1.421~=05
4.0[}01'03 * UoUUU U.UOU 107‘13"12 unﬁ_né_‘:g_s_wé!-?_g?_fgé_
6,000+03 * 0,00C 0,600 ~  B,550-13 2.306~-08  3,112=-06
«8,000+403 * 0,000 8.000 4,875=13 1,380-08 1,928=06
1.000+04 % 0.009 0,000 ~° 3.048-13 8,9352-09 1.,285~06
1,500+04 * 0,000 0,000 1,200=-13 3,683-09 E,588~07
T2,000+08 %  UL000 0,007 5,759=14 1,799=09 2,840~07
2.250+04 % U.UUG O.UUﬂ 4.166“14 “133QZ-09 2.104-07
2.500+04 x 0,000 0.000 3,072<14 9,664~=10 1,592=07
2. 7HU+04 * 0,600 - 0.,u00 EOEQT-EH f[gagtéo 10228-gz
3,00u+00 %  0.000 0.000 1.,735=14 5,473-10 9.649~08
- 3,250+04 % U,UOD D,u00 _ 1,319=14 4,1p5=10 7,739=08_
3,000+04 * 0,000 5,000 1.007=10 3,181-10  64350-08
3,750+04 % 0,000 7,000 7.696=15 2,433-10 5,349=08
4,000+404 * 3,000 B.00n 3.873=15 1,860=10 4,6038~=08
4,5G60+04 % U.000 0,000 5.396=15 1,075=10 2,557=08
5,00U+04 x 49,000 G.,ubn 1,917=15 6,075=11 1,396=08
5,50J0+04 % U.0ul 0.00n0 1,057=15 _3,351=1) 7,482=09_
6,000+04 x 0,000 0.000 H,827=16 1,8R1-11 4,097=~09
6,5ud+04 *  U,0un 0,000 3,901=16 1,2%39~11 2.64%42=09
7.0ud+04 *  U,.0ul 0,u0n 3.339~16 1,061=11 2,221-09
7.250¢08 % U.009 G.000 3,114=16 9,898~12 2,055=09
7.500+068 % 0,006 B.00n 2.,210=16 9,254=12 1,906=~09
7,75u404 * 0,000 n.o0r 2.72A~16 8,671=12 1,773=09_
B,0pu+d4 * 0.00¢ 0,000 2405916 8B,142-12 1,653-09
B,25u+04 * 0,00( Oe.un CeGAT=16  T,BF0=12 1,545=09
8.5UU+0¢ * U LUG G.00r celrb8=16 7|220-12 1.447-09
8,75u+04 * 0,00y G,.u0r 2.141=16 6,817-12 1,358-09
9,000+04 * 0,000 G,000 2,024=16 6,446=12 1,277-09
9,25u+d4 * 0,000 0,90n 1,017=16 6,105~12 1,203~-09
9,50u0+08 * 0,090 0,000 1.818=16 5,791-12 1,135=09
9,750+04 * 0.0uUQ0 TeuOr Le726=16 5H,500=12 1.073=09
1,000+05 «  U,.0Uy Jau0n 1.641=16 bH,2%1=12 1,016=09
1,200+C5 x 0,000 0,000 1.142=-16 3,648=12 5/,868=10
1,400405 *# 0,000 0,000 B, 400=-17 2,684=12 4,951=10
1,60u+4G65 * J,000 0,404 € 43017 2,060=12 _3.,737~10
1,806+05 *  2,015+03 1.,0086+403 5.038402 4,359+02 2,.519+402
2,00U+05 *  34136+03 1,568+u3 7,839+402 $,226+02 2.920+402
2.200+05 * J3.367+03 1,084+403 8,418+02 5H,612+02 4,209+02
2.600+05 *  3,9254u3  1,76%+u3 ©,B813+02 5,875+02 4.406+02
3.0L0405 % 3,420403 1,727403 0,636+402 5H,757+02 4,31R+02
h,000+05 * 3,042+403 1,521+u3 7,.,606+02 5,070+02 3,803+402
5.,000+05 * 2.627+03  1,31484u3 ©,558+02 4,372+432 3,284+02
7.500405 *  1,727+03 3,033%3+u2 4,317+02 2,373+02 2.15R+402
1.,000+¢06 * 1.,1194U3 5,096+J2 c,.798+02 1,8R5+02 1,399+02



K910904.-2

TABLE MIT
ARSORPYION _COEFFICIENTS. OF  NFON
AT TOTAL PRESSURE = 50 ATM

WAVE % TEMPERATURES  (DEG K)

" TNCS, * T 008¥AL T 1.200+0F  1,400+004  1,600+0GE Y BON+DE
CM-]- ¥ CM""].

************************************************************

. * A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)
1.,000403 % &, 467=04  2,0403-08" "3,848=-01 3,149+00 I1,536+01
1,500403 % 4.544-04 1,100«02 1,707=-01 1,393+00 6,780+00
2.00040% % 2,907=04 6H,145=03 9,530=02 7,803=01 3,790+00
4,000403 »* 1,052-04 1,586~n3 2_;36 02 1.,724=01 B,322=01
6.000+02% x 5,605=05 7,A41-04 9,592-03 ?7§3ﬁ;ﬁé“'37563;bi“
A,000+03 * 5,585=05 4,A17=04 5,528=03 0,25%=02 1,985-N1
1.,000404 * 2,462-05 3,13B=nk 3 657«03 P,.756=02 1,267=-N1
1.,500+04 %  1,186=05 1,A95=04% 1,934=~03 1.285=02 5,686=02
2.,000+00 * 6,868~06 1,706=04 1,229-03 A,366=n3 3;590-na
2.250404 * 5,519-06 9,486=-05 1,043-03 6,855=03 2,856=02
2.500+04 % 4,582=N6 3,372~05 Q,080=0u %.éo?hﬁﬁ'"éisuﬁ;na
2,750+04 % 3,923-n6 7,560=-"5 5,081~04 =,017=N3 1,981-02
3,000+08 % 3.,458=06 6,955=05 7,295=04 4,401=03 ~1,697=-02
3.250408 *  3,132-06  6,493-05 6,660=04 3,904-03 1,471-02
3,500408 % 2,907-N6 6.131=05 6,130=04 3,491-0%"1,284-02
3,750+04 *  2,755-06 5,83B8=05 §,67%~=04 3,136=N3 1.127-0?
4,000404 x 2,623=06 5,517=05 5,2006~04 2,797=0%3 9,824«n3
4,500408 % 1,382-06 2,R59=05 2,69N=04 1,449=n3 5,108=03
5,000+00 %  7,193=07 1,UH3=03 1 37?—04 7.308=04 2,815=N3
L,500+08 *  3,600-07 7,%78-06 6,897=-05 3,719=04 1,.317=03
6,000+04 *x  1,941=N7 3,R16=N6 3.550-05 1.917-04  6,790=05
6,5004048 %  1,206=N7 2,%32=N6 2,160=05 1,166=04 4,136=n4
7.,000+00 % 9,801=03 1,864=06 1,717=05 Q,264=NK5_ 3,294=n4
7.250404 % 8,921-07 1,A83=06 1,547=05 &,341-N5 2,969=-N4
7.500404 ¥  8,143=-03 1,525=N5 1,399=05 7,536=05 2.6R81-N4
7.750+04 %  7.460=N8 1,*87=06 1,26P~05 6£.831~05 2,420-04
3.000+0"% %  5,862=-03 1,765«06 1.15u-oq Fe211=NS  2,200mNY
B,250408 % £.324=09 1,157-N6 1,053=05 5,664-05 2,014~-04
3.500400L %  5,844=03 1,N61=N6 9,632=06 5.179~05 1,842=04
9,750+40% x  B,414=-02 9,757=-07 8,83%~06 4,74R-05 1,689-04
9,000+04 % 5,028=08 B.,994=0N7 8,128=06 4,364=N5 1,552=04
9,250+048 % 4,679=0R 3,%10-07 7,48R=06 4,020=-N5 1,430=04
9,500+04 % 4,364=N8 7,A95~-0n7 &, Y917=06" 3.711=05 1,320=04
Q,750404 * 4,078=08 7,140=07 §,40P=06 3I,433=05 1,221.04
1,000495 ¢ 3,818-08 6,A38=n7 5.938-06 2,182=05 1,132=N4
1,200+05 « 2,398=-03 3,%37~n7 3,454=06 1,842=-05 6,551=N%5
1,400405 * 1,617=08 2,%540-07 2,186=06 1.160-05 #,127=n5
1,600+05 % 1,153=08 1,743=-0n7 1,472=06 7,772=N6 2,765=05
1.800405 « 2,015402 1,A764N2 1, 427402 1,207402 9,927+01
2,000408F &  3,135+02 2,808+4N02 2,2148+02 1.,87R+N2 1,545+402
2,200408 % 3,3656+12 2,R004N2 2,377+02 2,016402 1,65R4+02
2,600405 % 3,524402 2,931+02 2,489+N2 2,111+02 1,73A+02¢
3,0004+05 # 3,454402 2,R73+02 2,439402 P.069+02 1,702+n2
4,000+0%5 * 3,042+402 2,530+02 2,148+402 1,.,822+02 1,4984N02
3.00040% ¥ 2,627402 2.185+402 1,855+402 1,573+02 1,2944n2
7.500405% * 1.726402 1,836+02 1,219+402 1,034+4n02 A8,505+01
1.000+4N6 *  1.119+492 9,307+401 7,902+01 6A.703+401 5,513+401

o1



K910904-2

TABLE - MT1I
ABSORPTION COEFFICIENTS OF NEON
AT TOTAL PRESSURE = 50-ATM .

58

1.5859+00 ~

g2

WAVE * ToPZRATUNES (DEG K)
NDS. * 2Z2,000404% " 2,3000404 2.qof+ua 2,000+ 04 2, 800+08
-1 % cM™
*;3*****t*t«*#**********4****iixi**i***ii*ii*f***iiﬁikfiiiiz““
*  A(TOTAL)  A(TOTAL) aA(TOTAL) A(TOTAL) A(TOTAL)
1,000+03 = 4,895+01 1.070+32 71,877+402 1,995+02 1.97I+02° 7
1,500403 %  2,1%6+01 4,715+401 7.386+J1 8,786+01 B8,676+01
2.000+03 *  1,204+01 2.089+01 7 %, T1%%0774,897+01 7,835+
4 00U+03 *  2,ob1+00 S.941+U0 9.,498+006 1,152+01 1.158+01
6.,000+403 * 1.112+00 2.408+00 3J,760+00° 4,473+400° ¢ B3%+00 7
8,0p0+403 % b0,126=01 1,3513+y0 2,031400 2,399+00 2,359+00
1,600+404 %  3,80p=91 8,215=01 I,.264+400 1,487+00
1.500+04 %  i.,68R=U1 3,517=01 L,320=01 6,106~01 6,015=0]
T2, 000404 ¥ 9,605=02 11,9105 R BET-UTTT 3, 272-017 F,156~01
2.250404 % b,05a~02 1,5L34=01 2,197-01 2,503=01 2,398«01
2.500+84 %  5,532=02 1,280=01 1,.794%~-01 1,963=-01 1.88B~01
2.750+04 *  5,375=02 1.051=yl1 1,493~-01 1,622~01 1,487=01
3.000404 * 4,518=-02 8,00M=02 1.236-01 1,349=-01 1.232=01
3,050408 % 0,841=02 7,246=02 1.,017-01 1,122=01 1,024~01
3,5u0+08 4 3,292=02 6.:06=0z B,4GRI=T2 9U207=02 A5
3.750404 ¥ 2,034=02 D5.17H=U2  7,006=02 7,617=02 A.976~02
4,000+¢048 % 2,427=02 U,389=y2 5,909=02 b0,291=02 5.701«02
H.oh0u+llh 3 1,207=U02 2,.87%=02 X.106-02 J3,317-02 3R.01l6-02
S,00u+04 %  (©.504~03 1.177-02 1,60u4-0p2 1,718=-02 1.566=02
5.-00+0k *  3.202=03 5.964=u3 bL,136=03 8,735=03 7,979«03
6,000404 * 1.,695=03 3,084%=u3 4,21A=03 "4,538=03 u,158=03
6,50u0+084 *  1.003=U3 1,u82~u3 2.577=03 2,773=03 2,.547=03
7.00d+048 % ©,220=048 1,9%00~=u3 ¢.086=y3 2,213=0% 2,038=03
7.250+048 %  (ohat=08% 1,050=y3 1,d54~03 2,002-03 1.840=03
7.500+04 & b,710=d4 1,22%=J3 1,677=03 1,811~03 1,666=03
T.750+04 ¥ D,094=04% 1,L0%9=us 1,322=03 1,6u44=-03 1,513=-03
B,0ub+04 * H,544~04 1,310=-0% 1,387~03 1,487=03 1.378~03
B8,2ou+04 *  3,004=0% F,22v=J4  1,204=-03 1,367-03 1,258=03
8.50d+04 * 4.0ll=04 R, 351=Uy &.157‘D3 10251-03 1.152“03
8,750+04 * +,233=04 7,/57=94 1,0563=-03 1,148~-03 1,057=03
g,000+04 x  3,890=04 7,131=y4 9,784=-04 1,055=03 9,724-04
9,s5utl4 *  J.004=084 b.obP=ul  9,026=-04 9,737=04 8,964~04
9,500+04 * 3,30€=04 6,U52=u4 6L,345=04 9,005-04 R,280=-04
S, 7bu+ld *  J,lol=04 5,,97=yy 7,72i~04 8,364=04 7,664-04
1.003+05 * 2.85?-04 D4 19Ny 70161-04 7|747-04 7.117=04
1,.0u+05 *  1.642~084 3,008~04 4,132-04 4,479«04 4L,137=-04
1,400+405 % 1.034=94 1,090=ud4 c.601~-34 2,819=04 2.,603~04
1,6004¢05 % ©.932~d5 1,262=u4 1,743=04 1,889=04 1,743«=n4
1,8p0405 *  7.608+01 5,223+J1 J.148+401 1,687+01 8.478+00
2,0pu+05 *  J.let+u2 B,127+u] 4.898+01 2,626+01 1,319+401
2.,200+05 *  1,2T71402 /26+01 5,260+01 2,819+01 1.417+4G1
2.,600+058 *  1,331+U2 9,1364U1 5,507+01 2,652+401 1,483+01
3,00u+05 * 1l.ovt+02 3B,9534+ul 5.396+01 <2,892+401 1.,453+01
4,00u+05 * 1,149402 7,485+01 4,752+01 2.547401 1,280+01
5,00ut05 & 3,919+431 6,009 +ul  +4.104+01 2,200+01 "1.,105+401
T.50u+05 % 6,5LE+01  B,47%4+U1  ,6927+01 1,4%.6+401 7,264400
1,00u+06 *  $.225+01 2.301+01 1,743+01 9,371+00 4,779+00



K910904~2
LABLE Vil

ABSORPTION COEFFICIENTS _OF . NEON.__
AT TOTAL PRESSURE = 50 ATM

WAVE * TEMPERATIRES {DEG K)
NDSf *+  5,000+0%° 0."06““"'"UTU?P“*“"*W?UUU*_'““ﬂZUﬁU”” -
v * -
**iu***********#x****i*******?ii**f?fi&i****?i***%i???ﬁi?%** -
* A(TOTAL)Y A(TOTAL) A(TOTAL) A{TOTAL)Y ACTOTAL)

1.000403 %  1.,757+02 03,0007~ o, 00n " "~ 0,000 T 0,000 77
1.500+03 % 7.,737+01 0,000 0,000 0,000 0,000
2,000403 % 4,312+n1° 70,000 77 0,000 7 TO0.,0007 " 7 2o T
4,000+0% x 1.039+01 0,000 0,000 0,000 0,000
5.000+0% + &.,011400 O,N00 g.00n 0.000 ~ 00
8,003+40% % 2,104+400 0,000 0,000 0,000 n,000
1.000+04 * 1,295+00 0,000 n,o00n n, oo — wm.,uon 7
1.500+08 %  %5,303«01 0,700 0,000 n,o00n 0,000
2.0ud+08 % 2,761-01 0,700 T,.080 nonr Tt T o, 000 T
2,250+0n x 2,0080-01 05,700 g.00r Ct«00N n,o000
2.500+08 % 1,619-01 0,000 g,oe0pn - o.0un n,oan
2,7504064 * 1,270-01 0,000 ¢,000 N.000N 0,000
3,000404 % 1,029=-01 0,700 0,000 N.000 0.000
5.250+04 x 8#,502-012 0,000 g.00n n.0an 0,000
3,500+08 x  7,063-N2 0,000 0,000 n.,non p,00n
3., 750+04 * H,HB74-n2 §,000 0,000 n,oan 0,00n
4, 000404 ¥ &,7%8-02 0,000 6,000 0,000 ¢,000
4, 500+04 % 2,517=-02 0,000 o,00n a.00n o000
5,000+04 ¥ 1,310-02 0,000 g,a0p n,gon 0,000
5.500+04 * 6,0691i=03% 0,000 0,000 n.oan n,000
6,0004+01 % 3,490-03 0,000 0.00n n,0oon o,o00n
6.,500+04 % 2,1u4-03 0,000 0.,00n N.Q0n 0,000
7.000+404 = 1,718-0% 0,000 0,00n nt,Qon 0,00n
T¢250404 *  1,5%2=0% 0,000 0,000 n.,ngn— 0,080
7.5004+08 * 1,4n6-03% 0,000 n,o00n n,oqQn n,onn
7.750+08 %  1,277-03 92,900 0,060 n,000 0,000
G.,000+04 x  1,164-0% 0,100 g,0an g.04an 0,000
5.,250+04 x  1,063=03 0,000 g.o0an 0,000 n,o00n
8,500+048 * 9,733-04 0,100 0,000 n.oon n,o0n
Lo THJ+0Y *  3,240~04 0,000 g,0nn 0,000 0,000
9,003+04 * B,226=04 .00 8,000 6,00n0 0,000
a,25J0+00 * 7,385-04 0,760 g,000 N.000 6,000
9,500+0% *x  7,008~n4 0,000 0,000 0.009 n,.n00n0
9,.753+04 ¥ B, 4°88-n4 0,900 o,00n n,pon 0,000
1,000405 *  6.017-0% 0,000 p.,00n 6,00N 0.000
1.200+05 *  3,528=-04 0,700 0,000 0.000 0.0000
1.400#05 % 2,298-04 0,130 p.oop n.oon 0.00n0
1,00040% % 1,478=N4 0,700 o,00n n,00n n,400
1.,83004+0% * B.,2724+00 0,700 0,00n p,00N 8,000
2,000+08 * 6,574+N0  0.0100 0,000 n,00N p,o00n0.
2.200+08% x 7.089+120 0,000 g.,00n B. 00N n,oon
2.630+405 % 7,390+00 2,000 6,000 n,oon 0,000
3,00040% % 7,242+400 0,000 g,00n n,oon 0,000
4,000+N5 ¢ »,3783+NG 0,700 0.0300 0,000 8,000
5.000+05 * 5,508+00 3,700 0,000 p,non 6,.000
7.503+0% * S5.620+00 0,700 0.006n n,oon 1,000
1,000+06 * 2,346400 0,000 o.00n a,n0n n,.o00

59



K910984~-2

TABLE NIT
ABSORPIION COEFFICIENTS QOF NEON
AT TOTAL PRESSURE = 100 ATM
WAVE % TEMPERATURES  (DEG K}
TTNOS, % 1,000+03 T 2,000+402 4, ooo+03 6,000+03 R, 000+03
et o *x = cy=l -

4 o 3k o 36 3K e o oK K o K A R KK K ol R A o s R o s o ok o ok o o K Ko R oK K i o o ok

* A(TOTAL) A(JOTAL) A(TOTAL) A(TOTAL) A(TOTAL)
1,000+03 *  0.000 0.000 3.373=11 7,.,461-07 9,152=05
1,560403 = 0,000 0,000 2,039=11 4,619=07 5,679=05
2.000+403 # 0,000 ~ TLULOD 1,302=11 3,231=-07 4,008~05
4,000+403 * 0,000 0,000 4,920~12 1,245~07 1,611=05
6.,0p00+03 » 0,000 D,00n " 7 z,hi8=12 6,524-08 B,784=06
8,L0L#0Z %  0,00¢ D,000 1,379=12 3,904=08 5,440~06
1,000+04 * 0,000 0.u00 ~ B,621-13 2,527«08 3,624~06
1,500+04 * 0.00C 0.000 3,393~13 1,042=-08 1,573-06
2,000406 x  0,0U¢ 0,000 1.629~13 5.090-09 7.,961=07
2,250+04 *  0,00¢ 6.000 1. 178-13 3.,698=09 &,B78=07
2.500+04 * 0,000 0,000 §.689=14 2,734~=09 Uu,335-D7
2,.750+04 »  ©,000 0,000 0.497-14 2,048-09 Z,389-07
3,000+04 %  0.0up D.000 fG07=18 1,548=09 2,637=07
3,25uU+04 * 0,000 ugiunnu“___%,731 14 1,178=09 2,087=07
3.500+0Q * 0,000 0.000 cBHA=14 8.999-10 1.683=07
3,750+404 % G,0u0 C,000 2.177~14 6,883=-10 1,386-07
Q.UUU+04 * U.OO( 0.00n l.6p3=14 5.260-10 19163-07
4,.50u+0L *  U,00C 0,000 9,605=15 3,082-10 6,5;5308
5.000404 % 0,000 0.000 5,422=15 1,718=10 .584~08
5.,500+04 % 0,0ul 0,000 | £,950=15 9,4AC0=11 _ ;934 p8
6,00040G * 0,000 Bouoe 1,676=15 5,321=11 1,065=08
6,50u+08 % 0,0U0 0.,UDN L4103=15  5,505-11 6,905~09
7.000+05% * 0,000 0,ugn Y ublu=16 3,001i-11 5,.831=09
7.2504084 * 0,00y 0.000 6,8n7=16 2,800~11 5,405=09
7.50u+08 % 0,000 0,000 be.P32=-16 2,616-11 5,.024~-09
7,75U+04 * 0,009 0,0L00 Te712=16 2,453=11 4,682-09
B,0pu+04 * J,0U0 D,ul0n 7.239=16 2,303=11 4,373-09
B,e50+04 % 0,000 0.uup £,809=16 2,167~11 L,0694=00
8,L00+08 % U000 0,u0® L, 416=16 2,042-11 3.841=00
8,75u+04 »  0.000 0400 b,0%A=16 1,928~11 3,611=09
9.GDG+UQ * UOGUU 0-009 5;726-16 1,823-11 3.“00'09
9,25u+04 %  0,00p g.000 He422=16 1,727=11 3.208=09
9,54,0+08 % 0,0u0 0,000 5.141=36 1,638=11 Z.032-09
9,750+04 * 0,00 0,000 LeRE2=16 1,556=~11 2.860-09
1,000+05% % Ue00U 0,000 LeBUc-16 1,480~11 2.720=09
1,260+05 *  U,000 C.uon 3.229=16 1,031-11 1,853=~09
1,400+05 % 0,000 0,00n ce376-16 7459312 1,344=-09
1,0pu+05 *  0,0ug 0,000 1.821=-16 _5,827~12 1,020~09
1,8400+405 * 4,001+0L3 2,U0l8+.3 1,002403 6,718+02 ©5,03P402
2.000+0b *  6£.2724C3  3,136+u3  1,560+03 1,045403 ~,839402
2,200+405 *  0.736+03  D.ub7+U3  1,684+03 1,122+403 0.418402
2,60U+08 *  7,05C+03  3,L264u3  1.76Z2403  1,175+4G3 PR.5613402
3,000+0% * ©.9u9+03  3,454403 1,727403 1,151403 ©.,.36+402
4,00U+05 * 0,065+03 3,U42+4LF _ 1,521+43 1 014403 T.E06+02
5,00U0+065 % D.255+03 2,027+U3  1.314+403 7=8+0? o 568402
7.50U+05 *  B.403+03  1,727+035 8,633+02 5 755402 317402
1,000+06 *  2,256+03 1.119+03 2.596+02 3,731402 ~.798+02
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WAVE *

NOS, £ 1,000+04

cm—l % - cm~
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* A{TOTALY A(TCTAL) AijTAL)

1,000+0% % 2,067-03 5,000«~02 7,849=01
1,500+403 * 1,141~-03 2,310~02 3,481=01
2.,00040% % 7,462~-04 1,%04=02 1,945=01
L,0004+03 % 2,787=04 3,L66=~=N3 4,350=02
6,000403 % 1,522=04 1,694=03 1,952~02
8,00C+03 » 9,599=0%5 1,030=N3 1,124=02
1.000+04 * 6,577=05 7,009=54 7,433-03
1,500+04 * 3,117-05 3,733-04 3,924~03
2.,000+404 * 1,756-N5 2,394=04 2 _48Y=03
2,2504+04 % 1,387=05 2,033=04 2,100=03%
2,500408 % 1,128~05 1,777-N4 1,836-03
2,750404 % 9,448=-0p 1,591=0D4 1. 631-03
3.0004+08 * 8,137-06 1,451=-04 1,471«03
3,250408 %  7,108-06 1,*45-~04 1,342«03
3.,500+08 * £,530=06 1,762=-04 1,235=03
3,7504+004 * 6,061-06 1,196=04 1,142=03
4,000408 %x 5,669=06 1,125=-n4 1 .047-03
,500+04 * 35,009~06 5.%U4=D5 5 414~04
5,000+08 % 1,578=-06 2,998=N5 2, 763=04
5.500+04 % 8,150=-07 1.,515-05 1,389=04
B, 000+00 *  U4,016=-07 T.,257=06 7,155«05
0.500+08 % 2,699=-07 4,R13=06 4 ,354-~05
7.000+00 % 2,206=-07 3 AR6=06 3, ,465=05
7,250+04 « 2,013=-07 3,u886=06 3,127~05
7.,500+00 % 1,B48=07 3,162-06 2,82%~05
T7.750+08 % },604=07 2,R78-=N56 2,560=05
. Ou0+04 *  1,361~07 2,.028-06 2,330=05
H.2504+0L *  1,U4L3-nT7  2,U007~06 2,126~05
H,500+08 ¥  1,337=n7 2,710~06 1,94é-0%
J,TB0+00 % 1,002-n7 2, 03U4=06 1, 7B%~05
9,000+404 * 1,156«07 1,R877=06 1,642=05
9,250+04 ¥ 1,078=07 1,737-06 1,514=05
9,500+084 %  1,008-=n7 1,RL0=06 1,399«05
9,750+04 * 9,441-08 1,195=06 1,295=05
1.000405 * 8,5659-n8 1,*92-06 .1,201=05
1,200+0% * b,632=-N8 £,326=07 7,001=06
1.400405 * 3,867=08 5,0L16-n7 4 u441-06
1.6004+0% % 2.807-N8 3Z,745=07 2,996=06
1.800+05 % 4,030+n2  S,354+4n2 2 _ 855+02
2,000+08 %  £,271402 5,218402 4, 443+02
2.200405 *x £.733+02 S5.603+402 4, 771402
2.60040R % 7,0040402 S,Re6402 4,994+402
3.,006+05 % 6,908+02 5,749+402 4,894+02
4,000+08 * 6&,084+02 S5,063+02 4 ,310+402
L.,000+0% *  5,25%4+02 4,772+4nz2  3,727%+02
7,506040% % 3, H53+02 2,.R73+402 2,44A6+02
1.000406 * 2,238402 1.°63+02 1,586+07

ABSORPTION

AT

TABLE: MI1
COEFFICIENTS OF NEON
TOTAL PRESSURE =

100 ATM

TEMPERATURES (DEG K)

T{.P00%06 TT,400+06 T1,600+04 1, BO0+AL

61

A(TOTAL)
f,518+00
2,.881+00
10613+ﬁh
%.553=01
1.550=n1
8-72“’“?
S.641=-02
2.619=02
].702-02
1.393=02

1.,179=02"

1.018=0n2
F,028=n3
7.917—”3
7.076=03
£4356=03
R0656-03
2,4935=17%
1.499=03
7053u“04
3.,883=nNi
?-363'”“
1.877-04
1.69”-54
1.527=04
1-38”-“4
1.258=-N4
1.14R~-04
1.049=-04
o,620=05
R.BQ1-05
f.104L=05
T7+51P=0N5
6.955”05
6o ll6=NG
3.732_0:
2.350=058
1.575=05
2,.44%4+Nn2
802402
4,082+02
L, 270440
4,188+02
X.68R+02
7. 185+07
2.093+N2
1.357+02

3 s e sk T o ok RN e e ok ok ok ok

AITOTAL}
3,274+01
1.4454N01
8,069+00
1,766+00
T.04T7=N1
4,186=N1
?.668=-N1
1.,180a01
7.494=02
5.951=02
4,BAP=N2
4,117=-02
34524=N2
3.052=n2
2,663=-0n2
2 336=N2
2,036=0n2
1,05R=n2
5,4109=03
272007
1.,007=03
Bob?ﬂ‘ﬁ“
6.,827=N4
6,15P=NY
% ,.556=N4
5,033.04
4,577=04
4.17“-04
3,817=14
3.499=-04
3.21ha=N4
2,.,726P=04
2.735-04
2.53N=04
2L, 345=0N4
1.357=n4
R,551=01%
5.73N=0N5
2.,053+02
3.195+02
3,431+02
3.,D92+02
3,520+n2
3,100n+n2
2.,677+02
1.750+02
1140402

'+
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WAVL.

T ONOSYT

~-1

*

TABLE MIT
ABSORPTION COEFFICIENTS OF NEON
AT TOTAL PRESSURE = 100 ATM
TEMPERATUPRES {DEG K)

% 2.00040% ~ 2,700F00 2 RONF0S 2 BUUF0F 2, B00F0F

*

C L]
K oK s oK oROR K K o K 3 o o KSR ok s e e ook ok ok o Sk ok 3 ok o K e R R K W R

1,0p0+03
1,.500+03
T 2.,000+03
4,000+03
6,000+03
8,003+03
1.,000+04
1,5%00+04
2.000%04
2.250+04
2,.500+04
2.750+04
3.000408
3,25%U+04
3.500+04
3.750+04
B,060+04
.50U+04
S,000+04
S,.50U+04
6,000+04
6.50u+04
7.0yJ+04
7.25u+04
7.500+04
T7.75J+34
8,000+04
8.250+04%
8.500+04
8,750+04
9,000+04
g,250+04
g,500+04
9,75u+04
1,00U+05
1.204+05
1,400+05
l.600+0%
1.500+05%
2.000+0%
2.200+05
2.600+05
3,000+405
b,0pu+ab
5,0¢u+05
7,5u0+05
1,0¢0+06

*

FoR W WK N H F R R KW

1

L A S R B BT N A R O I AN A R I I I

A(TOTAL)
1,098+02
Lk.838+01
2.696+01
9943400
2875400
1.,358+400
BeD345=01
3.7U7-Ul
2.89&‘01
lt?bd‘Ul
l.420=01
10170-51
9.8&0-02
80341-02
7.141-02
6el4y=-02
boESE-O?
2.744~02
1,409=-02
7.110-&3
367203
20253'03
1,7832=-03
1!607-03
l.45u-03
1,310-33
L.201=-03
1.095=-03
1,000=03
9.109-d4
B Y427
?c7b3“04
71167-04
00650-04
Lo LiH~04
JeDL7=04
2.2§L_Uq
LeSug=U4
1.643+02
2.50H7+02
L TUHBLU2
2270402
cd81l7+062
ZelB1i+02
2.142+02
l.408+u2
9eleh+ul

A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)
2+008+02 L4,5484+02 b,088B+02 HR,.625+02
1.148+02 2Z,001+02 2,678+02 2,914+02
6.397+0T 1., II0F027I,U9IF02 TTL,623F02 T
le34N+01 2,561401 3,495+01 3.873+01
5,800+00 1,009+01 1,352+01 1.476+01
3.156+00 S,428+430 7,212+400 7.820400
1.968400 3,364+00 G,455+00 4,820400
8,559=u1 1,404400 1,836+00 1.970+00
4,512=01T 7,482=01 "9,642=01 " 1,026%00
de0l7=01 5,738=-01 7,351-01 7.772=01
3,014=01 4,680~01 5,747=01 6,03%=p1
2ed71=ul 3,890=-01 4,743=01 4,791=01
2e030=01 3,215=01 3,939=01 3.965~01
1,696=01 2,640-01 3,271-01 3,292-01
1.420=-ul 72, 183-01"772,0680=01 7. 739=01
l.211=ul 1.,834=-01 2,213-01 2,236=01
1,021=01 1,528-01 1,826=01 1.825«D1
5.347=02 g.03n~02 9,626=02 9,652=02
2.750=u2 4,148«~02 4,985-02 5.,012~=02
1,393=y2 2,103=02 2,53u4-02 2,583=02
T.206=02 1,090-02 11,317-02 1.329-0Z7"
B4897=03 0.,663=03 &,059«03 B8,150=03
3.504=u3 5,315=03 6,437=03 5K,521=-03
34157=u3 4,792-03 5,807-03 5,.886=03
2.85=03 4,335-03 5,255=-03 §,329=03
20591"03 3.934“03 41770-03 40840*03
e J60~03 SUTBRO-U3  4,343=03 H,407-03" °
2.156_05 5,267—03 59964-03 Q.025—03
1,974~03 2,991«03 3,628-03 3,685-03
1e312~03 ,747=03 3,329-03 3,3B82=03
lecobb=d3d 2,529=-03 3,061=33 3.110~03
1433%=u3 2,333~33 2,824~03 2,867=03
T.4i84=03 ,197=-93% 2,612-03 *,648=03
1.309=u3 1,997=03 2,421=03 2,451=0%
l,¢12=U3 1.,847=03 £2,247=03 2,277=03
To015=0 1,0AR=03 1,299-03 1.323~03
heylt=ut L,724~04 8,177=04 A,325=04
2.961=0h 4 ,506=04 S, 478=0084 5.574=04
lLiclb+ye  G.0R1+4C01 4851401 2,.684+01
1,080+02 1,257+02 7,548+01 u,176+401
2,020 40,2 1,350+402 8,105+01 4,48%+01
Cel27F02  L,G14402 H,485401 ¢ ,5695+01
2.661+02  1,385+02 8.,315401 4,601+01
1.832+uc  1.,220402 7,323+01 4,052+401
L.5824u2 1,0858402 o6,324401 3,499:01 °
1.040+02 &,9240+401 4,156401 2,.300+01
6o 742+ul  H,4H8+01 2,.6240401 1.L91+01



K910904-2
TABLE WIT

ABSORPTIUN COEFFICIENTS OF NEON
AT TOTAL PRESSURE = 100 ATM -

WAVE * TFMPERATUPES (DEG K)

NOS, ¥ 3,000+04 g,700 " U000 T T 0,000 T T C0L,000° T

en~lox cm=-1 .
1 e A Ak e ok ok ok s ok ok ok sk ok sk ok st s ok kR koK e ek s oK 36T Tk S SR R IR s o ok Rl RNk e sk e ok R R kK

*  A(TOTAL) -A{TOTAL) A(TOTAL}) A(TOTAL) A{TOTAL)

1,000403 * 5,319+02 §,700 0,000 -~ n,OOn n.oon -
1,500403 *« 2,780+402 0,000 06,00n 0.000 0,000
2,000+03 % 1.,548+02° 0,00 0,000 n,oon - -o,00p U
%,0004+0% % 3,720401 0,000 9,000 n,000 0,000
0, 003+03 *  1,430+01 - 0,090 0,000 0,000 0,000
3,000+4032 % 7,472+N0 9,000 0,000 0,000 0,000
1,000+04 * 4,584+00 0,700 g,00n n,oon al.000
1.5004048 % 1.862400 0,000 0,000 n.000 0,000
2,0004+00 % 9,6829«01 0,000 0,001 0,000 T a. oo -
Z.250400 % 7,268«-N1 0,000 0,000 Ne00D 0.000
2,500404 « $,612«-N1 0,000 0,000 n,00nN 0.000
2,750404 % 4 413=01 0,000 0,000 0,000 0,000
3.000+04 * 3,551=-N1 0,000 g.000 0.00N 0,000
3,250+04 * 2,930-01 0,000 0,000 n,000 0.000
3,.500404 ¥ 2,4%2=-01 0,000 g,000 0.000 o,o0nn
3,750+4CH + 2,021=-01 9,000 0,000 n,o000 0,000
4,000+048 ¢ 1,0635-01 0,000 0.00n D.00N 0.000
4,500408 ¥ R,646-N2 0,000 0,000 N,.,000 0,00n
$,000404 * 4,500-=02 9,000 0,000 0.000 0,000
5,500404 % 2,298=02 0,000 0,000 n,000 0.000
0,000+0% * 1,198-02 0,N00 0.000 f.000 n.o0on
we50046 % 7,361-013 0,000 0,00n n,000 0,000
7,00040% x 5,898-93 0,100 0,000 n.00n n.000
7.250404 % 5,327-03 0,000 0,00n n,oonn 0,000
7.200408 ¥  4,827=03 0,000 o.o00n N.000 n,ogn
7.750+94 %  4,386-N3 0,000 0,000 D.00N n,000
3,000400 «  3,976-03 0,00 g.00n0 0.000 n,o00n
$5.250+08 ¥  3,651=N3 0,000 0,000 0,000 0,000
8.,500+04 * 3,343=-0% 0,100 p.oo0 n,000 0,000
B.750+04 ¥ 3,069=03 0,000 g,o0n n.00N 0.000
9,0004+0Y4 %  2,.824.0% (,100 g,onp 0,000 0,000
9,250+014 % 2,604-03 (1,100 0,000 rc.00N 0,000
9,50%+08 ¥ 2,4N6-03 0,000 0.00n n.00n n.,000
9,750408 % 2,227-0%  0,.MN00 0,00n n,oon 0.,00n
1.00340% ¥ 2,065=-03 0,100 v 0,000 N.000 0,000
1.230408 % 1,.210-03 3.700 0,000 f.000 0.00n
1.400+05 *  7,579-=04 2,000 0,000 0,000 0,000
1.,6004085 ¥ 5,073=04  (,Nn00 0.000 N.000 0,000
1,80040% % 1,434+01 0,000 0,000 n.00N n.00n
2.000+405 %« 2,232401 0,000 0,000 n.00N 0,000
2.200+05 x 2,396+01 0,n00 o.nan n.oon n,o00n
2.,0004+05 *  2.509+01 0,000 0,00n nN,00N 0,000
3,00040% *  2,4859+71 0,.P00 a,00n N.00n 0,000
4,0004+P% » 2,165+01 0,000 0,000 N.00N 0.000
5,00040% = 1,870401 0,.N00 g0.00n n.oon n.oon
7,500405 % 1,229+01 0,000 g.0n0n n.oon 0,000
1.000+06 *  7,965+00 o,.N0DO o.0ne 0,000 n.00o0

63
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WAVE
NOS
cmw—i

1,000+03
1,509+03
2.000+03
4,00u+03
6,003403
8,00J0+03
1,000+04
1,500+404
2,000+04
2.,250+04
2.50u+04
2.759+04
3,000+04
3.250+04
3,500+04
3.7bU+04
4, 00p0+04
4,50u+04
5,000+04
S,50u+ly
6. 00U+00
6,5450+04
7.0p0+04
7.,250+04
7.500+04
7.750+04
8,00u+04
B.,250+04
8,500+04
8,75u+04
9,0pu+04
9,250+04
2.,30u+04
9,750+04
1, 0p0U+058
1.200+05
1,40u+05
1,60u0+05
1,80u+0%
2.04u+0s
2,2uu+05
2,6puU+05
3,0pu+ds
L, 0pu+0b
5,00p0+08
7.50U+05
1.000+06

ABSORPTION COFEFICIENTS _OF _MEON ___ _ .
AT TOTAL PRESSURE :=250 ATM
TEMPFRATURES (DEG K)
1.000+03 " 3,000+038 &, oog+03 b.,000+03 B8,000+03
cM ——
*;**k**********************#********************************'
A{TOTAL) A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL}
0,000 0.00n 1,333=10 2,950=06 3.593=04%
0,000 0.u00 8,058=11 1,826-06 2,235=04
0.000 0,000 T 5.B04-11 1,277-05 1.578-04
0.,00Q 0,000 1.,949-11 4,924=07 6.356=05
0,000 0.oon 9,55G=12 2.579-07 3.467=05
0.000 0,000 5,451=12 1,543=07 2,147-05
0,000 0,000 J.408=12 9,988-083 1,429=05
0,000 0,005 _ 1.341~12 4,119-08 6,195-06_
0,000 f.000 6.430=13  2,012=08 3.,123=06
0,000 0,000 4,658~13 1,462=-08 2,299=06
0.0UQ 0,000 3,435=13 1,081=08 1,722=06
U.000 0,000 2.563=13 3,094=~09 1,311=06
0,0u0 0,000 1,940=13 b©0,120~09 1,011~06
J.000 0,000 1,475=13_ 4,5658=09 7,838«07
UL 0UD 0,000 1,126=13 5,558=09 5.257-07
U.090 0,000 B.b04=14 2,721=09 5,035=-07
0,000 0,000 beBT7P=14 2,0R0=09 4,110-07
0.000 g.000 3,797=14 1,203=09 2,324-07
Us00G d,q00 Z.143=10 6,793=-10 1,290-07
0,Guy 0,900 1,181-14% &,748-10 7,008-08
0.,00¢ 0,000 b.626-15 2,103=-10 3,884=08
0.0V D,u00 4,362~15 1,385=10 2,531=08
0.000 0,000 5.733~15 1,1A7=-10 2,148=-08
Ue00G 0,000 3,481=15 1,107-10 1,99%5«08
0,000 0,000 3,254=15 1,035=10 1,858=08
.00y 0.u0n 3,048-15 9,696~=11 1.735=08
JeUuUn 0,000 2.862=15 9,105~11 1,623=08
U.OUn OQUUn &.691-15 80566_11 1.522“08
Jeuut, 0,000 2.536-15 8,073~11 1,431=-08
OOUUG U-UOG d.ﬁgu-ls 7.622-11 1-347-08‘
0,000 0.000 2.263=15 7,208=11 1.,277=08
0. 00C J.,00n cel83=15 6,827-11 1,200=08_
0,000 D.000 ce032=15 6,475=11 1,136~08
Us0uC Oe.u00 1.930=15 ©0,150=11 1,07A~08
UOUJQ U.de 10535”15 b.8&9-ll 10021-08
J.udC 0,000 1.,276-15 4,075=-11 7.017=09
DeUu0 0,000 9,391=16 35,002=11 5,11°=09
{0,000 0,000 7.109=16 2,304=11 3.900=09
LOUBHUE  SaU3P4y0  2.951°403  1,679+03 1,260403
Le50BS+0H  7,039+03  3,920+03 2,5613+403 1,960403
l.G&Q*ﬂq 8¢4lﬁ+03 40£0?+03 3'8n6+03 w.&nu+03
Lo7b3+bq 8.31%+03 4;“06+03 2.938+03 ¢-20J+03
1,727+408  8,036+03 4,318403 2,879403 2,159+03
1.5c1+08  7.006+03 3,303+03 2,535+403 1,001403
1.310+4084  6,5%68+ud  3.284+03  2,189+403 1.642+403
BeB33+U3  B.317+035 £.158+03 1,439403% 1,079+03
5.596403 2.798+03  L.300+03 9,327+u2 A,095+402

*

*
*
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TABLE IOX1
ABSORPTION COEFFICIENTS OF _NEQN

65

AT TOTAL PRESSURE =250 ATM

WAVE % TEMPERATURES  (DEG K)

NOS,  * 1,000%04 T, 200¥%04 1,500+04 YT,e00404 1,B0n+0G

em~1 * .C_Ei:l‘ .
W 2 03 o o o o K e s o o ok o e ok oK sk sk s S Bk ok sl o ke ok sl ok sk Kok 3 e ok o e ok sk S S o oo e ok ok

* A(TOTAL) A(TOTAL) A(TOTAL} A(TOTAL) A(TOTAL)
1.,000403 * 7,026=03 1,343%01 2,023+00 1,708+01 B8,868+01
1,500403 %  4,011=03 6,%13-02 8,965=01 7.544+400 3,908+01

2,000+03 * 2,686-03 3,627-02" 5,006=01 4.219+00 2Z,180+01
4,000+03 « 1,037-03 1,012-02 1,119-01 O,248=01 &,745+n0
0,000+03 ¥ 35,711=-04 73,N56«03 5,017=-02 4.018=-n1 2,01R+n0
8,000+403 * ,3,610=-04 3,104=03 2,887=02 2,253=01 1,1144+00
1,0004048 % 2,467=04 2,117=03 1,907=02 1,452=01" 7,060=01
1,500404 % 1,150-04 1,104=03 1,004=02 6.693=02 3,123=01
2.000404 * 6,298-05 6,%89=-NF §,343=03 4,339=-02 1,961-01
2,250+04 % 4,875=05 5,760=-04 5,369=03 3,545-N2 1,552-01
2,.500+04 % 3,875-05 4,755-04 4 ,666~03 2,996~02 1,270=n1
2,75%404 *  3,160=05 #,%67=04 4,137=03 2,585«02 1,069=N1
3,000400 % 2,642-07 3,729«04 3,726=03 2,264-02 9,141=n2
3,290+04 # 2,2h5=05 3,595=04 3 394-03 2,006=N2 7,908=-02
3,500+00 % 1,990-05 3,335-n4% 3,118~03 1,792-02 6,892-n2
3.750400 ¥ 1,789-05 3,127-04 2,881=03 1,609=N12 6,040=Nn2
4,000400 ¥ 1,627-05 2,720~04 2,6309=03 1.434=02 5,261~02
4,500408 %« B3,744=06 1,523=04 1,366=03 7.42R=-03 2,735=02
5,000404 * 4.537=-N86 7,.,850=05 6,975=04 3,793=03 1,400=-02
5500404 * 2,421-06 3,985=N5 3,51N=04 1,907=N3 7,051=-n3
,000404 ¥ 1,295-96 2,075~05 1,800=-04 9,827=04 3,636=N3
£.500404 % B8,171=07 1,277=n5 1,102-04 5,981=04 2,215«N3
7.000+048 ¥ 6,73%=07 1,027=05 8,779=05 4,750=04 1,764=03
7.25040U * 6,174=07 9,%07~06 7,912=05 4,277=04 1,590=03
7.500+04 %  5,678=07 2,461=06 7,157=05 3,864=04 1,436=013
7,750408 %  5,237-07 7,717=n6  6,495=05 I,503=04¢ 1,301-03
3,300400 *  4,845=07 7.060=06 5,913%3=05 3.,185=nN4 1,183=n3
8,250+00 ¥  4,494w07 £,079=06 5,399=05 2,904=n4 1,079-03
@.500+08 * 4,178~07 5.961=-="6 4 ,943=05 2.656=N4 9,863=-04
8,750408 % 3,894=nN7 5,499-06 4 ,538=-05 2,435=N4 9,043=n4
9,003+04 % 35,637=-07 5,085=06 4, 175=05 2,237=4 8,310=-n4
9,250+00 %  3,404=N7 4,712-06 3,851=-05 2.061=n4 7,655=n4
9,500408 %  3,193=07 H,377-n6 3,560~0" 1.,90%=N4 7,067=n4
9,750404 x 3,000-07 4,774=06 3,298=0R 1.760=-04 6,537=-n4
1.000+05 %  2.823%3=07 3.790=08 3,061=05 1.631=N4 6,059=n4
1,200405 % L. B3W=n7 2,307~06 1,791=05 9,443=N5 3,50R«n4
1.400+0% %  1,282-07 1,521-06 1,141=05 5.94R=05 2,210-n4
1,600405 *  9,4UB=08 1,066=np 7,728=06 3,985=N5 1.,481=n4
1.50040% %  1,0084N3 3.,389+N2 7,160407 A.,175+02 5,291+n?
2,000405 * 1,568¢03 1,%05+93 1,110403 9,60R+02 B,2334N2
2,200+0° % 1,683+03 1,802+03 1,196+03 1.032+40%  8,840+0?
£,600408 * 1,7A2+03 1,167+n3 1,252+03 1,0804n3 9,2554+n2
3,000+0F % 1,727+403  1,83840% 1,227+03 3,05R+03 9,069+n?
4,000+N5 *  1,521+03 1,%°66+03 1,081403 ©,321+02 7,987+n2
5,000405 % 1,314+0%  1,094+4n3 9, 334402 R,0504N2 6,89R4N2
7,50040% % 8,632+402  7,187+402 6,138402 5,290402 8, 533407
1.000406 % 5,596402 L,A59+02 3 _076+02 3.429+07 2,93R+07
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TABLE - MOT
AgSORPTION COEFFICIENTS OF NEON

AT  TOTAL PRESSURE =250 ATM
WAVL * TEMPCRATURES (DEG K)
T NUS. ¥  2,000+04% 2Z2,200¥00 " 2L O000F0F 2, 600F 0% 2L, BUUR0Y
cu-l - x =1

3 o 3 s 3 O 3 3 K K ok o 3K ok sk o 3 K R 2 R S ok i s ok SR e o sk A 9k o ok sk 3K ok oKk XK e ok o 3 ok SR R o o ok ok o e o

*  A(TCTAL) A(VTOTAL) A(TOTAL)Y A(TOTAL) A(TOTAL)
1,000403 % 3,136+02 8,08R+02 1,576+03 2,802403 2.971+03
1,500403 *  L,080+U2 3.555+02 6,925+02 1,055+03 1.305+03
2.000+403 * 7,.,686+01 1,978%02 "3,851+02 7 5,B66402 "7,257+02°
§,000+03 * 1,683+01 4,425%401 b,796+01 1,367402 1.722+02
6,000+03 * 6,967+00 1,771+01 3,441401 5,248+01 6,515401
B, 00U+03 * 3,803+00 9,578+y0 1,839+01 2,780401 3,428+01
1,000+04 * £,381+00 5,939400 1.,123+01 1,706+01 2.100+01
1,500+04 % 1.021+00 2.491400 u,664+00 6,933400 B, 461400
2,000+404 % 5,733-01 1,3532400 2.408400 3,.593+00 4,351+00
2,250+04 * 4,0605%-u1 1,067400 1,872+00 2,723+400 3,276+00
2.5u0+08 * 5,876-01 8,844-01 1,52Z24+00 2,118+400 2,529+00
2,75U0+04 %  3,176~01 7.220~01 1,26L+00 1,744400 1,999+00
3.,000+04 x Z,60L~01 5,920=¢1 L,042+00 1,446400 1,.651+00
3,25U+004 *  £,255=01 4,93%=yu1 4,523%-01 1,198+00 1.368+00
3,500+04 % 1,928=-01 4,149=-01" 7,06I=01 9,778-01 1.136%00"
3.?50+04 * 10657-01 3-508-U1 5.592=01 H.0ﬁ3—01 °0243-01
G, 0g0+08 % 1.41le=-01 2,953=01 4,896=01 ¢.626~01 7.521=D1
U,50u+04 %  7,392=02 1,047=ul £,57L-01 3,403-01 3,977=01
5.,0p0+04 *  3,795-02 7,96R=y2 1,330-01 1,809-01 P2.065=01
B5,50uU+04% * 1,915%=02 4,03Nn=ug2 6,742=02 9,1095=02 1,052=01
6,0p0+04 * G,890=03 2,085%=02" 3,408=02 &4,776=-02 K,475=02
B,50J+00% * 0 020=d3 1,.72=02 2,135=02 2,923~02 3,357=02
7.0u0+04 % 4,798«~03 1l.013%=y2 1,70%=02 2,335=02 ?,685=02
To25U+04 ¥ 4,327=-03 9,132=y3 ]1,530=U2 2,1i0b=u2 2,424=02
7.500404 *  3,815=03 83,25°=03% 1,3372=02 1,9N6=02 2,194~02
7750404 *  5,503E=U03 7.,494=y3 1,260=92 1,730=02 1,003=02
8,000+04% * 3,235=03 5,427=03 1,147=02 1,575=02 1.815=0Z2"
B.2H0+04 * £,94C=y3 0,235=03 .,047-y? 1,438=02 1,657~02
B,54uU+04 %  2,69u=U3 S5,.711-03 92,505=03 1,316=02 1,.,517«02
Gea75u+0h * Z,409=U3 S5,:l83=U3 0.403=03 1,207=02 1,392=~02
9,000+04 * 2.,27{=03 U4,319=33 8,195=33 1,110~=02 1,280=02
Gaebu+04 *  2,091=03 H,434=03 7,473=03 1,024=02 1,180=02
9,500+08 *  1,93n=03 4,08%=u3 o,915~03 9,473-03 1,090=~02
9,750+04 * Ll.70%=03 3,,8%=u3 bL,.,401-03 8,780-~03 1,009=02
1,00U+405 % 3.609=U3 3,506~u3 0,925~03 8,152«03 9,372-03
1,200+0% *  9,57¢=04 2,0272=u3 3,421-03 <4,711=03 5,448=03
1,600+405 *  0.034=00 1,273=03 ,154=03 £,965=03 2,426=03
1,6yu+d5 *  G,044=04 8,,560=04 |, ,440=03 1,986=03 2,294«03
1,8p0+405 »  4H,402+402 3,482+y2 2,558+02 1,721402 1,084+02
2, 000805 *  peBLL+UZ  S,4174u2  3,930402 2,683+402 1.686+02
2,c00+0% % 7,305+02 DS.ul74vz 4,274+02 2,892+02 1.81l14+02
C.60U+0E * T, 700+u2 6,09N+u2  4,474+02 3,028402 1.39A+402
3.00u+05 *  7.546402 5,968+02 4,3%+02 2,9567+02 1.85%4+02
4,00U0+0% * D.p3L+U2 5.256+02 3.861+02 2,013+402 1.634+02
9,00d+05 * 2,739+02 4,539402 3.33%5+402 2.,257+02 1.413+02
7.50u+05 ¥ 3,772+U2 2.982+4u2 ¢,191+02 1,483402 ©,285+01
l,0pu+06 *  2ot45D+Jd2  1,938+402 1,421407 Y,013+01 A,019+401
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. AT TOTAL PRESSURE =250 ATM

WAVE * TEMPERATURES (DEG K)

NOS, ¥  3,000+0%  g,700 o,000 D.000 ~ 0,000

eyt ¥ oM
s b o 3 e ke ok ke e o 3 e ok oK o 3 el e sk ol Sl sk sl s sk e ke e 3K e s e e ke s e S sk ke e o ol she ol e sl e e ol o 3 sk ske ok e ok

*  A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)

1.000+493 % 3,145+403 0,Nn00 0,00n 0,000 n,o000
1,500+403 % L.382+03 0,000 0,000 fN,000 0,000
2.0004+N% % 7,686+02 0,000 0,000 0.000 o, 000
4,00040% % 1,837+02 0,000 6,00n n.000 0,000
6.000402 % ,7,013+01 0,000 6,000 0.000 n,nan ¢
§.,000+40™ % 3,641+01 0,000 0,008 0.000 6,000
1.000+68 % 2,221401 0,Nn00 0,000 N.DOD o.08N0
1.500404 = 8,398+00 0,000 0,00n N, 00N o.00n
2.000+00 % E45+00 0,000 0,000 0,000 0,000
2.2504+00 «  S.H12+400 0,000 o,oonr N.000 0,000
¢.O00+0U % £,620400 0,000 0,000 nN.000 p,o00
2eTB0+0 x  2,0%040n0 0,M00 g,000 o.000n n.000
3,000+94 % 1.644+400 0,700 0,000 n.00n 0,000
Je2H0+04 #  1.,354+400 0,000 n,aan fl.00N 0,000
3,500+00 % 1,122+00 0,000 n,00n n,.non n,oon
J3.750404 x  9,306-01 0,000 ¢,00n n,oon n,000
4,000+08 *+  7,503-03 10,000 0,00n D.00N 0,00n
4,500+00 % 3,0”7-N1 0,000 0,060 n.o0n 0,000
5,000+02 % 2,084-N1 0,000 0,00n n.00N n,ooo
5,500+ % 1,054%~-01 0,000 6,000 n,000 a,00n
6.,000+04 %  5,195-02 0,000 0,00n n.00n n,00n
0OV * S75=02 0,000 0,00n 0.00n 0,000
7.000+04 % 2,704~-02 3,000 6,000 n,ono n,000
7.,25J0+04 % 2,442-02 0,000 g,00n 0,000 0.000
7.,5080+04 % 2,213~02 3,700 0,000 f,000 0,000
7.759400 % 2,011=02 0,000 0,000 n, 000 n,o00n
#,300+00 % 1,83%32-02 0,000 n,o0nn n,oon n.oagn
U«230+08 ¥ L,073~02 0,000 o,o0r 0,000 n,non
3.9500+08 *  1,532-02 0,700 g.00¢ n.000 0.00n
7304048 % 1,H07-02  J.700 g,o00n n,oon o.00n
9,000+08 % 1,294%<n2 0,700 0,00n n.oon n.oon
9.2%0+00 ¥ 1,193=02 0,000 0,000 0.00Nn 0,000
9.500+0 *  1,102-n2 0,000 n,00n n,oon n,oon
.70+ % 1,U21-N2 0,N00 0.00n n,gon 0,000
1,000+0% ¥  9,4%64-N3  §,700 0,000 n,00n n,000
1.20043% %  »,L48~03 3,000 g,00r n,00n n,oan
1.400+0% +  3,473-03 0,700 g,non ft, 000 0,00Nn
1.500+7% *  2,324=-03% 0,000 n.,oor fl.n0nN 0,000
1,330405 *  b,433+01 0,000 0,000 n.000 n.,nan
2,000+0% « 1,001+07 0,000 6,000 f,000 0,000
2.,200495 x  1,075+472 0,709 0,000 0,000 n.aon
2e00d+CR % 1,125402 0,000 G,00n n.nop a,ann
3.000+M% & 1L,103+02 0,700 0,00n pL.00n n,oop™
T1L,00U+0% % 9,712+01 0,700 0,000 N, 00N ‘0,000
$.010+0% +  8,328+01 0,700 0,00n f.000 0.00n
7,500+0% % o,212+01 4,100 d,00n 0.000 0,00n
1.030+06 v 5,573401 0,700 g,a0n n.onn 0,000

TAuLE MIT
ABSORPTION  COFFFICIENTS. . QF. . NEON
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TAbLE JMIT
ABSORPTION  COEFEICIENTS OF _ NEON
AT TOTAL PRESSURE = 500 ATM

WAVE  * TeMPERATURES (DEG K)

NOS, * 1,000+03 2.000%03 &,000+03F ©6,000+403 8,060+403
Rt =l - ——
**********#*******************#*****************************

*  A(TOTAL) A(TOTAL) k(TOTAL) A(TOTAL) A{(TOTAL)
1,000+03 x 0,000 0.000 3,771~10 8,343-06 1,013=03
1,500403 * 0,000 0,000 2,279-10 5,165=06 6,310=04
2,000+03 * 0,000 0.000 1.557=10 3,613=-06 4,458=04
4,000+03 * 0,000 0,000 5,511=11 1,393=06 1,797=04
6,00U+03 * 0.0un 0,a0n Z2.700=11 7.295~07 ©,802«05
8.000+03 x 0,000 0,000 1.842=11 4,366=~07 6,070=-05
1,000404 x 0,040 Qoun G,639~12 2.825~07 &,040«05
1.500+0Q ¥ Uetln 0,000 3.794"12 1.165-07 10749:05
2.000+04 * 0,0Ug 0,000 1.821=-12 5,692-08 =2,803=06
2.250404 * U.000 0,000 1.3iR=12 4,135=-08 &,469=06
2,50L+04 * (.00 G, uln 9,715=13 3,057=-08 U,836=06
2,750+04 % 0,000 0.000 T.26L=13 2,290=08 3,667=06
3,00u+04 % 0,000 G.udn h.406=13 1,731-0&6 2.614=06
3,250+04 = 0,000 G.u0N bel71=13 1,317=08 2,1B84=06
3.500+04 * 0,000 e,uon veldti=13 1,006~-08 1,714=06
3,75u+404 x  G.060C 0,u0n L u3u=13 7,507=09 1,361-06
G,op0+00 %  G.000 0.u00 L.d89=13 5,3R32~09 1,093=06&
4,5%00+04 * U UGG 0.00C L.,07u=i3 3,402-09 6.,219=07
5,0uu+04 *  U,0400 0,000 6.UG2=18 1,922=09 %,467=07
5,50u0+04 * O.uud 0,u0n J.34%1-14 1,060-09 1,892=07
6,.0pU+04 * 0,0y 0.00" i.,B7u=14 5,950~10 1,052=07
6,50U+04 x 0,00¢C 3.,000 Le234=]8 5,919=10 6H,878=-08
7.000+04 * 0,000 G.000 1.,056~14 4,356=10 5,8%52=08
7.250+04 % u,0u" f.007 GoAA=15 3,131=10 5,443=-08
7|SUU+04 * UOOUU O.QOQ 9020”'15 30927-10 5-075_08
7,75u+04 * O.,dun n,30n B,622~15 2,743=10 4,743=08
8,00Uu+04 * J.0un 0,000 B,0004=15 2,575=10 0,44%-08
8,25Uu+04 * U,0U¢ D,407 7.613=15 2,423=10 4,171-08
E,500+04 x 0,000 O.u0n 7«17%3=15 £,284~10 3,923=08
8,75u+0l4 *  D.000 0.600 L.771=15 2,1586=10 3,5696~08
g, 000+ *  JJ0If 0,004 L 4F2=15 £,039=10 7,489-08
9,p5u0+04 + 0000 D.000 beDA2-15 1,931-10 *,299%=08
g,5yu+C4 % 0.0 J.001 5.74%=-1% 1,832-10 3,124~-08
9,750+04 * U.UUH 0,00 H.452-15 1,740-~10 2,962=03
1,000+05% % U.0UY N.ugn 2.130=15 1,6855~-10 2,813-08
1,200+0% » 0,000 Q. 00N F,6010~15 1,153=10 1J1,941=08
1,400+05 = U.004 J4U00 2.656=15 B, 471=11 1,421=08
1,6p0+05 x U004y 0,006 £4.036~1% ©0,516=11 1,085=08
1,400+05 % 2.Ukstulr  1.008+4ud4  5,038403  3,359+403 2.519+03
2.00L+%05 *  3.136+08  1,268+04  7,039+403 5H,226+403 3.920+03
2,200+08 % 3,367+ul  1,08u+yly  3,417+03 5,612+03 1.,279+403
2,60U+05 ¥ 3,02L+04  1,763+04  U.813402 5,875+403 4,006403
3,600+05 x  o.456404 1, /727404 p.630+02 5H,757+40%  U,318+03
B ugu+0n * I8+ 08  1,521+0%  (,00A+)3 DLO70+03  F,307403
5,00u+05 *  dh027+J8  1.318+404  6,959+403  4,379+03  F,234+403
7.500+405 %  L.727+94% 8,03%+u3  4,.317+0% 2,873+03 *,158+403
1,00u+06 *  1,1194J4  H,096403 2.798+0% 1,.865+03 1.392+403
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TABLE AOT
ABSORPTION COEFFICIENTS. OF._NEON __
AT TOTAL PRESSURE = 500 ATM

WAVE  =* TEMPERATURES (DEG K)

NOS,  * 1,000+04" 1,700+0% 1 ,800+04  T.600%6E Y, B060%04 ~

cm=l  * cu™t
apc 30 3 ok s 3 e 3 e e 3k sk o s sk ke sl kol sk ol ke ok 3 ke 3 o ke ok e e o o 3 sk S sk 2 ok s ok e o e e ok sl e ol o ook

* A({TOTAL)® A({TOTAL) A(TOTAL) A(TOTAL) A{TOTAL)

1.000403 * 1,825~02 2,R790=-n1 4,158400 3,.555+M1 1, 88R+N2
1.500+03 = 1,064-02 1,382-01 1,847+00 1.568+401 8,312+01
2.000+03 % 7,231-03 8,N75=02 1,02094+00 &,763+00 4, 633+01
4,000403 % 2,843~03 2,353=02 2,29R=-01 1.913+00 1,003+n1
04000+03 % 1.,574=03 1,197=02 1,030=01 R.278=01 4,246+00
€.,000+40% * 9,959=-04 7,007=03 5,927=02 #4,625=01 2,334+00
1.000408 * 6,790=04 §,064=03 3 ,910=02 ?2,971=01 "~ 1,4734+00
1,500404 % 3,138~04 2,597=-03 2,056=02 1,361=01 6,460=01
2,000+04 % 1,691~048 1,584=n3 1,294=02 8,800«02 &,042=n1
24250404 % 1.294<N4  1,306=N3 §,093=02 7,17%«N2 3,19N=n1
2.500404 * 1.014«04 1,107=03 9Q,482=03 £.087=0P 2,6085-n1
2.,750+04 ¥ 8,127-05 9,622=-04 8,397-03 §,210=N2 2,189=n1
3.000+04 %  6,0A1-05 B,538=-04 7,545-03 4,56R=N2 1,860=01
3,250400 *  5.583-05 7,714=04 £, 863=0%7 4,045=N2 1,614=01
2,000+04 %  4,788-05 7,075=~04 §,296=03 3,612=N2 1,4306=01
Je 720408 ¥ 4,200=05 A,567=N4 & ,800=0% 3,241=012 1,231«n}
4.000404 % 3,731=N5 6,0180=04 5, ,317=03 2,888=02 1,072=n1
4.5004048 *  2,025-05 3,188~04 2,754~03 *1,496=N2 5,571=02
5.,000+04 * 1,084=05 1,A50=~N4 1,40R=03 7,639=N% 2, 852072
5,500+04 *  H,709-06 8,417~05 7,092=04 3.,839=N3 1,434K=n2
6,000+C4 % 3,077=N6 4,803=N5 3,659=04 1,979=0% 7,40/=03%
6.,5004008 % 1,957=06 2,721=05 2,231=04 1,204«03 #,511=0%
7.000+404 % 1,624=06 2,198=N5 1,779=04 Q,565=04 3,594=03
7.250400 % 1,493-06 1,996=05 1,604=04 R.612=04 3,230.03
7000404 *  1,377=16 1,R818=05 1,452=04 7,781=N4 2,924m03
T 730+00 % 1,274=06 1,662~N5 1,31P«04 7,05%=04 2,649«03
8.000404 %« 1,182=06 1,523=n5 1,201=04 6.413=084 2,409-n3
Be250+00 ¥  1.099=06 1,401=-N5 1,097=080 S,84R=N4 2,197-n%
J.500408 *  1,025=16 1,791=-15 1,00%«04 &,34R8=04 2,009=-0%
d¢7350+08 ¥  3,577=07 1,193=~05 9,229=05 4,902=0N4 1,842~0n3
F.000+08 *  8,968<07 1,106~N5 8,497=05 4,505=04 1,603wn3
94250408 % B,418«07  1,727=n5 7,841=05 U4.,150=04 1,559=n3
9,500+084 % 7,909-07 9,%54=06 7,252=05% 3,831-N4 1,439~n3
F.750404 % 7,448-07 3,209-06 6,721-05 3,544=04y 1,331-n3
1.000+0%5 % 7,32%=07 3,323=06 §,242=05 3I,285=04 1,234a0%
1,200+40%5 * 4,034-07 5,125«06 3,669=05 1.907«0N8 7,144<0y
1.400407 % 5,279=07 3,4824=~06 2,347-05 1.198=04 4 501=04
1.80040% x  2,440-07 2.,1427~06 1,597=05 £,024=~0N5 3 016=04
14800405 % 2,015¢03  1,AT78+4Nn3  1,434+403 1.242+4N3  1,075403
2.00040% *  5,136+403 2,A11403 2,231+40% 1.932402 1,6724N3%
2.200+40% *  3,367+03 2 ,204403 2 ,396+03 2,075+03  1,795+n3
2.600+0% % 3,525+403 2,936+4n3 2,50R+03 2,172+0N% 1 ,880403
5,000405 % 3,454403 2,877+40n3 2,4S58+403 2,129+03 1, 842403
4,000+05 *  3,042+403 2,534403 2,165+403 1,875+N%  1,622403
5., 003+0% % 2,627+N3  2,1884n3 1,870+403 1.61°+403% 1,4014n3
7500405 ¥ 1,727+77%  1,438+4+03 1,220+0% 1,064+403 9, 207402
1.00340A * 1,119403 9,321402 7,96U+02 6,896+N2 5, ,8968+N2
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AT

JIABLE NVIT
ABSORPTION COEFFICIENTS OF
TOTAL PRESSURE = 500 ATM

(DEG K)

NEON

2,000+08 2,200F04 T 2TE0+0G 2. B00+04 2, 800+04

WAVE * TEMPERATIIRES

NOS. * i

CM_l * -1
o o ok o g oK K kK

*  A{TOTAL) A{7OTAL) A{TOTAL)

1,000+403 # 6,907+02 1,869+03 3.906+03
1.50U+03 * 50U56+02 S..06+02 l|7IQ+03
2.000403 % 1,689+02 4.561+027 9.521+02
4,000403 *  3,67e+01  1l.uls+32 2.163+02
6,000+03 % 1,515+01 H4,036+ul  B,4048401
B,00u+03 * 8.228+400 2,171+01 4.466+01
1,000404 * 5,126400 1,339+401 £,736+01
1,500+04 %  2.176+400 5.,L50400  1,112+01
2,000+04 % 1,212+400 2,937+00° 5. 766300
2.25U0+04 *  1,0154+00 2,337400 G4,3R74+00
2.500+00 * B,le6=01 1,942+40D 5,560+00
2,750+04 % 6,67(-01 1,583+90 &.949+00
3,000+00 % 5,575=U01 1,292+0C cotcfi+00
3,260+04 % 4,718=01 1l.u78+00 1,976+00
3.500404 % 4,027=01 9,014~gl 1.63%+00
3,750+04 %  O,456=01 T,u08=01 1,359+00
anUO+Du * 2095¢-01 6, 396~-0l 1-128+00
4,50u+04 & 1.541=-01 3,350-ul H.,726-01
5,000+04 * 7.910-02 1,72E-0l 3.,0A1~01
5.50U+04 *  3,991-02 8,725=02 L.552-01
6.000+04 * 2,C0l~12 H.513%3=d2 8,0143-072
65,500+04 * 1.2br=02 Z2.753=u2 &,914=~02
7.,000+04 *  9,996=03 2.194=02 5,919-32
7.253+048 * 9,017=u3 1,977=u02 3,533-02
7.900+04 *  5.106=03 1,78b=02 0,196-02
7.75J+04 ¥ 7.400-03 lev22=d2 2-900—02
8.000+04 * B.7U3=0G3  1.,478=02 c.639=02
8,25u+04 * Celd7=u3  1,350-Uz 2.,408-02
8,5(0+04 * 5,618-03 1,2356=02 <,295-02
8,750+04 * 5.146~03 1,135=42 <2.026-02
9,000+04 * 4,730=03 1.043~02 1.865=02
9,250+04 * H4,357=03 9.599-05 1.721-02
9,500+404 * 4,022=03 B.351-03 1.592-02
9,760+04 * 3,721~U3 8,18%=07% 1,47%=02
1,606405 *  3.442=03  7,590-03 1,363-02
1,20U+05 *»  1,99p=03 4,391-07 7,872=02
1.40U+0% #  1.257=U3 2,766=uf &,955=-03
1,600405 %  Ble7-04 1l,0bb=ud 5,321-03
1,800+405 % 9.126+402 74473402 5.811+(2
2,000405 * l.420+403 1,163+03 9,042+02
2.200405 * 1.525+03  1,248+U3 9,7073402
2,600+05 * 1+59+03 1,307+uld  1.017403
3,000+05 % LleSod+03 1,281+u3 9, 01+02
4,000+05 * 1.,376+03 1,12R402 ©,773407
5000U+05 * 1.190+403 S, THPH+G2 Te5T76+92
7.500405 * T7.818402 H.402402 4.979+J2
1,000+06 % 5,00h+02 4.,150+32 3,°227+d2

TO

1 — . o
s ok 4 KoK Ak g o ook 6ok T ok oK K st o o R ok sk AR Kook sk Rk K ok R

A(TOTAL)Y A(TOTAL)

6,454+03 BJTLTF03

2.,832+03 3.824+403

1,572+037 "2.71245%03

3,644+02 5.015+02

1,320402 1.884+02
7.318+4+01 9.852+01
4, 465+01 6,000+01
1,790+01 2.384+01
g, 160400 “LLZ1L1501I7
6,903+00 9,061400
5,3u0+400 6,956+00
4,388+00 ~.472+00
3,630+00 4,509400
4,000+00 3,730+00
2., 480400 3,090+00
2,004400 2.,506+00
1,645r0n 2,033+00
8.669-01 1.075+00
4,489«01 5,579=01
2,281=01 2,841=-01
1,135=01 1,479~01
7,252=32 4,06h7=02
5,791-02" 7,252=02
h.224=02 6,545=02
4,777=02 B,926=02
4,290~02 ~,331=-02
3,906=-02 4,800~=02
3,065~02 N,474=02
3,263=02 4,086=02
2.,903=02 3,758=02
2.752=02 3,457=02
2.,540=02 2,186=02
2,319=-02 2,943=02
2,178=02 2.,724=02
2.,022=92 2,530=02
1,168=02 1,471=02
7.,351=03 °,249=03
4,92U4=03 F,191-03
G,220+02 ~.865+02
6,567+02 LL.459+02
T,0R2+02 1,788+402
T.383+02 S.013402
7.225402 ©,912+02
B,371+02 1,326402
5,502+02 3.,735+02
2,616+02 P.45%+02
2340402 1,591+402
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TABLE XTIT-
ABSORPTION COEFFICIENTS OF NEON
AT TOTAL PRESSURE = 500 ATM

WAVE * TEMPERATUPES (DEG K)

NOS, * 3, 000+04 o,0O0 T T ULOODT TTTTWm,L,OooT © g, uon T T

cu=t X cy=t -
e ¢ 3K o 2 e e s 3 ke o ke ek sk ok sk ok e K ok ol oK e ke ok S s sk sk ok ok s e s ok ke o ok Sl R ok R Rk R e ok ok

* A({TOTAL)Y A(TOTAL) A(TOTAL) A(TOTAL)Y A(TOTAL)

1.00040% % 1,002+04 0,00 - N, o000 "’ N.000 " D,000
1.500403 x  4,395%+03 0,700 0,000 0.000 0,000
2,000+03 x 2,4%441+03 4,700 -~ ~0,000 n.o00n T0,00Mm
4,000+03 % 5H,807+N2 0,000 g, 000 0,000 0,000
6,000+07 % 2,202+02 0,000 0,00n 0.000 g.0op
8.,0004N3 % 1,137402 0,00 2,000 0.000 g,00n
1. 000+C0L * #,302+401 5,100 0,00n 0, 0an n.onn
L.500+08 % 2,725+¢N11 0.700 0,000 Nn.000 0,000
2,000+04 % 1,375+01 0,000 0,000 n.000 ” 0.000
£+.250+04 * 1.,026+01 0,N00 0,060 n.000 0,000
2.500+04 % 7.837+400 N,"N00 0,000 0,000 0,000
Ee750+040 % 6,100+00 0,000 4,000 0.000 0,000
3.000+04 % 4,B72+00 0,000 D, aon n.a0Nn o.00n
J.250+400 % 4,002400 0,N00 g,onn p.00N 0,000
3,500+040 % 3,310+00 Q0,080 0,000 n.oon n.oon
3,750400 % 2,.742+00 0,000 g,0600 N.000N n,oan
4,000+00 % 2,204+400 0,000 0,800 n.000 0,000
B,500+08 * 1,1A5+00 0,700 8,000 0,000 0,000
5,000+04 % o0,0%9=11 0§,N00 0,00n D.,000 8,000
L.500+08 * 3,095=-01 0,N00 0,000 0.,00N a,000
0,000+00 % 1,6]12=-01 5,700 g,00nN 0.00n0 0,000
0.50J0+04 * 9,902-02 0,700 o,00n n.0an 0,000
7.0004+04 « 7,933-02 0,000 0,000 n.0an n,aon
7.230+24 x  7,1A5=02 0,N00 a,o0n n.Q0N n,00n0
7.500+00 ¥ 5,491-02 (0,700 g,o00n n,00n 0,000
7,750+04 ¥  5,897=N2  §,N00 0,000 0.000 0,000
s,000+08 ¥ 5,373-02 0,000 0,000 n.00n 0.00n
3.250+04 *  4,908-02 0,700 g,000 0.000 0,000
8,500+400 * 4, 404-02 0,000 6,000 N.ONN 0.000
8,750+04 * 4,125-02 0.N00 0,000 n,.o0on 0,000
2,000+04 * 3,705-02 (,N00 0,000 n.o0on n,.onn
9.250+404 * 35,499=-02 0,000 0,00n n,oon n,ann
9,500+04 * 3,233-02 0,000 p.oon N,000 0,000
9,750+0G4 x  2,992-12 0,000 0,000 N.000 0,000
1,000408 «  2,775=N2 0,700 0.,00n N.00N n.000
1.200+405 * 1,628-"2 0,000 g.nan f0.000 n,oon
1,400+05 * 1,018-02 0,000 0,000 n.000 0,000
1.,6004+0% % 6£,813-03 (0,000 g.000 n.00nN 0,000
1.,800+0%5 » 1,842+02 0,000 p,onp n,oon n,oon
2.000405 % 2,8R0+02 0,000 0,000 0,000 n,0nn
2.,200+08 «  3,078+02 0."00 0,000 nD.00n 0.00n
2,600+05 % 5.,222+02 (."00 0,000 nN.00n 0,00n
3.,000+05 * A,1%8402 0,700 g.nor n.oon 0.000
4,0004+405 % 2.781+02 0,000 0,00n n,000 0,000
5.,000405 % 2,4n02+02 0,700 0,000 N.00N 0,000
7.,300+05 % 1,579+02 43,N00 0,000 n,00n a.pon
1.000+06 * 1.,023+02 0,700 0,00n n.oon 0,000

TL
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FTABLL

RTA SN

ABSURPTION COEFFICIENTS OF NEON

A(TOTAL)
1,159=03

q,186=04

3,301=04
1,115=04

70422-05_

3.212"05
1.615=05
1.186=05
A,856-06
60?05'06
5¢135=06
3,373=06
3.104=06
2.450=06
1.114=06
1. 403=07
1.8%96=07
Tc?“l‘D?
1,057=07
q.833—08
°-178"08
£,582=-08
R,043=08
70553-08
7.107-08
F.700=08
6£,326=08
5.983=08
ﬁ.ﬁﬁﬂ—OB
5.376~=08
5-107'03
2,531~08
2.58%=08
1,979=08
%,779+03
5, 380+03
5,313+403
f.6104+03
A, 477+03
S.704403
4,926403
2.237+03

AT TOTAL PRESSURE = 750 ATM  _

WAVE % TEMPFRATURES (DEG K)

NoS, *x 1,000+03 2,000+03 4,000+03 6,000+03 8,000+03

cu-l  x eyt ———
3 o 3 2 36 e 2 3 Aok 00 K 2 s o 33 I ok ok oo K K ok S ok o ok A s e ok A sk o ol S A e e ol oK i ok ok

*  A(TOTAL) A(TOTAL) A({TOTAL) A(TNTAL)

1.00u+03 % 0,009 D.00n b,928=10 1,533~05
l.bUO+03 * Uau0f 0,000 4o1lB7-10 _qugg-gé_
2,000+03 * 0,000 0.900 7 Z,a360-10 6,637-06
u.UOU+03 * OQUUD 3-000 11013_10 2.559-06
6,00u+03 * 0,00y 0.000 4,9A7=11 1,340=06
8,000+03 * 0,00¢ 0.u0G 2.832=11 8,021-07
1,000+04 x U,00y D.000 1,771=11 5,121=07
1,850u+04 * 0,000 0,u00 5.970~12_ 2,140~07
2,000404 = 0,000 0,000 3.346=~12 1,0u46=07
2,250404 *x 0,000 0,00n colt20=-12  7,597-08
2.5060+¢08 % (.0un D.,000 L, 785=12 5,610~08
2,75u+04 %  J,00C 0,000 1,335=12 H,207=08
A, 0pu+04 * 0,000 0.00n 1.008=-12 J3,181=08
3,.,253+04 ¥ U,00u 0,900 [+6BR=13 2,421-08
3,500+04 * U,0uy 0,080 3.849=-13 1,849-08
30750+0“ ¥ J.00¢ Neuun G471~ 1,414=08
§,00u+04 *  UL,UU0 0,006 Seh1s=13 1,081-08
4,.500+04 % 0,000 0,000 Ls073=13 b£,248=09
5.000404 x 0,000 0,000 lTellg=g 3 S,031-09
5,500+04 *  U,udp 0.,ul9 0 13A=14 1,9u8=09
6,0uJ+04 +  0,00Y 0,000 J.H43=14 1,093~=-09
b,=0u+0% % U,0up Ug,uur ce2hb=14  7,200-10C
7.000+04 % 0,900 0,000 1.940=14 6,166-10
T2t +04 % 0O,0uC 0,009 1,800«14 HH,752~=10
T.5pu+0l * w04t J.u00 1.,601=-14 5,378~10
TeTou+04 *  L00Y O.,u0n 1.584=14 %,0%9~10
8,04u+00 x  G,0uy Js.u0n Le4B7=14 4,732=10
8,25u+04 * U,040 De. 00" 139014 4§ UR2=10
B8.500404 % U000 0,000 1L.318=10 & ,196=-10
b,75u+04 % uU,00L 0,000 L.2084=104 0,961-10
9,0 uU+048 + w.000 N,0un L.176=108 AJ,746-~10
g.,250+04 ¥ u.00r NaUuUY Le11=14 45,548=1n
F,500+04 + UL,0UL 0,001 L, 0BA=14  5,365=10
9, /5u+0k ¥ 0,00y 7,000 1,00%=14 5,196~10
1.000405 4 C.0J0 Jeul7 9.,535=~15 3,040=1nN
1,20U0+405 «  G.0dy D000 3.633=15 £,118=10
1.4%0u+05 x  U,0uUn Oe.u0n $,380=15 1,5A0=10
l,60448% % 3,000 0,007 . 781=15 1,197=-10
1,600#05 % 3,023400  T.512+y4 l+5H58+33 H,038+03
2,00d+05 «  H,704+d4 2,35352+04 1.175+34 7,839+03
2.20u+03 £ 3,051+04 2.525+U4 L.2A3+04 8,418+03
2.,6LU+05 ¥  DH.28+ult  2.ob+dl 1, 3722+458  8,813403
2,00L+05 %  H.1lu2+3%  Z2,391+u4  1.29+44 8,636+03
4,0p040% ¥ 4.3503404 2.2824vy4  L.1891+34  7,6MN6+03
S5, 0pu+05 *  3,941404 1,971+084 9,153+03 6,563+93
T+HOUFUD *  2.090408 1,295 +J08 0,4754713 4,317+953
1,000406 *  1,079+08  4,594%+03 4,197+33 2,77%483

T2

2.099+03
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TABLE XNIT
AGSORPTION COCFFICIENTS OF NEON
Al TOTAL PRESSURE = 750 ATM

WAVE % TEMPERATURES (DEG K)

NOS, x= 1.000+04 -~ GF05  1,400+08 ~1.60n+04  1,800+00

M-l cM ™
************************************************************

* A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL) “A(TOTAL)

1,000403 + 3,223=-02 4,567-01 6,355+400 §,471401 ~ 2,945+02
1,500+0% * 1,898=02 2,211~01 2,815+00 2,413+401 1,296+02
2.000403 % 1,206-02 1,306<n1  1,571400 1 3874017 7,217+401
4,000+403 * 5,153~03 3.910=~n2 3,510=01 2,.,932+00 1,558+01
5.000+0% % 2,859=-03 2,011=02 1,574=01 1.266+00 6.571+on
83,000403% * 1,810-03 1,250=N2 9,055=02 7,.,055«01 3,602+00
1.000404 * 1,235-03 8,556=03 5,979=02 4,522=01 2,268+00
1.5004+04 % 5,677=04 4,346=03 3,136«02 2,061=01 9,882-01
2,000+408 % 3,036=N4% 2,A14=03 1,969=02 1.331=01 6,168=0]
2.250408 % 2,310=-04 2,137-03 1,661-02 1,084-01 4,859~01
2,500408 * 1,797=04 1,796=n3 1,430=02 9,142=02 3,961=01
2,750+04 % 1,428-04 1,546-03 1,272=02 7,.871-n2 3,325=01
3,000404 * 1,158=04 1,360~03 1,142-02 6.885-N2 2,835«01
3.250+04 ¥ 9,3592~05 1,218=03 1,038«02 A094=02 2,4847=-N1
3,500+04 % 3,115=-05 1,108=03 9,508=03 S,43%=02 2,130=N1
3,750404 % 7.017=05 1,021-03 8,765=03 4.B880=02 1,864=01
4,000+08 * b.l86-0% 72,3799-04 8,016~03 0,346=02 1,622=01
4,5004+08 ¥ 3,357=05 4,945-04 4_,155=0% 7>,251=02 B8,432~02
5,000+0% * 1.,8N7=05 2,568=-04 2,125-03 1,150=-02 §,317-02
5.500404 * 9,560=06 Ll.314=04 1,072=03 S,77R«N3 2,174-02
65,000408 %  5,180=06 6.796=15 §,533=04 2,979=03 1,121-0?
0.500408 * 3,307-06 4,774=05 3 376~04 1,R813=-03 6,827-03
7.000408 % 2,756=06 3,464=05 2,698=04 1,440-0% 5,430-n3
7.250404 * 2,538=N6 3,149=15 2 431~04 1.296=03 4,902=03
7.50040% % 2,345=n6 2,973=-05 2,200=-04 1,3171~03 4,426-N3
7.7504008 % 2,173-06 2,629-05 1,999=04 1.062~03 4,000-03
£,000408 * 2.019=-n6 2,814~05 1,821~=N4 9,652=N4 3,646=~03
5,250408 % 1,881-06 2,722-05 1,665=04 R,802-04 3,325-03
B8.500+04 % 1,7%6=06 2,0152-05 1,52%~04 R,048-04 3,040-N3
3, 750408 % 1,643-06 1,R99=-05 1,407=04 7,378-04 2,787=03
3,000+04 % 1,5481~06 1,761=-05 1,291-04 6A,781=04 2,562~03
9,250+08 * 1.448=06 1,A38="5 1,192-04 6,246~04 2,360=N3
g,500+00 %  1,362-NA 1,526-05 1,103-04 S,766=04 2,178«03
9.750+04 * 1,2R4=NA 1,425-05 1 _022=04 &,334=04 2,015=-0n3
1,00040% % 1,213=06 1,333=05 9 ,499=05 #,944~04 1,868~N3
1.200405 % 8,766=Nn7 3,781=N6 §,602=05 2,862~0% 1,081-03
L,400+0% % ».,744=N7 5,577-06 3,596=05 1,803=N4 6A,811=04
1.6004N5 ¥ 4,296=07 3,983-N6 2,456=05 1.20R=04 4,564=04
1.800+N5 % 5,023+03 2,518+nh3 2,153+40% 1,867+03 1,6234+03
2.000405 % 4,703+0% 3,918403 3,349+03 2,905+03 2,525+03

L200405 % 5,050403 4,207+n3  3,596+403 3,120403 2,712+n03
2.600+05 ¥ S5,287+03 4,504+403 3,765+03% I.26A+03 2,839+03
3.000405 % H,181+03 4.316+4N3 3,690+07 3I,201+N3  2,782+"3
4,000+05 %  4,543+03  3,301+03 3,249+403 2,819+03 2,450+n3
5,000+05 *  35.981403  3.282+13 2,80A+03 2,434+40%  2,116+03
7.50040%5 % 2.590+403  2,157+403  1,844403 1.600+03  1,3914+03
1.000+06 % 1.,679+N3  1,%98+03 1,195+403 1,037+413 9,014+02
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TABLE ¥IXT

ABSQRPTION COERFICIENTS .OF _NEON ..

Th

AT TOTAL PRESSURE = 750 ATM
WAVE % TEMPERATURES (DEG K)
TTTTROSY CO¥ 2 0UN+0R T 2020008 ZLG00F0% 2L, o00F0% 2L 800+00
CM"]. * M—l
5 o o 000 e e 3 RO R R ok 0K 8K R 3 ok ofe o ok SR s Ak K ok o R R o R R R R R NE
*  A(TOTAL) A(rOTAL) A{(TOTAL) A(TOTAL)} A(TOTAL}

1,000403 % 1,097+03 3.051+03 6.575+03 1,130+04 ~1.598+04%
1.,500+03 * 4,820+402 1.,339+03 2.883+03 4,954+03 6,995+03
2.000+03 % 2.680+402 T.434F07 T,600¥F03 "2, 749403 ~3,887%0% "
b, 000+03 * 5,815401 1,648402 3.,622+02 6,349402 9,136+402
6.,000+03 * 2,386+01 6,528+01 1.401+02 2,411+02 3.4l16+02
8.,000+03 *  1,292+01 3,,L00+Ul 7.419+401 1,264+02 1,779+02
1,000+04 * 8,022400 2,151+01 4,.528+401 7,685+01 1,080+402 -
1,50u+04% * 9,381+00 8,842+400 1,823+01 3,052+01 4,.250+401
2,000+04 * 1,873400 4/ OHW¥T0 " "9,3BZ¢00 1,509+ 01 "Z,1HOF0T" —
24250404 * ],560+U0 3,688+00 7.,113+00 1,162+01 1.,595+01
2.500+04 % 1,259+400 3.,062+00 5.742+00 8,960+00 1.210+01
2,750404 x  1,026400 2.491+00 4,766+00 7.351+400 9,.559+00
3,000404 * B,564=01 2,020400 3,912+00 6,072+00 7.867+00
J.2BU+04 *  [,238~01 1,083+u0 0,181+00 5,011+00 A,497+00
3.500404 * £,172«01 1,411400 Z,620+00 4&,065400 35.376+00°
34750404 % 0.292=01 1,189+00 2,179+00 3,330+400 4,347+00
4,0p0+08 #* 4,51l6=U1 ©,985=01 1,805+00 2,729+00 3.519+00
4,50U0+048 #  2,307~01 5,229=01 9,487«01 1,438+00 1,860+00
5.000404 * 1,2i0=01 2,093-01 4,900=-01 7,445=01 2,656=~01
5.500+04 * 6,106-02 1,362«01 2,484=-01 3,784-01 4,917=01
6,000+04 * 3,103-02 7,045~g2 1,287=-01 1,965«01 2.559=01
6,500+04 ¥ 1,921-02 4,297-u2 7,865-02 1,203~01 1,569=01
7.00u+04 %  1,530=02 3.424=02 6,272~02 9,604~02 1,255=01
7425008 % 1,379«02 3,086=0U¢ 5,655~02 &8,662=02 1,132«01
7.500+404 *  1,248=02 2,790=~02 5,11%5-02 7,838=~02 1.025=01
7,750+08 *  1,133=-02 2,032«u2 4,641-02 7,.,114-~02 0,308=«02
B,000+08 *  1,032=02 2,307=u2 4§,223=02 6,476~02 B.476=02 ~
B,250404 * 9,404=03 2,107=02 J,R8E4=02 5,911=02 7,739=02
8,500+04 * B8.59y~03 1,930-02 5,529~02 5,410-02 7,084=02
B, 750404 * 7.,870=03 1,772=u2 3,242=02 &,962«02 H.501=02
9,000+04 *  7,235=~03 1,629=02 .,985=-02 4,563«02 5,979=02
Fee5u+0l ¥  0e0605-U3 1.,493=y2 2,75%~02 6,211-02 5.511~=02
9,500+04 * ©5,133~03 1,381=02  "2,50F«0% TI,8%8«02 5,.000=02 ~
9, 75U0+0L *  D,0I2«03 1,278=y2 2,35=92 I,611-02 4,711=02
1,000+05 *  5.275~03 1.18%5=02 2,182=02 3,354~02 4,376=02
1,200+05 %  3,053=U3 6.853=~03 1,260=02 1,937=02 2.54402
1,400405 %  1,923=03 #4,316=-03 7,920=03 1,219-02 1,600-02
1,600+08 * 1,289=03 2.892~03 5,314=03 6,163=03 1,071=02
1,800+05 % 1.391+403 1.159+03 9.215+02 6,911+02 4.380+03 °
2,00u+05 * 2,184+03 1,0603+u3 1,434403 1,075+403 7.594+02
2,200+05 * 2,324+403 1,93A+403 1,540+03 1,153403 8.1544+)2
2,600+0% % Z2,433+03 2,U27+u3 1,612+03 1,209+403 £,.537+02
3,000405 * 2,384+03 1,987403 1,580+403 1,185+03 R,366+02
4,000+05 *  2.,092+403 1,7504u3 1,3721+403 1,043403 7.368+02
500001'05 * 1-813+03 Iosr:ﬁ:ﬁf 110201-“}"0-3 9.0101’02 6.363"’02 -
74500405 *  1,192+03 9,930+402 7,795+402 5,921+402 4,181+02
1,000406 * 7.724+02 H,437+402 5,118+02 3,830+402 2.710+02



K$10904-2

TABLE 1IT
ABSORPTION COEFFICIENTS OF
- - A JOTAL . PRESSURE ~ 780 ATM

WAVE * TEMPERATURES

HOS, * 3,000¥4 0,000 T 0,000 7

(m=1 ¥ ch”
a3 ok ok ok o o Kok ok ke ok sk o ok ool sk ook T ok s ok ol ok o ook i ok ok ROKCIOR RO DK S SRR Rk ok

¥ A(TOTAL) A{TOTAL) A(TOTAL)

1.,000+83 = 1.919+04 0,000 g,oon -
1.500403 % &, 416+03 0,000 0,000
2.,000+03 x #,671+03 0,000 ~0,00n
4,.000+03 * 1,108+03 0.000 g,000
6.,000+0% %, 4,183+402 0,000 0,000
H.G00403 *  2,150+02 2,000 0,000
1,000+00 % 1,293+02 0,000 0,000
1,500404 % 5,0884n1 0,000 g,000
2.,000+04 x 2,5454+01 0,000 0,000
S.25U+00 % 1,892+401 0,700 g,00n
2.500+04 * 1,439+01 0,700 0,00n
2.,750+04 % |.116+01 0,000 0,000
3,000+04 x &,B83+Nn0 0,000 0,00n
3.,250+048 ¢ 7,291400 0,900 0,000
3.50u+04 + A,022+00 0,000 n,00n
3,750+080 ¥ 4 ,.9834+00 0,900 D,0NnNn
4,000+4048 % 3,995+00 0,000 o,00n
+,500+04% «  2,110400 0,000 0,00n
5,009+08 ¥ 1,093+402 0,000 g,oan
5000404 ¢ H,6N2=-N1 0,000 g,o0n
0,00%+08 * 2,920~-01 3,000 0,00n
2.B00+0 *  1,793-01 (,000 0,000
7.000+004 % 1,437=-01 0,000 0.00n
7.,250+08 % 1,297-01 08,700 0,00n
7,500+08 « 1,175-N1 0,000 g,.qon
7,750404 * 1,063=01 0,000 o,00n
3,000+408 ¥ 9,729-092 0,MQ0 n,o000
8.2504048 % 3,886~02 0.000 0,00n
5,300+04 *x #,136-12 0,000 g,o000
2, 750+08 * 7,%67-02 0,700 0,00n
9,000+08 * o,870=02 0,700 0,0nn
9,250+00 *  b6,334=02 0,N00 0,000
9.300""0“’ * 5.552"‘02 D.nUO 0.0Uﬁ
G, 7590408 *  H,417=07 0,000 0,000
1,090+408 x  5,023=02 1,700 g,o0n
1,200+4085 ¥ 2,948-02 3,N00 0,000
1.,400+08 *  1.3843=N12 0,000 n.,oop
1.600+9% x  1,233=-N2 0,060 p.,0an
1.800+405 «  3,275+02 {.900 p,0a0
2,007+405 x  H»H,087+N2 7,000 0,000
2.200+0% % 5,473+G2 0,700 c.00nN
2.,600+405 ¥ 5,730+402 9,000 0,00r
3,000+405 % 5.,615+02 0,000 1,000
4,000+05 % 4,305%+02 0,000 g,000
5,0004+08 %~ 4.271+02 0,700 0,00n
7.500+08 . 2,817+02 1,100 0,000
1.000+06 % 1,319+N2 9,n00 o,o0r

NEON

>

(DEG KJ

o, oun"" "y, U0

A(TOTAL)
0,000
0,000
8,000
0.000
. 00N
0,000
0,00N
N.000
n,oon
n.00N
0.000
f.000
0.000
0,000
t.000
0.000
n.oan
n,0an
n,0on
n,000N
0.000
0.000
n.oon___
n,aon
n,00n
n.pon
0,000
n,oan
n,gon
n,gon
n.00n
f.000
t.00N
n,o0n
n,a0n
n,o0n
fy,00n
0.,00N
300
N.00N
n.,oon
n,oaQn
n,o0on
N.000
n,qon
n,000
n.00N

A{TOTAL)
0,000
0,000
0,000
0,000
0,000
0,000
0,000
0,000
0,000
0,000
0,000
0.000
0,000
U.Uoﬂ
n,000
0,000
n.oon
n,000
0,000
0,000
n,o0n
0,000
0,000
0,000
n.00nN
n,00n
0,000
0,000
0,000
0,000
n,000
n,00n
0,000
0,000
n,ooo
n,non "
n,o0n
n,000
0.00n
n,oon
n.onn
n,o0n
U.DUH
n,o0n
0,000
n,.00n
0,000
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WAVE
NQS ¢
w1t

*

Tk

*

ABSORPTION

AT

. TABLE. ¥IL
COEFFICIENTS OF NEON
TQTAL PRESSURFE = 1000 ATM

TEMPERATUPES

(DEG K}

1, 00003 2,000+03 &, ong+03 B,000+03

8,000+03

cM

e . A ROk AR A AR I ok AR HOK S o AR ok K ok KoK K R AR o K ok R Oh Rk K A K ok

1,00u+03
1.500+03

T Z.00u+03

4,000+03
6,00U+03
8,0004#03
l.0gu+04
1,500+04
"2,000+04
2,25u+00
2,50u+04
2075U+0“
3,00u+04
D, 25u+04
J.50u+04
3. 75U+04
4,0p0+04
4.5%0u+04
5,00u+048
5,5038+04
6.,.000+04
6.560+04
T.,0004+04
7.250+04
7.500+04
7.754+04
8,004+04
B.250+04
8,500+04
B,750+04
9,0u00+04
Q,o05d4+04
9,.500+04
9,75u+04
1.00u+05%
1,zu0+05
1.400+05%
1,60p0+99
1,80U+05%
2,00u+05
2,z00+0%
2,600+05
3,60u+05
4,000+405
5.00u+05%
T .50Jd+05
1.000406

L S A R R N K B K N B B CEE I N A AR IR B K A R N AR N AR N R N N R R N K B

A(TOTAL)
0.000
0.0400
0.000
0.003
0.0u6
0,000
G,000
0.000
0.00n
0,000
0.000
U.000
0,000
0.000
(VPREIVEY
G.000
0.00cC
0,000
0,000
Vo000
OQOUU
U040
0.00¢c
J.0u1,
(PRI
J.0dp
G.000
U000
UODUU
U000
deddd
U'UJC‘
Q.U00
d,dagp
Je.000
U.099
J.,0430
Ueluns
H.031+04
D.272+04
64 TIgFult
7+050+04
&4 QUG+ 04
b.085+04
50255+U4
3o 453404
2adSHtLG

ACTOTAL)

0,000 "7

0.000
0,000
0,000
0,000
0.00n
0,000
0,300
0.000
0,000
0,000
0,00r
0,000
0.000
O,u0n
0,009
O,000
0,00n
N,007
0,u0n
0,000
0,900
g.300
0.000
0,000
04000
0.000
J.,000
0,000
0.o00n
0,udn
0.000
0.0089
O,ugn
0.,u0n
D.800
0.400
D000
2-015+J4
S9136+ul
3,56 7+ult
3.325+U4
3.a584u4
3c042+Qﬂ
26270k

ln[27+du_

1-11q+0“

76

CA(TOTAL) A(TOTAL) A(TOTAL)
T.067=09 2,360=~05 2.861«03
B uu7—10 1,401=05 1.783=03
4,403=10 1,022=05 1,260=03
1,559=10 3,940-06 5,083=04
"7.64?311 "2, 064=06 2.773=04
4,360=11 1,235~06 1.717-04
So736=11 7,992=07 1.143«04"
1,073=11 & “§9§f97 4,945=05
5.181=12 1,610=07 2.4B85«05
3,727-12 1,170-07 1.824-05
SeTA=12 B.6a7-08 1.361=05
Le0ES=12 6,477=08 1.030~05
L.5Bh2=12 4,897=08 7.875-06
1.180~12 3,727-08_ 6.082~06
9,005=13 £2,847=~08 4,738=(00
D883m13 2,177=08 3,.,726=06 _
5.25R=13 1,664=08 2,95U4~=06
3,037=13 9,622=-09 1,688~(0b6
L.,719=13 5H,436=09 9,450=07
9,451=14 2,999=09 S5,173=07 __._
5.,301=-14 1,683=09 2.885«07
3.,489=14 1,109=-09 1,890=07
2.986=14 9,494«=10 1.511=07
£.785=14 8,8%56-10 1,500=07
2.603=14 8,280~10 1.300~07
2H30=14 7,75%9=10 1,309=07
2.239=14 7.285=10 1,227=07
celB53I=18 H,854=10 1,153~07
2'029-14 b.uﬁﬂ-lo 1-085-07
1,91%=14 n,099«153 1,023%=07
L1,811=14 5,7A8=10 <, 6H4=08
L,715=114 b, UBR3=10 2,142«08
L.62A=14 5H,121=10 #&,662=08
lcquq-lu Q.galnlﬂ n'218“08
L, 4pB=~14 4,Hp80=10 7,808=-N8
N21=104 3,260=10 5,405=08
7.513=15 2,402=10 3,9955~08
D,759=15 1,843=-10 3,034=08 _
1.,008404 ©n,718+23 S%.03%8+03
L.568+04 1,045+04 7,8394+03
1,680404 1,12240L <, %.8403
1.,763+00 1-175+04 84017403
L,7274040 1,151+34 R,6364+03
1,521408  1,014404 7,606403 _
1.3148404 8,758+03 6.5A8+03
Leny33+(T  H,755403 4, 2174+03
H.5%6+03  3,7214+0% 2 .798+03



K910904.-2

Taple OIT
ABSORPTIVON COEFFICIENTS OF NEON ;
Al TOTAL PRESSURE = 1000 ATM
WAVE  * TEMPERATURES (DEG K)
" N0S., % 1,000+04  1.,50G0+0%  1,G00+04 T1,600+400 1 ,800+0%
CM"l X CM -1

*********‘k*****\k*****************************************t**

) * A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)
i.,000%03 % 4,845«n2 6,351~-01 8,592+00 7,440+01  4,0u5+n2
1.500403 * 2,872-02 3,101=-01 3,808+00 3,279+01 1,778402
2,000+03 * 1,974-03 " 1.847~ni "2,126400 1,830+D1° 9,900+n1
4,000+403 % 7,872~03 5,h42~02 4,748«01 3,375+00 2,131+401
6,00040% * 4,374=03 2,925=02 2,128-01 1.712+00° 8,970+00
8,000+0% % 2,770-03 1,924=02 1,225=-01 9,527=01 4,906+00
1,000+04 % 1,889-N3 1,°749-02 8,090~02 6,097-01 3,082+00
1.500404 % 8,661=04 £,303=-n3 4,239=-02 2,769-01 1,337+00
2,000+404 % {,610=N4 3,755«03 2,656=02 1.,7R5=N1 8,328=01
2.250404 % 3,495=04 3,051-03 2,239=02 1.453~-01 6,550~-01
2,500408 x 2,707=04 2,547-03 1,937=02 1.224-01 5,332=01
2,750+404 %« 2,139-04 2,178=03 1,710=02 1,053=01 4,471=0]
3,000+04 * 1,723=04 1,902-03 1,534=02 9,211-~02 3,81n=N)
3.2504¢04 % 1.416=04 1,693=N3 1,392«02 R,150«02 3,286~01
3.,500400 % 1,1R7=-04 1,531=N3 1,275=02 7.271=02 2,850=01
3,750400 % 1,016=04 1,803=03 1,174=02 6,522=02 2,501=N1
4,000+04 * _B.814=05 1,785=n3 1,073=02 &.80R=N2 2,175=N1
+4,500+08 * 4,8%6~05 £,777=-04 §,566=0% 3.009=07 1,131=0N1
5.,000408 * 2,614~05 3,529«04 2, 849«03 1,536=N12 5,7R0=N2
5,50040 ¥  1,333=05 1,%11=04 1 437~03 7,.722=-03% 2,915=-Nn2
0.,000+408 % 7,543=06 9,%25=015 7,427~04 *,980~03 1,503=02
5.500+08 * 4,829-06 5,%18-N5 4 534=04 2,422-03 9,155=-03
7.000+04% ¥ 4,034=0& H#,R07=-05 3,621=04 1,924=03 7,204-03
7.250+0% % 3,721-08 4§,375=05 3,267=04 1,732-03 A,574~03
7.5300+00 # 3,442-03 3,995=05 2 .959-04 1,56%5=~03 §,936~N3
7.790404 %  3,193-=05 3,561-0% 2,680-04 1,419-0% 5,376-=Nn3
£,000+08 % 2,370=N6  3,%64~05 2, 451=04 1,29n=03 4,889-n3
Le2D040% ¥ 2,769~06 3,100-05 2,241=04 1,176=-N3 4,459-03
3,500+408 % 2,5B8=0n 2,R865=N5 2,054~-04 1,075=n3 &,077=03
1,750+04 % 2, 424%=06 2,654=05 1,88R=04 9,860=04 3,738=N3
3,000404 % 2,275-06 2,465=N15 1,740=00 9,061=-04 3, 435=0n3
$,250+00 * 2,139-06 2,7°94=05 1,607=04 A,346=08 3,164=-03
9,500+04 * 2,015=16 2,139-05 1,487-04 7,705=01 2,921=03
$,.750408 % 1,301-06 1,799~05 1, 370=04 7,128=04 2,702-03
1.,000+08 % 1,797=-06 1,R%72=05 1,282=04 A607=00 2,50%5=-03
1.200408 *  1,201=0n 1,171=95 7,580N=0% 3,825-N4 1,45n=n3%
1.400+05 % 8,588=07 7,936-06 4 ,880=05 2,409-04 9,1308-04
Le600+05 % oL tHi4=D? §,8097=n6 3 ,341=05 1,618=04 6,121=N4
1.800405 %  4,330+03  3,357+403 2,871+03 2,493+4n3 2,173+403
2,000+0% ¥  B5,271403  5,224+03 4 467+03 3,880+N3  3,381+03
2o200+0% % B,734+73  5,500+403 4, 79740% U4 16R+0F 3,631+03
2.600+05 % 7,0R0+13 5,872+403 5,022+03 4,361+0%  3,801+03
3.000+05 ¥ £,900+03  5,755403  4,922+03% 1#,27440%  3,725+403
4,00U4+05 * 1, 084405 5,N684N3 4,334403 3I,764+40% 3,280+N03
S.000+0K %  5,255+03  4,%77+403 3,743+0%  3,251403  2,8B334N3
7500408 *  J,455¢N3 2,%764035 2 460+03 2.13A+NT  1,862+403
1.000+40A % 2,238¢N3  1,8p4+N3  1,595+03 1,38%+0% 1,207+403

17
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ABRSORPTION

TApLe 3IT

COFFFICTENTS OF HNEON

wAVE
TTTRESY T
m~1

*

AT TOTAL PRESSURE =

TEHPERATURES (DEG K}

1000 ATM

* TZ.000+404 T F,200F0T

*

Z.G00+F0G  Z,600+08  2,800+00%

o 3 ok o e o o 3 3 3 o K ok s s R k3K ke ok o Bk o s e 3 6 o R R S ok 3 S ke ok ke e o R N R R K

1,000+403
1.500+03
"2,0D0+037
b,000+03
6.000+03
8.000+03
1,00U+0H
1.500+04
Z.000+0%
2,250+04
2.500+04
2.750+04
3.,000+04
3,250+04
J.500+048
J.750+04
4,.050+04
4,500+04
S.00u+04
S.huu+0y
6,0p0+04
6,50J+04
7.000+04
T.250+04
7.56U+04
T.75u+04
8,000+404
8,254+ 0Y4
8,%0u+04
8,753+04
S,Cou+0y
9,e50+04
9.50u+04
9,75u+04
1,0060+05
1.200+05%
1,4060+05
l.6pu+0S
1,600+05
2,000+05
2¢EUU+05
2,6p0+05
3,000+0G5
4,0p0+405
5.000+05
T.50U+05
1.0pu+06

¥ OF R R H G X RN KK R KPR RN RN K NN E KR FE NN KR K F KKK F K E KRN R

A{TOTAL)
1,527+03
6,701402
3.724402
B8.,0L9+01
50297+ﬂl
1,781401
11103+01
44623400
Z+5049+00
e 134+U0
1.716+00
1.392+00
1.,160+00
9.796-U1
80346-01
70151*01
b.Ugg—Ul
J.183-01
1. 0.54-01
B,245=12
40257-02
2.59“-02
20005-32
10863‘02
1.685-02
1.500=02
1,392=02
1:2?0-02
l.160=02
l1edBZ=y2
9'77Q-63
00999'“3
8,506~03
70655'03
7.123=03
4.1&&-J3
5'597-03
1074;-53
1,872+03
2,913+43
3.128+03
$4275+u3
J|209+03
2e826403
2.4l 1+03
l,004+03
1,040+03

A{1OTALY A(TOTAL)Y A(TOTAL) A(TOTAL)
B.3174+43 9,503+03F "1,67B+404 2, 444+04
1.,93+03 4,164+03 7,351403 1,071+04
1,051F03 T 310F03° #,077+03 5,939+
2.&23+U2 5.215+02 9,392+4+02 1394403
9,172+01 2,011402 3,554+02 5.197+02
4,903+u1l 1,062402 1,8%R8+02 2,698402
3.,006+01 bH.4604+01 1,126+402 1.632+402
1.22R401 c. 584401 4,440401 6,379401
6411400 I.321+01° 2,238+401 " 3.189+01
5,082+00 9,986+400 1,675+01 2.36%9+01
e217+00 8,078+00 1,287401 1.806+01
3.4254+U0 10,675+00 1,085+01 1,412401
2.784+U0 HL470400 &,700+00 1.160401
24307400 4.439+00 7,170+00 9,572+00
1.931+00 3.6544+00 5,8N4+400 7.910+00
len2h+00 3,032+00 4,746400 6,383+400
1.56u+00 2.509+00 3.884+00 5.158+00
7elbl=31 1,313%400 2,047+00 2,726400
3,07%=01 6,.,5083=-01 1,060+00 1,0415+400
108bﬂ'U1 3-452-01 b.3R4-01 70205"01
90023"02 11789-01 2.7°6-01 1,750-01
5.879=y2 1,093=-01 1,711=01 2,299=01
b.677=02 d,714~02 1,366=01 1.838~01
4,21%=02 7,8%6=02 1,232=-01 1.659=-01
3,811=02 17,106=-02 1,115=-01 1,502=01
3.488=u2 E,.u447~32 1,012=01 1,364=01
3,151=u2 ES,.,8&7~02 9,212=02 1,242-0%
2e878=y2  5,353-02 8,409~92 1,134=01
2403602 §,20%-32 7,6G5-02 1,038«01
2.421=uz YH,504=92 7T,059=02 9,%22-02
2!&25-U2 41147-02 6-490'02 R.757—02
2,0847=y2 0,829=02 5,990-02 *£,071=02
1-087-U2 3;5”0'02 5.5“2-02 7.“54-02
le74€=uz 2,277=u2 5,137=02 #.899=02
lyol8=g2 3,032-02 4,771=-02 ¢&.410-02
2.36N=0% 1,750-02 <2,755=02 2,727=02
5,095=03 1,101=-02 1,733=02 2.343=02
3.551=03 7.382-03 1.,161=02 1.,568-02
Leod75+03 1,270+403 9,729+402 7,.05%+402
24451403 1,977+23 1,514403 1.0728+403
24031403 2,122403 1,625+03 1.179+03
2.755+U3 2,222+33 1,702+03 1,234+403
2700493 2,1774+07 1,6A8+03 1,239+03
26577403 1,912+403  1,469403 1,06%+03
2,053+03 1,656+03 1,23+493 7,196+02
Le349+03  1,088+403 0,33%+32 6,045+402
Be 74h+y2  1,055402 5,403+02 F,91%+02
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K910904~2

TABLE MIT
ABSORKPTION COLFFICIENTS OF NEON
AT TOTAL PRESSURE = 1000 ATM

WAVE * TEMPERATURES  (DEG K)

NOS,  # 3,000404 0,000 O, OUA T T GO0 T T WL, 0007 T T

cm=1  * em -1
sk 3 o 3 3 s ke 3 o ke ok S ok o K ok e ok ok ok S ak 3 ok o e ok e Sk ko ok ook ok ok ok KO KRR WRF F IR R E A K ¥

* A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL) A(TOTAL)

1,000403 x  3,040+04% 0,000 g,o00n - f.000 0,000
1.500+03 * 1,332404 0.700 0,000 0.000 n.oeco
2.000+0% % 7.391403 0.,000°° - 0,000 " "Tn0,000 -~ 0,000
4,000+0% x  1,748+03 9,000 0,000 N.000 0,000
5.,000+403 % £.581+02 0.700 0,000 D.000 n,000
8,000+0% % 3,371+02 0,000 0,000 N.000 0.000
1.000+04 * 2,031+02 0,000 g,000 n.oon n,000
1.500400 % 7.8028+N01 0,N00 0,000 n.00n0 n,000
2,000408 »  3,925401 0.N0D 0,000 n,000 n,000
2.,290+00 +  2,907+%1 0,000 0,000 n,oon 0,000
2,500+08 % 2,205+01 0,000 0,000 n,00n 0,000
2,750+04 « 1,705+01 0,000 0,000 0,300 0,000
J,000400 %=  1,3544n1 0,000 0,00n n,non 0,000
3,250400 % 1,109+01 0,N00 g,00n N.00N 0,000
3.300+034 % 3,152+00 0,000 0,00n n.000 0,000
3,750+04 x  7,566+4N3 3,000 0,p0rn 0,000 0,000
4,0004n8 * A#,083+N0  1,N00 0,00n n,oon 0,000
4,500+04 * 5,195+00 0,000 0,00n n.00N 0,00n
5,330+04 «  1,062400 0,000 0.000 n,000 0,000
5,500+04 % B8,%34-01 2,700 0,000 n.oon n,00n
5,000+ % 4,422-01 0,N00 0,000 N,00nN 0.00N
H.500404 * 2,716«01 0,000 g,00n n.,oon 0,000
7.,000+04% *  2,175-01 0,000 0,000 0,000 0.00n
7.250+04 %  1,%3A4=01 0,700 0,000 1,000 0,000
7.500+04 % 1,780-01 0,700 0,000 n.ooe 0.000
7.750404 % 1,617-01 0,000 0,000 N.000 n,00n
5,000+404 * 1,473=01 0,700 0,000 n.00nN 0.000
d,250408 ¥ 1,345-01 0,000 g.00r n,o00n n.00n
6;530"'0’-‘- ¥ 1.2"‘2-91 OOQDO U,DUQ noUUU U'UUU
3,750+00 % 1,130=-01 0,000 g,00n n.oon 0,000
9,000+G4 * 1,040-N1 0,700 0,007 n,00nNn n.00n
9,250+04 * 9,588-02 0,700 0,000 N.000 n,00nN
9,500+04 * B8,857-02 0."00 0,000 0,000 0.00n
9,750+04 ¥ B8,L98-02 0,"00 0,000 0,000 fi,000
1.,000+08 * 7.602-02 0,000 0,000 n,oao 0.000
1,200+0% * 4,464-n2 0,000 0,000 n.00N n,00n
1.400+05 * 2,789-02 0,000 0,000 n,oon n,.o0n
1,000+95 % 1,866=-02 03,000 0,00n n.non n,o00n
1,800405 % 4,382+02 0,100 a,.00n n.nan 0.00n0
2,000+40% % 7,597+02 0,000 0,000 n.ogn 0,000
2.,200+05 % 8H,1%8+02 0,000 0.00n n.000 0,000
2,600+05 % LS41402  0,N00 n,o0p n.00n n,00n
3.000+05 ¥  8,370+02 0,700 0,000 n,non 0D,00n
H.,000+40% ¥ 7.371+02 N,N00 q,00n 0.00n0 n,oan
5.000+05 % 65,366+02 0,000 0,000 f.000 n,00n
7.500+05 % 4,1R4+02 (0,000 8,000 n,p0n f,00n
1,000+0A % 2,712+02 0,700 0,000 0.0N00 6,00n
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K910904-2 FIG 2
PARTIAL PRESSURE DISTRIBUTION FOR HELIUM AS A FUNCTION
OF TEMPERATURE AT VARIOUS TOTAL PRESSURES
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FIG. 3

K910904-2
PARTIAL PRESSURE DISTRIBUTION FOR NEON AS A FUNCTION
0OF TEMPERATURE AT VARIOUS TOTAL PRESSURES
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K910904--2 FIG. 4
SPECTRAL ABSORPTION COEFFICIENT OF HELIUM AT VARIOUS TEMPERATURES
AT A TOTAL PRESSURE OF 750 ATM
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K910904-2 FIG 5

SPECTRAL ABSORPTION COEFFICIENT OF NEON AT VARIOUS TEMPERATURES
AT A TOTAL PRESSURE OF 750 ATM
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K910904-2 FIG 6
COMPOSITION OF A NEON, NITRIC OXIDE, OXYGEN MIXTURE

AS A FUNCTION OF TEMPERATURE
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K910904~2
SPECTRAL ABSORPTION COEFFICIENT OF NITRIC OXIDE — OXYGEN SEED MIXTURE
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